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Congratulations on your purchase of this programmable scientific calculator.

The extra-thin, pocketbook-sized electronic calculator with an alphanumeric display is
capable of performing ordinary step-by-step and programmed calculations, computing
values of 50 different functions. This unit has a variable range of the input capacity from
32 program steps with 88 independent memories to 512 steps with 22 memories. These
combinations can be selected optionally to execute an effective programming.

The FA-1 adaptor, an optional accessory, allows the connection of a cassette tape
recorder to the calculator for the storage of programs and contents of the memories in
cassette tapes for later reloading.

CONTENTS

Before Usingthe Calculator . . .. ....vvvvvvrunnnnnnnnnnnnnnnanaas |

Precautions
Battery Maintenance
FA-1 Adaptor

Part 1 Step-by-Step Calculation ............... ... i, 2

1-1. Function and Key Index for Step-by-Step Calculation ........ e e e 2
1-2. GettingStarted . . ... ... ...t e e e 9
Calculation Priority and Levels of Parentheses
Correction

Overflow or Error
Auto Power-Off Function

1-3. Basic Calculations . ... .. e e B K
Addition, Subtraction, Multiplication and Division
Parenthesis Calculations
Constant Calculations
Memory Calculations
1-4. FunctionCalculations . . ... ... . c it iii it ttnneeeenneenaneennns 15
Trigonometric Functions, Inverse Trigonometric Functions, Logarithmic
Functions, Exponential Functions, Hyperbolic Functions, Inverse Hyper-
bolic Functions, Miscellaneous Functions (Square Root, Square, Recipro-
cal, Factorial, Random Number, Number of Significant Digits, Absolute
Value, Integer Part, Decimal Part), Conversion of Coordinates and Percent.

1-5. Calculation of Standard Deviation ............ ...t eennns Lo 21
1-6. The “ALPHA’ mode in Manual Operation . . . ... ......... e 23

"} ;%‘3

?J’* “ 21 ?
s 3&&1‘ ﬁaﬂz«%‘%&ﬁm@m%w .

*Speczai care should be taken not to damm the timt by h&ndmg or circppmg
For ‘example, do not carry it in your hip pocket.

Part 2 Programmed Calculation ..... e e 25
2-1. Function and Key Index for Programmed Calculatlon ................. 25
2-2. Program Step and Common Display . ............... . ... ..0...... 29
2-3. BasicProgramming . ... ... ... ... .. e 30
Analysis, Programming, Program Writing and Execution
2-4. Program Checking . . ... ... ... it i e e e 33
Checking, Addition, Deletion and Correction
Debugging
25, Program Clearing . . . . . .ot ittt i e e e e 37

Program Clearing
Program No. Changing

2-6. Programming Examples . .. ... ... ... . ... . ... ... 37

2-7. Remarks for Programming and Operation . ........................ 39
2-8. Alphabetical Comment Display Program . . ........................ 40
Execution of Alphabetical Comments
Applications of Alphabetical Comments
2-9. PassWord. . . ... it e e e e e e e e e a4
2-10. Flow Chart . . . ..ot e e e e e e e e e 46
2-17. Program JUmpPing . . . ...t e e e e e e e e e e e e e 47
Unconditional Jump, Conditional Jump, Count Jump and Subroutine
2-12. Use of Indirect Addressing . ... ... ... ... ...t iiiinninnnnnn. 55
Indirect Addressing of Mp-register, Indirect Subroutine, Indirect Jump and
Indirect Count Jump
2-13. Elementary Programming . . . .. ... ... ...ttt ittt et 57

X 2 F, IND, DSZ, PAUSE, and Decimal-Hexadecimal Conversion
2-14. Roundingof Data . .. ...... .ttt 62
To purchasers of the FA-1 tape recorder adaptor: R ..
Specifications . .. ..... ... ... 66



Before Using the Calculator

The calculator has undergone very rigorous quality control and inspection. Please take note of the
following points to ensure long trouble-free service from your calculator.

mPrecautions

® The calculator is composed of delicate electronic parts. Never disassemble it. Do not expose it to
shocks nor drastic temperature changes. Avoid leaving or storing it in hot, humid or dusty places.
When used in very low temperature, the display may function slowly or remain dark. However, it
will recover as soon as the ambient temperature returns to normal.

e Do not plug in any device into the adaptor jack other than the optionally available adaptor.

e When the calculator displays the ““—' sign in the midst of an operation, it means that all except a
minor number of keys have been rendered ineffective. Thus, always make it a rule to visually check
the display before pressing a key.

e Make it a point to replace the batteries on an annual basis even if the calculator has been in disuse.
Under any circumstances, never leave discharged batteries in the calculator as they may leak and
damage the calculator.

e To clean the calculator, wipe it with a soft, dry cloth or with a piece of cloth soaked in mild
detergent and wrung tight.

® For servicing contact your retailer or nearby dealer.

mBattery Maintenance

The calculator is powered by two lithium batteries (Type:
CR-2032)

When the batteries wear down, the figures in the display will
turn dim. In such a case, replace the batteries with fresh ones as
shown in the illustration below. Always change the batteries on a
yearly basis even though the calculator may be functioning
properly.

®Replacing the Batteries

(1) Turn the power switch off. Remove the battery compart-
ment cover on the back of the unit by loosening the screw

with a screwdriver.

(2) Remove the two old batteries. oeen
(They can be easily removed by facing the battery compart- b
ment downward and lightly tapping on the calculator case.) | @

(3) Wipe the surface of the new batteries with a dry cloth as any
contamination of the batteries with dirt or powdery
substance could cause poor electrical contact. Install them
with the positive electrodes facing upward. F

(4) Replace the battery compartment cover by sliding it in while |
pressing it against the batteries. Screw carefully. ( d

* Keep the batteries away from children. If swallowed consult
your doctor immediately. i
Note: After replacing the batteries, always check the status of
the memory and program contents.

sFA-1 Adaptor (Optional Accessory)

The program and memory data can be stored on a cassette tape and reloaded back into the calculator
when needed.

For this purpose, prepare the FA-1 Adaptor (optional accessory) and a cassette tape recorder. Almost
any type of currently available cassette tape recorder will serve the purpose if it is provided with MIC
(microphone) and EAR (earphone) or MONITOR jacks normally found on radio-cassette tape recorder
units. With this system, you will be able to input musical notes and its duration to the radio-cassette
tape recorder and listen to music synthesized and recorded by the calculator.

For further details, refer to the instruction manual of the FA-1 Adaptor.
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Part 1 describes step-by-step calculation exclusively. (Refer to Part 2 for programmed calculation.)
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® Register Structure

L,,-register

X-register (Display)

® Used for arithmetic operations and functional calculation. (Symbols
and alphanumeric characters are effective only in the X-register.)

® Used for chain calculation of parenthetic expressions, giving automatic
priority to multiplication/division over addition/subtraction.

M 00-register

M 20-register

M 30-register

M 70-register

® |ndependent memories

Minimum: 22 memories, Maximum: 88 memories (M 00 to M79, MF,M 1F

to M7F) (M0O7, M08 and M 09 are also used for accumulation of numbers

from £x?, £x, and n in calculating standard deviation.)

* For purposes of this instruction manual, the independent memories will generally be referred to as

""Mp-register”’.

<ON

power Power Switch

Slide the power switch to the left to turn on the power. The information stored in the M-registers is
saved even when the calculator is turned off.

Display
Modes Units of angle  Alphabetic Mode
\/ \/ A\
| 1 e K LT RUN WRT Pl DEG RAD aRA ALPHA
- Sl By M L0l H -
i § PR B i - ..= 33

\ /\_J

Mantissa Exponent of 10

The display shows input data, intermediate results, and results of operation. The mantissa section,
using dot matrix, displays up to 10 digits (9 for negative numbers). The figure O is displayed as " {# ",
The exponent section displays up to +99, and is left blank when the exponent figure is not needed.
Also, the mantissa section will display up to 11 characters of sexagesimal data, alphabetical characters
and symbols as shown below.

® Sexagesimal data display:

o Alphabetical character display showing upper case:

case:




W) : Inverse Function Key

To execute a function command or a function marked by a brown symbol on the keyboard, or to
display the lower case alphabetical characters or symbols enclosed on three sides with a brown mark
"L, press W and the respective function key.

Press the W) key and the display reads “INV''. Re-press it to clear the inverse function (“INV’’ sign
disappears), automatically resetting the previous mode.

@#ost) : Mode/Alpha Mode Selection Key
o Use the Moog) key together with a numeric key of () to B and the () key to select a specific mode of
operation or a unit of angle.
Mo (1) The display reads “RUN’. The calculator is ready for step-by-step and programmed
operation.
@08 (@) Reads "WRT". Ready for writing in and checking program.
08 (3) Reads “PCL"". Ready for erasing programs.
* Refer to Part 2 for the WRT and PCL modes.
Mg (@) Reads “DEG"". Units of angle given in degrees.
M8 (5) Reads "RAD". Units of angle given in radians.
Mog(E) Reads “GRA". Units of angle given in gradients.
(Note: 90 degrees = /2 radians = 100 gradients)
*When the power switch is turned on, the calculator will automatically be in the RUN and DEG
modes. A unit of angle can be selected only in the RUN mode.
eMwd(-)(J(: For selecting memories available for use.

A Numerical values from 20 to 80 (Will not function if other numerical values are used.)
For example, if @8(D@®E) is keyed in, [MO0O—24,F—IF472 | will be displayed, making it

possible to use memories M 00 to M 24 and MF and M1F, or a total of 27 memories. (472
indicates the program steps available in this case. Refer to Part 2 for details.)
omoE)(-]) (] : Press these keys to find the number of memories available. The number will be shown in
the display.
® Wy © The display will show “ALPHA" to indicate that the calculator is in the ALPHA mode (for
inputting alphabetical characters). This mode can be used to display numerics and the four
arithmetic operation command codes as weli as alphabetical characters and symbols shown

ALPHA **

in green below the respective keys. (Calculations can not be performed.) If the W g are

pressed while the calculator is in the ALPHA mode, it will clear the “ALPHA" from the,

display, placing the calculator back in the normal operating mode.

M through(8), [©), (J: Numeric and Decimal Point Keys

® Input numbers by pressing the applicable keys in sequence, just as though you were writing them
down (starting from the most significant digit). The decimal point must be keyed in if it is part of
the number.

*Since the mantissa has a maximum capacity of 10 visible digits (9 digits in the case of negatlve
numbers),-the display will not show any dlglts overflowing this capacity.
oWB(J: For Rounding a Number

Numeric values of 1 through 9, and O (0 is used in rounding to ten places).

Set calculator to display the number of places wanted, the additional digit will be
automatically rounded off. For example, if W83 @ is keyed in, the fifth digit will be
rounded off, leaving you with a rounded number to four places.
BEO : Rounding Off Number to Selected Decimal Digits
= Numeric values of 1 through 9, and 0 (No decimal digit for 0.)
Set the calculator to display the number of decimal digits wanted, the number will be
rounded to the specified decimal digits automatically. For example, if WE&EE s
keyed in, the figure will be rounded to two decimal places.

L) : For Generating a Random Number
A random number of 0.000 to 0.999 will be generated.

e :For Calculating the Mean Value (X).
e M (O)& : For Calculating the Square Sum (Zx?). Used in computing the standard de-
oM & :For Calculating the Standard Deviation (0Op). viations for various values. Refer to
e@W@& :For Calculating the Sum (Ex) "’Calculation of Standard Deviation”

) . for details.
o W) &Y : For Calculating the Standard Deviation (0pn-1).

oM@ & :For Obtaining the Number of Data (n).
.5

. Exponent/pi Entry Key

oAfter inputting desired numeric data in the Mantissa, press B9 followed by number keys to specify
the exponent of 10.
Example: 2.56 x 103 — 2 ()56 B934
* The display will show an exponent of 10 of two digits up to £99. If a number greater than a

two-digit exponent of 10 is keyed in, only the last two digits will be displayed.

® Press the key for execution of that function. If it is pressed following W) after a number has been
keyed in, the pi calculation will be shown in the display.

°ED . Press it following a memory key ( (=M, @ ,(R), ), or @3 ) to designate the MF register.
Example 1: Add 25 to the contents of MFregister: 25 ) &
Example 2: To have contents of M1F register displayed: (%) (1)

BB RAAaA: Arithmetic Operation/Equal Keys
® Use these keys to perform arithmetic operations. The sequence of operations is just the same as
ordinary mathematical expressions. Press Bl key to obtain the final result. If one of these keys is
pressed twice in succession, the preceding number will be temporarily memorized as a constant.
(See page 13).
o g : Command for raising numbers to power.
Use to raise x (any number) to ¥ (any number) power.
e (g : Command for extracting root.
Use to obtain the y-th root of x.
e gy : Command of coordinate transformation.
Use to execute rectangular/polar conversions.
® Mg : Command of coordinate transformation.
Use to execute polar/rectangular conversions.
e W&y : Percent command.
Use to find the percentage of a number, net amount of increase or decrease, percentage
difference between two numbers (ratio of increase or decrease) and percent of total.

: All Clear Key

® With the exception of l\/ln -registers (independent memories), use this key to clear all registers
(including the X- and Y-registers, the L-registers for parenthetic expressions; and for clearing the
ALPHA mode.)

e When “‘Error”’, for error check, is displayed, press this key to clear the error message from the
display. (See page 10)

® Press this key to resume power which is automatically turned off by the auto power-off function.
(See page 10)

: Clear Key

Press the key to correct an incorrect value (including exponents and units of angle) or character that
you have keyed in inadvertently, or to clear the results of functions in mixed calculations or the
results of a parenthesis in a parenthesis calculation, immediately following the pressing of the wrong
key. It clears only the displayed data (in the X-register), but the intermediate results will be
maintained.

If you press this key when the calculator displays “’( ) Error’” (overflow of L-register used for solving
parenthetic expressions and mixed calculations), the number that was in the display before the
error-check is returned to the display, allowing you to resume the calculation.

: Sign Change/Absolute Value Key

® Press this key to change the sign of either a negative or a positive nonzero number in the display. It
reverses the sign of the exponent when pressed following@s.

® Use the sequence of (W) and this key to obtain the absolute value of the number in the display.
(For the purposes of this manual, it will be shown as@s. Hereinafter, other multi-function keys
will also be shown in the same manner.)

INT .

(@) : Parenthesis/Integer Key

® Press this key to open parenthesis (nestable up to 33 parentheses at eleven levels).

® Use the sequence of W) and N to round off the decimal part of the number in the display.

.6



FRAC . .

(): Parenthesis/Fraction Key

® Press this key to close parenthesis (nestable up to 33 parentheses at eleven levels).
e Use the sequence of (W and [Rig) to extract decimal part of the number in the display.

@’: Register Data Exchange Key

® Press this key and numeric key or key to exchange the contents of the X-register (number
displayed) and an Mn-register (independent memory).

® Use the sequence of W) and to exchange the contents of the X- and Y-registers (number in the
working register).

[@: Memory In/Square Root Key

® Press this key and numeric key or key to store displayed number in the Mn-register. The
previously stored data will be replaced by the newly input one.

® Use the sequence of Wand () to obtain the square root of the number displayed.

2

: Memory Recall/Square Key

® Press this key and numeric key to display of the Mn-register. This command does not change the
contents of the register.

® Use the sequence of W and &3 to obtain the square of the number displayed.

1

é: Memory Minus/Reciprocal Key

® Press this key and a numeric key to subtract the number displayed from the contents of the
Mn-register. (This key does not.have the function of B).

e Use the sequence of (W) and (A to obtain the reciprocal of the number displayed.

x!

®4 : Memory Plus/Factorial Key

® Press this key and a numeric key to add the number displayed to the contents of the Mn-register.
(This key does not have the function of B).

@ Use the sequence of (W and 1) to obtain the factorial of the number in the display.

|

: Standard Deviation Data Input/Delete Key

® Data input key for standard deviation. ]

e Use the sequence of W and to delete a data which has been input during the calculation of the
standard deviation.

siit ¢od tan . . . . . .

(sin) cog) (tan) : Trigonometric Function/Inverse Trigonometric Function Keys

e Press one of these keys to obtain the value of the corresponding trigonometric function with the
number in the display taken as the argument.

e Use the sequence of (W and one of these keys to obtain the value of the corresponding inverse
trigonometric function.

vy : Hyperbolic Function Key

e Use the sequence of @@ and either of [, or @ key to obtain the value of the corresponding
hyperbolic function with the number in the display taken as the argument.

e Use the sequence of @), i and&@ , or @, @ and &, for example, to obtain the value of sinh™ with
the number displayed taken as the argument.

@ : Engineering Key

This key is used for converting all numbers to be shown with exponents of 10 that are multiples of
three (10® = K (kilo), 10® =M (mega), 10° = G (giga), 107> =m (milli), 107% = u (micro), 10™°=n
(nano), 107'% = p (pico)).

Example 12.3456 | 12.3456 12.3456 12.3456
1st @9 1.23456 01 1st W& 1.23456 01
2nd @9 12.3456 00 2nd W) & 0.0123456 03
3rd @ 12345.6-03 3rd WM& |0.000012345 06—
4th @ 12345600-06 4th W& |0.000000012 09
5th 89| 12345600-06 |(Unchanged) 5th W& | 0.000000012 09 |(Unchanged)

@ | 0.000012345 06
€] 0.0123456 03

As 'iIIustra‘ged abqve, when @9 or (W) &) is pressed first, the displayed number will be converted to its
basic floating point representation (that is, normalized to 10). Subsequent pressing of B or the
sequence of W) and & causes the exponent to decrease or increase in multiples of 3.

(J: Sexagesimal Key (Decimal-to-Sexagesimal Conversion Key)
® Press this keyoto input sexagesimal values such as angles and time.
Example: 78°45'12" - 78345 12

® Use the sequence of W and to convert the decimal representation of angle or time to the
sexagesimal representation.

10% .
(log: Common logarithm/Power-of-10 Key
® Press this key to obtain the common logarithm of the number displayed.

® Use the sequence of W and ™ to obtain the value of 10 raised in power by the number displayed
(i.e. inverse common logarithm).

ex .

(in) : Natural Logarithm/Power-of-eKey

® Press this key to obtain the natural logarithm of the number displayed.

® Use the sequence of W) and to raise e (=2.7182818...)" to the power determined by the
displayed number (i.e. inverse natural logarithm).

MAC

s : Back Step/Memory All Clear Key

® Refer to Part 2 forfsy.

® Use the sequence of W and g to clear all Mn-registers (independent memories).

SAC

(s: Forward Step/Standard Deviation Calculation All Clear Key

® Refer to Part 2 for(1.

® Use the sequence of M and ®Jto clear registers M 07, M 08, and M 09(used to accumulate statistical
data) before beginning calculation of the standard deviation.

* Refer to Part 2 for other keys which are not described yet. They are not needed for step-by-step
calculation.



|1-2. Getting Started

Turn on the power switch before starting operation.
Put it in the RUN mode ( Mg ).
The unit of angle displayed has nothing to do with calculation unless it involves angular arguments.

m Calculation Priority and Levels of Parentheses

® The calculator automatically determines the calculation priority and executes in the order so deter-
mined. The order of execution has been set as follows:

(1) Functions ... ... .

2) x¥ x ‘Where the priorities are the Same, the calculation will be per-
. formed in order of execution. Inexpressions involving parentheses, that

t3; X part of expressions within the parentheses will be given priority,

4) +, — ' ; v v

® Registers L, through L,, can be used to store up to 11 levels of parentheses or low-priority data.
e Up to three opening parentheses can be nested in one level. Up to 33 nests can be performed in
parenthesis calculation.

e Example: 2X(((3+4X((5+4)+3))+5)+9)=

Operation 2 B[OWWIE@4BOO5640)@30)@50)890)8
—/\ 7\

1level 1 level 1 level 1 level ;

Data stored in the L-register up to Point A. x 4
L «wub+
Lo 4 X
Ls «“eu 3+
Ly 2 X
Ls
Le

m Correction

® You can clear input data only before a command key is pressed. Press to clear data and input the
correct one.

e Similarly you can correct intermediate results (e.g. the value of a function or operation with nested
parentheses). Press to clear the wrong result and resume calculation.

® You can correct 8. 0.8. W&, and W &, if pressed inadvertently. Press the correct key
immediately after the wrong one. Note that the priority of operation remains intact.

®m OQverflow or Error

If error is detected during operation, ““Error’” or () Error’” will appear in the display and the calcula-

tor will halt operation.

Error will be detected in the following cases.

(1) When a result or intermediate result (of arithmetic, functional, or standard deviation operation)
or the contents of the My-register has exceeded the range of +9.999999999 x 10°°. (Data stored
in the Mp-register before error-check will be maintained.)

(2)  When an argument of a function has exceeded its predetermined range. (See page 66.)

(3) When an improper operation is attempted in the calculation of standard deviation.

(Ex. Attempting to calculate X or o when n = 0.)

* “Error” will be displayed in these cases. Press to clear the error status and start the calculation
from the beginning.

(4) When the number of levels of nested operation (with parentheses, multiplication, division, XY and

x1/¥)exceeds 1 1, or when the opening parenthesis key is pressed more than 33 times.

(Ex. When the [@ key is pressed 31 times in succession and followed by pressing of 2 38 )

In this case, () Error’” will appear in the display. If is keyed in, the number that was in the

display before the error-check is again returned there, making it possible for you to resume calcu-

lator operation within the prescribed range. Press to clear the error, and return to the first step.

Underflow (a value smaller than =1 x 107°°) is not regarded as error but as 0.

® Auto Power-Off Function

One of the convenient features of this calculator is the automatic power-off function, which auto-
matically turns off the calculator about 6 minutes after the last key operation (except during pro-
grammed calculation). This will prevent the wastage of the battery power. In this case, pressing of the
key or turning the power switch on again will restore power to the calculator. (Contents of the
Mp-register and programs will be maintained even when the power is off.)



m Addition, Subtraction, Multiplication and Division
e The sequence of operation is just the same as ordinary mathematical expressions.

EXAMPLE OPERATION DISPLAY
23+4.5—-53=-255 23@4-58538 - 255
56 X (-12) +(-2.5) = 268.8 56B12@2-5#8 268.8

* To key in a negative number, press the key for the number, then press the key.

12369 X 7532 X 74103 =
6.903680613 10"
(=6903680613000)

12390+ 456 = 2997076023 X 10™*
(=0.0002997076023)

123698753283
7410383

1-23@90@45-683

6.903680613 12

2997076023-04

* The result will be displayed in the floating-point representation if it is larger than 10'° (10 billion)

or smaller than 10-2 (0.01).

(45X107) X (-2.3X10°7) =~0.01035

=-1.035X107?
[

4-5975832-30 78483

(To convert to floating- ™
point number)

-0.01035
- 1.035-02

* The result will be displayed in the fixed-point representation if it is between 10°2 and 10'°. Press
B¢ to convert it to the floating-point number. (See page 8.)

(1X10%) =7 =14285.71429

(1X10%) + 7 —14285=0.7142857

1=5@878
(Subsequently) (3 14285 833

14285.71429
0.7142857

|
* The calculator always computes internally using each number as a 12-digit mantissa. While numbers
rounded off to eleven places will appear in the display, numbers in the register have 12-digit man-

tissa. (For details, see page 62.)

]

® Priority is given to multiplication and division over addition and subtraction in mixed operations.

EXAMPLE OPERATION DISPLAY
3+5X6=233 3@s|ea 33.
7X8—4X5=36 088@4E0358 36.

1+2—3X4+5+6=6.6 @d2a3nsiasaeca 6.6

T

® Parenthesis Calculations

® Up to 11 levels or 33 nests of parenthetic expressions can be calculated. (See page 9.)
® When (@ is keyed in, a parenthetic number and zero will be displayed. With the pressing of (1), the
intermediate result of that level will be shown in the display.

EXAMPLE OPERATION DISPLAY
100—(2+3) xX4=80 10080263303 5.
(Subsequently) B34 83 80.
(2+3) X (4+5) =45 2083084058 45,
* The first (@M , and the preceding the B may be omitted even if they are nested.
10—1{2+7X(3+6) | =-55 10826878368 - 55,
1(2+3)xX4—(5+6)xX3|xX2=| 2E@3DRI4IE
-26 1AL + [0 < KD x A =] - 26.
2X3H _ (3x3+4)+5=2 28384na58 2,
* In the above example, B may be used instead of (1) .
2B -1=02 2838088108 18208 0.2
Sx6+6x8 _ oo [©5E36E36E8MHE
15x4+12x3 & @15834631283308 0.8125
=(5%X6+6X8)+(15X4+12X3)
* The fractional expression should be converted to the primary expression using parentheses.
(1.2X10'%) — 1 (2.5x10?) 1-2919@102-592083
X 1351 =45 10" 3@ioome 45 18
o5 =0.3 4R5@6WHE 0.3

* The above sequence of operation isequivalentto6 B 4B 5MBorc@4@58 .
! 1




= Constant Calculations

® Press an arithmetic operation key twice (or even times) in succession. The number in the display will
then be set as a constant, indicated by ‘K’ in the display. It need not be pressed each time in suc-
ceeding calculations.

® Memory Calculations

® The calculator has a capacity of 22 to 88 data storage registers, which are available for selection in
advance. (For details, see page 5.)

® These registers are made available with the pressing of the x=M , id , MR , #J and keys.

o When the memory key is pressed, the display will show its alphabetical characters and the memory
address sign (indicates a 2-digit numeric value to be input). The display will revert to the prior dis-

EXAMPLE OPERATION DISPLAY play when the memory address has been completed. Yet, the memory address of the F-memory
will be completed by pressing only the key instead of the 2-digit numeric value.
12+23=135 233880128 35. ® The memory address will not be done if other than the specified memory No. is input. In this case,
re-start the operation by pressing the memory key.
45ﬂ= 68 45= 68. ® Since numeric values are stored in the Mn-register as 10-digit mantissa, the display will show 10-
digit tissa during th lculati ing the Mn-register.
(_78)+_2:3: =55 8=a -55. . Clc?rlwtg:\i: cl;sfsath;rrle:‘ggisteiscgrzu:1alionrjtaLilrswlendg evZn i? ‘rfi%lspzrwer is switched off. Press (W) and to clear
all the Mn-registers.
7—_ﬂ= 1.4 S-em@’a 1.4 EXAMPLE OPERATION DISPLAY
29-56=-27 2-98 -2.7
4+9= + 2] = (=) &N 32.
(85X 10°) —5.6 = 8494.4 8-5m38 8494.4 23+9=32 2398
E— . 53—6 =47 53@eBMa1] 47.
2.3X12=1276 12882-38 27.6 —) 45X2=90 458280 90.
(~456) X 12= 5472 4-5678 -54.72 99+3=33 99E380OM 33.
iX|2=75 5585 75 Total 22 @] 22‘
* (Press Md to store data in the Mn-register, this will automatically clear the previously stored data.
- — . Th ist d not be cl din ad 2
789.6=8.125 9-cma7s8 8.125 2na 83 do not have the function of B .
(1.2X10")+9.6=1.25x 10" 1-2915683 1.25 14
45:9.6=4.6875 458 4.6875 THI+T+(2X3)+(2x3) 708 P P P 2 E3 3B P P
SXEX9= 162 s@camoa 162 +(2X3)—(2X3)=33 WM MR 33.
3X6X8=144 t$] = | 144, 7+8+9=24 A e)En + mElE)] + )] = [he)]E) 24.
3X6X(5+6)=198 @6 198. 4+5+6=15 4O0M@E5OEE6MOEBMAI4 15.
3+6+9=18 K{Zm][En] + [FlcR)E)] + kel e) )] = he)]Ey 18.
1(1.1%)%2=3.138428377 1-1EIEIEE (3rd power) 1.331 Tow@l 14 19 28 57 HOm 14,
Bae8a 3.138428377 (Q(@)if=] 19.
mQAE) 24,
= 176836 68.
17+17+17+17 =68 |+ +[=]=]=] WOE 57,
g+8+8+11+11+11=57 | SEIEAEIOERNTVMEEE 57. 7X4X12.3=344.4 Q48 12-3momaE|  344.4
50-36-36-36-36=356  50@E3-6NHEOEE 36.6 ~123X(8+5) =-139.9 WOMEROSE5SDA)| -159.9
(or 3-E@™SO@QAEN) (12.3+6) X9=164.7 [GDE)ER] + [(DA] < ko] = 164.7
4% 2.8 4RO2EB30EE (Divider) 20. 12X (2.3+3.4)—5=63.4 12082303 4DmT@58| 63.4
5663 2.8 30X (2.3+3.4+4.5)—15X 4-5mTHTR30@ 15808 238.5
1
* B B and B B are equivalent ]to ) =) . ﬁ=238'5 For exchanging 4.5 displayed with the contents of the MF register.
|
|
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|1-4. Function Calculations

. ﬁi

® To obtain the value of a function, input an argument and then press the function key.
e Calculation of functions can be mixed with ordinary arithmetic operations nested by parentheses.
e Refer to the specifications, given in page 66, for the accuracy and arguments of functions.

® Trigonometric Functions (sin, cos, tan) and Inverse Trigonometric Functions (sin™",

cos™!, tan™!)

1

= Logarithmic Functions (log, In) and Exponential Functions (10*, ¢*, x”, x'¥)

EXAMPLE | OPERATION DISPLAY
!

log1.23(=l0g 1.23) = 0.089905111 1-230g | 0.089905111
In 90( =10g. 90) = 4.49980967 90(n) 4.49980967
log 456 1n 456 = 0.434294481 456M) @M B | 0.434294481
(logx/Inx = fixed constant)
10" =16.98243652 1-23mw) | 16.98243652
(To obtain the anti-logarithm of log 1.23)
e**=190.0171313 4 -5’ 90.0171313
(To obtain the anti-logarithm of In 4.5)
10 e~ +1.2-1023= 1204 B34 W(c)ED

422.5878667

5,621 = 5258143837

1237 (="/T23) = 1.988647795
42°=32

0.16%°=0.01024
925 =243

1-282-3™WbIe

5-6m52-38

123ms7e

2-5mEmL40

163
98

*xY and X ¥ can be registered as a constant same as +/—/x/=.

(78—23)7'?=1.305111829 x 1072

It
2+3X643—4=10
*X¥ and X ¥ will be calculated prior to

22+ 3%+ 44 =287

W78@23WS512408

203[164mA3@48

multiplication and division.

223w 34 W48

422.5878667

52.58143837

1.988647795

32.

0.01024.
243.

1.305111829-21

10.

287.

EXAMPLE OPERATION DISPLAY
14°25'36" = 14.42666667° 14625693667 | 14.42666667
12.3456° = 12°20'44.1" 12-3456Mm= | 12°20°44.1”
SIN 63°52'41"=0.897859012 (@) 6309526494166 | 0.897859012
cos(%rad) =05 838 0.5
“RAD”
tan(-35gra) =-0.61280078 =& 35 | -0.61280078
2-SIN45° X COS65° = “DEG” 28453
0.597672477 65==E | 0.597672477
sin'0.5=30° “DEG” ()5 Wea) 30.
(Solve equation sinx = 0.5)
cos" L2 = 0.785398163rad ‘RAD’  2WOE2EWE | 0.785398163
_ % rad a8 0.25
tari'0.741 = 36.53844577° “DEG” (J741med) | 36.53844577
=36"32'18.4" W= | 36°32° 1847
25X (sin'0.8—cos'0.9) = ‘DEG” 2-5E3([0(-) 8
68°13'13.5" 8098 | 68° 13’ 13.6”
15
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105! 495! 4 %1 = 5- 1ML, 108
199615.7294 I8MF 1 WBMPMRP
(An equivalent operationis 5 1WA OMEGSH1@50 1WEa)

2% 3.455%%7 =3306232.001 283-4WS056 - 7008

log sin40° + |og cos 35'=

-0.27856798 l%] 40(in)(g €3 35 (s)(e) D
The anti-logarithm . .. 0.526540784 “DEG” (Continue) (wv){0%

(log calculation of sin 40° x cos 35°)

199615.7294

3306232.001

-0.27856798
0.526540784

m Hyperbolic Functions (sinh, cosh, tanh) and Inverse Hyperbolic Functions (sinh™!,

cosh™!, tanh™!)

EXAMPLE W OPERATION DISPLAY
sinh 3.6 =18.28545536 3-6Mwsn) | 18.28545536
tanh 2.5=10.986614298 2-5Mikn) | 0.986614298

cosh I.5—sinh 1.5=10.22313016 1+ 5 i) v s G

=e™"? (R B = |

(Proof of cosh x tsinh x = e*X) (Continue) (in)

Sinh 30 = 4.094622224 30D

cost' (5%) = 0.795365461 208 15 @M=
What is x when tanh 4x = 0.88? (-] 88 [w)[hp)ad]

x =1aN 088 _ 0 343041914 asa

sinh'2X cosh™ 1.5 = 2 WS
1.389388923 1-5WmE

2.352409615
0.22313016
-1.5

4.094622224

0.795365461

0.343941914

1.389388923

m Miscellaneous Functions (\/ , x 2, 1/x, x! , RAN #, ABS, INT, FRAC)

EXAMPLE OPERATION DISPLAY
/2 + /5 =3.65028154 2WEsSwrE| 3.65028154
22+32+42+52=54 2WI)EI3W(x)EI4 WEIERS B 54,
R W4 WEEWE 12.
34
81 (=1X2X3X:-- X 7X 8)=40320 8 mx]) 40320,
Generate a random number between 0.000 and 0.999. (w5 (e.g) 0.570
l
J132—=52 4+ [3Z+ 47 =17 135 WEINIWED
(O3WE)EB4 WD 17.

JT=sin? 40" = 0.766044443
= C0S 40°

(Proof of cos  =+/1 —sin? 6 )

/21 +1/4! +1/6! +1/8! =
0.543080357

10Ps = ( |0IE!45. =5040

i%] 184060 WM
“DEG” (Continue) (W)(cos)

2 W)W EB4 W) (x)ZED
6 (W)W« 8 (xIWIAE

10WE@C 10840

1205= 5!(|122!_5)! =792 12@35@
12850WNE
The absolute value of common log % is:
log 5| =0.124938736 3@4B W
Obtain the integer part of 7320 ... .81 78008965@@

7800

Obtain the fraction part of 9% -

2512549139+ 2141

.0.25 780083968 (W)mg

2512549139=121413
(Continue) (W) fmg

0.766044443
40.

0.543080357

5040.

792.

0.124938736

81.

0.25

1173540.
0. 99953




= Coordinate Transformation (Rectangular/Polar Coordinate Conversions) ¢ Ratio of Increase or Decrease
1) What is the percentage of total in rela-
e Rectangular X, Y coordinates e Polar r, 6 coordinates (magnitude and angle). tion to 500g, to which 300g had been
dded?
Y Y a
Plxy) ) 3004500 5 1g0=160 (%) 300E3500m) %, 160.
T RoP P(r,6 500
! _—
! r 2) What percent is the increase when the
y | v temperature rose from 40°C to 46°C?
| SR o 285 L X 100=15(%) 46E40m% 15.
h ¢ X 3) What percent is the decrease when the
0 x X 0 solution volume decreased to 400cc
Argument 6 of polar coordinates meets the fol- fromdggo_ccs?oo N
lowing inequalities whatever unit of angle is used. _Wx 100=-20(%) 4008500MmZ -20.
-180° < 6 £180°
e Percentage calculation involving constants.
EXAMPLE OPERATION DISPLAY 1) What is 15% of 15002 . . . . . . 225 1500838 15m % 225.
What is 23% of 15007 . ... .. 345 o
Transform (14, 20.7) to polar (m)() 14 &520-7@) 24.98979792 (») What is 25% of 15007 . . . . . . 375 (Continue) 23w %, 345,
coordinates with the argument L . .
in degrees. DEG (Continue) WA= | 55°55°42.2” (o) (Continue) 25w %, 375.
2) What percent is 30 of 192? . .. ...
.................. 15.625% 9
What percent is 156 of 192? . . 5625 ’ 192@8830m % 15.625
Transform (7.5, —10) to polar 7-5mE51028 1250 ] 81.25% 156W) % 81.25
coordinates with the argument “RlAD" . 3) 600 grams were added to 1200 grams. :
in radians. (Continue) Wi | = 0.92729521(ra0) What percent is the total to the initial
; % 150
weight of 1200 grams? . . . . . . 150% 120083E3600™) %, .
510 grams were added to 1200 grams. 51 0’@ % 142 5
Transform (25, 56°) to ‘DEG” 25m)E56 8| 13.97982259(x) What percent is the total to the initial = :
rectangular coordinates. weight of 1200 grams? . . . . . . 142.5% .
(Continue) W) | 20.72593931(y) 4) When 150 is reduced to 138, what 15088 1382 -8.
percent is the decrease? . . .8% decrease 156m) % 4
When 150 goes up to 156? .4% increase = .
Transform (4.5,%‘” radians) ["RAD” 4-5m)R((0283835083 -2.25(x)
to rectangular coordinates. (Continue) W)= | 3.897114317(y) . ) ) ) . . ) )
® Rounding a Number, Fixed Point Display, Engineering Notation Display
(RND, FIX, ENG)
EXAMPLE OPERATION DISPLAY
m Percentage -
1006 =16.66666666----- 10068 | 16.66666667
EXAMPLE OPERATION DISPLAY (Specify rounding to four digits beyond the decimal point.) ()&% 1.667 01
|
. 5\7;::?:31979%:)2? ?‘5]8-(.)?:?:; (Sg;er::tifays tshglr;g;;b)er of places to be shown after the decimal ()5 2X(5) 16.66667
1500 X5~ =255 (cc) 15008 17™% 255. o , - . N
*When specifying the applicable digit, the calculator will display the last applicable digit rounded off,
® Base plus pergentage amount.o 5 Internally, however, the number maintains its original value. When rounding, the result will be dis-
What is 620g |_n/.creased by 15%? played in the floating point representation.
(Netamount & B3)
620+620 X5 =713 (3) 62063 15m) % &3 713. 2007 X 14=400 2008 78™mE) 28571
© Base minus percentage amount. (Continue) E314 83 399994
What is 7.53V decreased by 4%? *1f calculation is continued after rounding has been specified, the calculator will proceed calculating
(Net amount & &) using the rounded displayed number.
753—17.53 X745 =7.2288 (V) 7-5304W% 7.2288 123m X 456 = 56088m 12304568 56088.
® Percentage ratio (What percent of one =56.088km ([Engeng) 56.088 03
number is of another). . y
What is the percentage of 7.8 of 9.6? 7.89+96=0.081259 7-8@968 0.08125
45X 100="81.25(%) 7-8E9-6m% 81.25 =81.25n bded 81.25-03
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[1-5. Calculation of Standard Deviation

e Before starting calculation of standard deviation, clear registers M 07, M08 and M09 by pressing
&9 .

® During calculation of standard deviation, other operations (including programimed ones) can be per-
formed unless registers M 07, M08 and M 09 are used.

m Data Input Operation and Calculation Formulas

® To input a data, press following its value. To input the same value, press as many times as the
number of the data.

e When the data involves frequency, input the value, press B3, input the frequency, and press .
The value of frequency does not necessarily have to be an integer. (Probability distribution and
graphic analysis)

e Standard deviation formulas

To obtain the standard deviation of the finite popu-
lation using all data of the population.

4 = 2 2
on =/l.§1(x, xf _ /3 (zx)’/n
n n

n
_ = 2__ 2
On-1 :/,E](I‘ xf :/ZI (£x)n To estimate the standard deviation of a population

n—1 n—1 using sampled data of the population.
® Mean
n
2 x sz
— _ =1 -
¥~ n
EXAMPLE OPERATION l DISPLAY
|
Data: 55, 54, 51,53, EWEI55E154 15 1x055&)
53,53,54,5
53&3Ey54 052 Ey 52.

(Standard deviation of on) 2| 1.316956719
(Standard deviation of Op-1)WZ | 1.407885953

(Mean X) (W) & 53.375
. (Number of data n) MB([Q)(S) 8.
* The results can be obtained by
pressing the keys in any (Sum £x)MR[Q)B) 427.
der.
eree (Square of sum £x?)MR Q)7 22805,

What is the unbiased variance and the (Continue) WZmx?)| 1.982142857 (gaflbgiiee?
difference between each data and mean !

in the above example? ™I 558 1.625 (s5-%)
542 0.625 (54—x)

518 -2.37561-2)

<21

What are X and Op—; of the data lQiVe” below? mw)Eg 11083 106D

No. Value Frequency 1308331
! 110 10 1508324 &
2 130 31
3 150 24 170&sas
4 170 2 190&xdy
5 190 3 (D@)]E)

Total 70 @é}
(W) %

110.

130.

150.

170.

190.

70.
137.7142857
18.42898069

*To delete or correct the wrong data (I)
When correct operation calls for 51 .

(1) Wrong operation: 50

Press and input the correct data.
(2) 49 [d input in some steps before.

Press 49 and input the correct data.
(3) Wrong operation: 5183.

Press 1 and subsequently or and input the correct data.

* To delete or correct the wrong data (II)
When correct operation calls for 130 E3 31 .

(1) Wrong operation: 120 8 .
Press 8 and input the correct data.
(2) Wrong operation: 120 B3 31.
Press B8 and input the correct data.
(3) Wrong operation: 120 E3 30 (xJ .
Following 120 B3 30 W) @ , input the correct data.
(4) Wrong operation in some steps before: 120 E3 30 &J .
Following 120 B 30 ) , input the correct data.
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® With the calculator set in the "RUN" mode (M8 {@), press @ and "ALPHA" will be indicated
in the display, readying the calculator for the ALPHA mode operation (Alphabetical character
inputting function).

® The difference between the ALPHA mode and the NORMAL mode (the “RUN’’ mode without
any display of "ALPHA") lies in the fact that general calculation is performed in the NORMAL
mode while in the ALPHA mode it is used for merely indicating data, such as the indication of
comments (notations) using the letters of the alphabet, or the indication of units and other data
with reference to the results through such commands as ““AR"’, “"#", """, etc.

®|n the ALPHA mode, all the keys (except for , , , W ,@, 8 and ) will represent
alphabetical characters or symbols. (The applicable characters or symbols are shown in green on the
keyboard panel.)

® The characters or symbols displayed in the ALPHA mode are referred to as '‘Alphabetical charac-
ters'"’.

® Functions of Various Keys in the ALPHA Mode

through # (Exclusive of L6, and (W) :
Pressing of these keys will result in display of the alphabet in the upper case: pressing them after
keying in @ , will cause display of alphabet in the lower case.

L through(®,0,0.03.8.0. 8:
Pressing of these keys will result in display of numbers or symbols.
Pressing them after keying in W will result in the display of key signs shown below the respective
keys.
:
Pressing of this key will show exponent sign ““g”" in the display.
Pressing it after keying in ) will show the symbol *‘a"".
8:
Pressing of this key will show the “="" sign.
y &2
Pressing of this key will generate one space in the display.
@. @ and 3
Pressing of these keys will put the calculator in the “RUN", ““WRT* and ""PCL" modes.
(Changing of unit of angle, execution of () etc. are not possible.)

B9 , E) and F :
Same function as in the NORMAL mode.

ALPHA

:
Clears ALPHA mode.

W) :
Command for continuing displayed data. The alphabetical character following the *;" will be
linked to alphabetical character immediately before it.

2
Memory substitution command. Will substitute contents of specified memory into the character
data and display it as alphabetical character data.

P:
Display substitution command. Will substitute displayed number(s) into the alphabetical character
data, and display it as alphabetical character data.

:
Clears displayed data. (Will not clear the ALPHA mode.)

blears both the display and the ALPHA mode.

<23

= Examples for Using *;”’, ““#’* and “AR’"’
e For displaying “*ABC’ and “abc’’ in succession (with calculations being performed intermediately).

Wi BOETEI e 14 43 B MO

W) e ) &5 ) B o) 1) o) €2 ) i ——> ABC abc

e When having result of 23 x 5" being displayed with assigning of unit "x = 000 km"'.

23858WEENTaNPWEWEPmE—| * = 115km |

e When having contents of MF-register (already inputted in first example above) being displayed-as
"FX-OOOP”.

S Om— [ FX-602P |

«24.



PS5 P9 .

—a) : Program Number Keys (Representative Symbol: )

Press one, alone or following @ to select a program number out of programs PO through P9.
You cannot start programmed operation without pressing a program number key.

: Mode/Alpha Mode Key

emE(1) : “RUN" (RUN mode)

. ) This is the mode of programmed and step-by-step operations.

. o o md(@ : “WRT” (WRITE mode)

Put the calculator in this mode to “‘write’’ programs, ‘‘check’” them, and make ‘‘addition”,
“’deletion’” and “‘correction”’.

o

Part 2 describes programmed operationlof the calculator. _ Note: “Write” means {0 store programs in the calculator.

The gfficiency_ of programmed calculation depends on programming. AllAprograms are based on certain e @3 : “PCL” (PROGRAM CLEAR mode)

algorithms. It is advised that you get a good understanding of programming fundamentals. This is the mode to delete all or specific programs stored in the calculator.
° : “DEG"”

;2*1.»?113}6@9{} and i(ey index for f’mgrammed Caleulation . o (g (5) : “RAD"” A specific unit of angle will be selected, respectively.

i . . ) e Mg(E) : “GRA"
* Description of keys and explanation given in Part 1 are not repeated herein.

Again, read pages 5 through 8, and pages 23 through 24, e @r(-)(J(J : To assign a desired number of memories and its incidental number of program steps.
= FA-1 connector TA___(Select a number from 20 through 80.)
[- N W * Relation between the number of memories and the program steps
p POWER Key operation Number of memories Number of program steps
T ([ K[ =)(e)} 22 (MO0 —-M19,MF, M1F) 512
KR e} 33(M00—-M29, MF, M1F, M 2F) 432
M — F 1F —M3F
[wv HLT RU DEG ALPHA] Holder guide E]@@ 44 (MO0O—M 39'_M M sF) 35.2
T3 I (@) 77 (MO0 —M69, MF, M 1F — M 6F) 112
{ mope » [ F [ W [ P | o | w0 [ om forw mE0 88 (MO0 —M79, MF, M 1F —M7F) 32
|/

P5 P6 —+—P7 ——P8 -—1— P9 “ALPHA"]

Program keys * 1 memory is equivalent to 8 program steps. Though an intermediate number of memories
AUSE |:D:__SCVE—_:;;__MZC__W (e.g.m@(H @)@ ) can be assigned, the number of F-memories will be the same as in the
(ALT) om (GSB) 1 omm K memory number assignment which first digit is 0" (in this case,@_@]@).

‘__’ __ Hn__!_ __Fs_] c and keys Further, if substantial number of program steps are already used, assignment of number of
pam — 0° I memories can not be arbitrarily made in order to keep the already written-in programs. In
@ @ m @ such a case, the calculator automatically assigns the number of applicable memories and
J K L ™ N displays it.
ABS INT_| FRAC | sin—' | cos—' | tan—
@3 | @I ) | Gin) | (o3 | Ean)
0 v [ R S T efmg(-](:): Use this command to confirm the assigned number of memories/program steps.
DEL XY v x2 Vz x/
U — W ﬂ Example K = 256
- v : le [:v z xa : A1 s
E o (oalzRl [l on ) () () “1-“'-1 '-'1-‘F|"H: ||

T
v

M0O0—M 51 MF, M1F—M4F

»
3

1s2 xz0 XZF x Step: 256

Memory: 57

iy
o) u)
®
B

L)

)

+
EE] Enzlsn

RND—FIX mxmz? T w‘ o= o : ALPHA mode assignment/release
D - EXP s Use this command when alphabetical characters to be input. Re-pressing of them will release
Execution key the ALPHA mode. (See page 23.)
L & Ll el ® p The display will show “ALPHA" when the calculator is in the ALPHA mode.
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PAUSE
: Halt/Pause Key

e (1) : Halt
During “WRT"” mode: Use this command to stop a running program for inputting data or displaying
» results. The display will show “HLT". )

During “RUN’" mode: The program, which is currently running, stops after the current instruction
has been executed. This is convenient to intercept execution of a program
which takes a long time.

o (v : Temporary halt

During “WRT’" mode: Use this command to bring a running program to a temporary halt. The

program will restart automatically in about a second.

II.NBIE : Label/Indirect Key

e [B) : Destination of jump
During “WRT" mode: Use this command to write the destination of unconditional jump.
oy : Indirect addressing
During “WRT"” mode: This indicates indirect addressing of a memory location, or the destination of
an unconditional jump or a subroutine.
During “RUN" mode: This indicates indirect addressing of a memory location or the destination of
a ""manual (unprogrammed) jump"’.

SAVE
: Goto/Save Key

® &) : Unconditional jump
During “WRT’ mode: Write an unconditional jump command with this key.
During “RUN’ mode: Press this key to let control jump occasionally when execution of a program
is at a halt ("HLT" displayed).
o W) 5v5 : Data transfer from calculator to cassette tape
(only when the FA-1 is connected)
During “WRT" mode: Use to load a command so that the contents of the Mn-register will be
transferred to a cassette tape through the FA-1.
During “RUN" mode: Use this command to transfer the contents of the Mn-register manually to a
cassette tape.
During ““PCL"" mode: Programs stored in the calculator will be moved to a cassette tape.

: Subroutine Call/Load Key

. : Subroutine call
During “WRT" mode: Use to “‘write”’ a command to call a subroutine program.
During “RUN"" mode: Use this when debugging program. (See page 35).
o (W) : Data transfer from cassette tape to calculator
(only when the FA-1 is connected)
During “WRT" mode: Use to “‘write’’ a command so that data will be loaded from a cassette tape
) to the Mn-register through the FA-1.
During “RUN" mode: Data will be manually loaded from a cassette tape to the Mn-register.
During “PCL"" mode: Programs stored in a cassette tape will be loaded to the calculator.

: Back Step/Memory All Clear Key

e @) : Program step back
During “WRT’* mode: Use this command to trace the program, which is being written or checked,
backward step by step. Keep the key pressed for more than about a second
to back fast.
During “RUN" mode: During debugging, the command which has just been executed will be
displayed as long as this key is kept pressed.
o W Md: Memory all clear
During “WRT’" mode: Use to “‘write’’ a command to clear all the Mn-registers.
During “RUN" mode: Use to clear all the Mn-registers.
During ““PCL" mode: Use to clear all programs stored.
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: Forward Step/Standard Deviation All Clear Key

o [ : Program step forward
During “WRT’ mode: Use this command to execute a program step by step during checking. Keep
the key pressed for more than about a second to advance fast.
During “RUN’"" mode: Use this command to execute a program step by step during debugging.
oM ®J: Clear M 07, M08 and M 09 registers
During “WRT’ mode: Use to “‘write’’ a command to clear the M 07, M08 and M09 registers used
for calculation of standard deviation.
During “RUN’’ mode: Use this command to clear the M 07, M08 and M Q9 registers.

g : Execute Key

During “WRT’" mode: Use to “‘write’”’ a command to initiate data transfer between the calculator
and cassette tape via the FA-1.

During “RUN’" mode: During programmed operation, press this key to restart execution of a
program which is at a halt (with “"HLT" displayed).

: Clear Key

During “WRT’ mode: Press this key to delete the currently displayed command of a program
stored in the calculator.
During “RUN’ mode: The displayed data will be erased for correction.

: All Clear Key

During “WRT" mode: Use to “‘write’ a command to clear all registers except the Mn-registers.

During “RUN’"" mode: All registers except the Mn-registers will be cleared. The mode of
programmed operation will be released, if this key is pressed during the
programmed operation (with ‘=" displayed).

During ““PCL" mode: Only a designated program will be cleared.

% & x-@o % xC:-:;F] %: Numeric/Condition Test Keys

Use the numeric keys to input numeric values during “WRT" or “RUN" mode.

Use a respective command key out of these condition test keys following) during “WRT" mode.

o W) : Decrement and Skip on Zero
The contents of the MOO register is decremented and, if the result is zero, the next
command is skipped; otherwise the next command is executed.

e ([s) : Increment and Skip on Zero
The contents of the M 00 register is incremented and, if the result is zero, the next
command is skipped; otherwise the next command is executed.

e M(=9) : |f the contents of the X-register (display register) is zero, the next command is executed;
otherwise the next command is skipped.

oM (29 : If the contents of the X-register is positive or zero, the next command is executed;
otherwise the next command is skipped.

o W (=7 : If the contents of the X-register and F-memory are identical, the next command is executed;
otherwise the next commard is skipped.

e[ (= : If the contents of the X-register are greater than or equal to those of the F-memory, the
next command is executed; otherwise the next command is skipped.

) : Hyperbolic/Pass Word Designation Key

® During “WRT"” and “RUN" modes:  Use this command key to a hyperbolic or inverse-hyperbolic
function.
® During “WRT’” mode: If pressing a key (program number key) following@s , the currently
written-in program can be turned to the one with a “’pass word"".
* Pass word: 4-digit secret symbol, in which all letters and signs applicable under the ALPHA mode
can be used.
If you want to keep your own developed programs in confidence, store the programs
with pass words. This will secure your own programs from any other persons who do
not know the pass words. (You can use the calculation of program with a pass word,
even without knowing of it.) 2
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® This calculator is capable of setting at arbitrary number of steps with a unit of 8 steps over a range of
32 to 512 steps (see page 26), and of writing (storing) 10 programs (PO through P9) at maximum.
Of these 10 programs, confirmation can be made on which program number ( ) is now in use and
on how many steps are still remaining, as follows.

0 For@® @) |

' ——Number of remaining steps

Already written-in P, (#reflects the one with a pass word)

® During writing or checking a program, the already written-in commands will be displayed in
characters within 11 digits, and the number of steps for the right-end command will be shown as
well.

e T
3 U]
A T [ A ‘T
Leaves one space between each step

Leaves blank, if a command cannot  (except for numeric value and alpha statement)
be displayed in this area.

Number of steps for the right-end ** X"

® |[f a command is confirmed during debugging, the program number plus one space blank will be
displayed at the left end, thus leaving the maximum available digits of command display to be 8
digits.
When confirming a command of above example during debugging, it shows as follows.

o1
ot

Ky T “A__ This is 2-digit space.in which ““Min F** cannot be displayed,
so leaves it blank.
Leaves one space for dividing Pn and the command.
Program No.

® 1 step of execution performs 1 function, in principle. However, there is also a function with 2 steps.

Commands having 1 function with 1 step:

a) 1-key/1-step commands:
Number +/—, +, —, x, +, =, [(, )], sin, log, HLT, PO, alphabetical capital letters, etc.

b) 2-key/1-step commands:
Min F, GOTO 3, LBL 5, hyp sin, INV ALPHA, sin'!, ABS, </, x=0, x¥, P7, alphabetical small
letters, etc.

c) 3-key/1-step commands:
INV hyp sin™', GSB INV P6, INV RND 4, M+ 0 0, XM 1 8, Min 1 F, etc.

d) 4-key/1-step commands:
INV AR 0 5, INV AR 1F, etc.

* 00 through 19, F and 1F, following memory keys (Min, MR, M+, M—, X+M) and INV AR, are all
1-step.
Commands having 1 function with 2 steps:
a) 3-key/2-step commands:
Min 2 0, MR 3 5, M+ 2 F, etc.
b) 4-key/2-step commands:
INV RND FIX 3, INV AR 2 1, INV AR 3 F, etc.

* 20 through 79 and 2F through 7F, following memory keys and INV AR, are all 2-step.

Note: A program number designation is counted as 1 step, and a program number with a pass word
(including 4-character of pass word) .as 6 steps. But they are not included in the step number
display.
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Example:
What are the surface area and volume of regular octahedrons which have ridges of 10, 7 and 15 cm,

respectively?

Ridge (a) Surface area (S) Volume (V)
10 cm ( )em? ( Jem?
7 ( ) ()
a 15 ( ) (I

(1) Analysis

Suppose that S represents the surface area, V the volume, and a the length of a ridge of the regular
octahedron given, then, S and V will be expressed as follows.

S=2 \/Taz

(2) Programming
To carry out the above calculation manually, operate the calculator in the following way.

2838 Value of e WEB —~ S
2M@EB3B8 Valueofa Mg 38 —~ Vv

You may put the value of ¢ in the F-memory before use, which is more convenient. In this case,
operate in the following way.

Value of ¢« WP 2 A3 WO BWMPWEBB —S

2WOE ARPmG 38 >V
The above sequence of operation can be programmed just as it is. Once execution of the program
begins, it does not stop, unless the HLT command is executed. To input data and display results,
execution must be stopped temporarily, using the HLT command.
The following sequence of operation will store the above program in PO.

PO HLT, Min F, 2, x, 3, INVA/, x, MR F, INV x2, =, HLT, 2, INV</, +, 3, x, MRF,
T~ T—Put this for data input. To read the result.
Program No. (always necessary)
INV x¥, 3, =, HLT, .... (21 steps)
T T=—To read the results.
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(3) Program writing

s X MRF xY 3019
8 MRF x¥% 3 =020
) XY 3 = HLTO21

Now, the program has been written in the calculator.

* As you press keys in the WRT mode, corresponding commands are ““written in’’ (stored into the
memory of) the calculator as part of a program. The command written-in is displayed together with
the step number.

Further, since the program ends up automatically, the HLT at the end is not always required.

(4) Execution

OPERATION DISPLAY . Toexecute the | ’am mxmmmcﬁcu«law;; . .
WRT (Display example where P4, P5 and P8 {1} Put the calculator in the “RUN’ mods (‘E}
PO123__67_9116]| 4 already in use. 116 and 115 reflect {2) Press the relevant program number key (B3 through B8 or G983 through WE). .
WRT the number of steps still available for . 13) Wnen the display reads "HLT", input data (or read the result) and pressid ..
PO 115 use.) ~ [4) Toexecute the program ‘again with varied data, press the program number key.
WRT Hereinafter omitted (5] To stop programmed operation, m&ssmm(”?fu’f““ ﬁ'%}‘f&\ied will be cleared),
T 001
Gl HL In the above example, surface area S and volume V of a regular octahedron having ridges (a) are
@@ HLT MinF 002 unknown.
HLT MinF 2 003 Ridge (a) Surface area (S) Volume (V)
- 004 10 cm (346.4101615)cm? (471.4045208)cm?
8 | HLT MinF 2 X 7 (169.7409791) (161.6917506)
MinF 2 X 3005 15 (779.4228634) (1590.990258)
W) | (MinF 2 X 3 v 006
OPERATION DISPLAY
007
a 2 X 3 v~ X RUN 0 (Unneeded, if “RUN"" is already
[G] . displayed.) '
F X 3 v X MRF 008 (Program number HLT RUN——-———O———(Hereinafter omitted)
assignment) .
(w)(a?] v~ X MRF x 2009
@)1 Oxg 3464101615 (S when a=10)
2 =
=] X MRF =x 010 (Again) [ 4714045208 (V when a=10)
() X2 = HLTOM (To execute again) P0) 4714045208
X2 = HLT 2012 (@) 7 g 1697409791 (S whena =7)
] = HLT 2 + 013 (Again) exg 1616917506 (V when a=7)
8||= HLT 2 + +014 1616917506
@ ||HLT 2 v + 3015 @156 || 7794228634 (S when a=15)
a 2 v + 3 X016 (Again) B9 1590990258 (V when 2=15)
° (Toend up T I RUN o
&= - programmed .
F v + 3 X MRFo017 operation) L_"HLT" s cleared
INV & 3 X MRF x Y 018 *In the programmed operation, execution proceeds and a result is displayed each time after @8 is

pressed, following data input or after a result is read.
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® Checking, addition, deletion and correction
Example: .
What are the surface area and volume of regular tetrahedrons having ridges of 10, 7.5 and 20 cm,

respectively.

Ridge Surface area Volume
a (a) (S) (V)
10 cm (173.2050808) cm? (117.8511302) cm?
7.5 (97.42785793) (49.71844555)
20 (692.820323) (942.8090416)

(1)  Analysis
Suppose that S represents the surface area, V the volume, and a the length of the ridge of a regular
tetrahedron, then, S and V will be expressed as follows.

S=/3a? V=-—-a®

(2) Programming
Suppose that the values of a are stored into the F-memory and P1 is the program number, then, the
program will be as follows.

P1HLT, Min F, 3, INVY/ , X, MR F, INV X2, =, HLT, 2, INV+A/ .+ 1,2, X, MRF, INV XY, 3,
= HLT, ... (20 steps)

This program can directly be written in the calculator. However, since this looks very similar to the
""regular octahedron’’ exampled on Page 30, let’s learn how to “check’’, make a “‘deletion’’, “addition”’
by modifying the program of regular octahedron.

(3) Checking and modifying program

Checking program means confirming the contents of a program written in program memory, by re-
calling them in the display.

Put the calculator in the “WRT' mode (M8(@)), assign the program number, and operate or B9 ,
Then, the number of steps and the contents of the program will be displayed, same as in writing in.

To make addition and deletion, follow basically the same procedure.

1. Change the program number from PO to P1.

2. Delete 2" and " X",

3. Replace "3"" in "+, 3, x"" with "1, 2"

This is the modification we make to obtain the desired program.

OPERATION DISPLAY
WRT
P_123__67_9094
inaf
PO wRT 094 | (PO program call) (Herecl)r;?ittgd)

Changing program { P 094
number =) P1 094
(Program check) [s?) HL T 001

{Program check) R
(hereinafter omitted) s HLT MinF 002
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FST|

HLT MinF 2 003

(Deletion of ""2")

HLT MinF 002

(s

HLT MinF X 003

(Deletion of " X")

HLT Min2 002

G

HLT MinF 3003

FST HLT MinF 3 v 004

(Previous command comes back after
**2" is deleted.)

Press successively until the step of “2+/ <" will be reached. () may be kept pressed. If the

desired step is exceeded, press .)

(20th step: HLT)

(After returning back to the beginning,

) | = HLT 2 v +012
& HLT 2 v + 3013
(Deletion of *3") = HLT 2 v+ +012
(Addition) HLT 2 v <+ 1013
(Addition) 2 v <+ 12014
& 2 v + 12 X015
Press {51 successively until the step of 3 = HLT" will be reached.
(=1 xv 3 = HLTO20
(To advance program & P1 095

ahead)

(Same as above) (1)

HL T 001

(Same as above) [fs1)

HLT MinF 002

(To step program

back) et

HL T 001

(Same as above) (1) P1

095

(Same as above) [s7 Xy 3 = HLTO20
(Same as above) s MRF xyvy 3 =019
0.

the number of steps available for use
will be displayed.)

“(Same as above)

(Program check proceeds from the
last step.)

(Moog () is not written in this step.)

Now, the program has been modified completely.




writing-in is possible.}
*  Addition and deletion may
subsequent step numbers ava

(4) Execution

ueatly, iaputa

them s made, the

OPERATION DISPLAY
RUN (Unnecessary, if the RUN is already
0. displayed.)
(Program No. assign- HLT RUN —————G——(Hereinafter omitted.)
ment) :
109 1732050808 (S when a=10)
(exg) 1178511302 (V when a=10)
Repeat these three steps for other values of a.
® Debugging

The program debugging means to find out any program errors by inputting a simple test data, execut-
ing it step by step and thus examining the due course of program.
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Example:

Debug the “‘regular tetrahedron’ program which is previously mentioned.

OPERATION DISPLAY
RUN (Unnecessary, if the RUN is already
(1] 0. displayed.)
PUN L ; ;
(Debugging starts) P1 (Hereinafter omitted)
HLT
FsT] 0. (1st step: HLT)
HLT
(Data) 2 2. (Input simple test data)
FST 2. (2nd step: Min F)
FST 3. (3rd step: Numeral 3)
FsT 1. 732050808 (4th step: </ )
(Check (keep ;
command) pressed) P1 MinF 3 v~ 004
FsT 1. 732050808 (5th step: x)
(&) 2. (6th step: MR F)
FsT 4. (7th step: x?)
(=7 6. 92820323 (8th step: =)
HeT 9th step: HLT)
|| 6. 92820323 o ste: B
fFs7) 2. (10th step: Numeral 2)
(1. 414213562 (11th step: /)

FST

(Check (Keep
command) pressed)

FST
FST

FST

(Check )(Keeo

command pressed)
(&)
(Check (Keep
command) pressed)
&)
(Check (Keep
command) pressed)

(Execution proceeds g
normally)

1. 414213562

(12th step: =)

(13th step: Numeral 1)

P1 2 v +012
1.
12.

0. 11785113

P1T v = 12 x015
2.

P1 12 X MRFO016
2.

P1 X MRF xY 017

0. 94280904 1

(14th step: Numeral 2)

(15th step: x)

(16th step: MR F)

(17th step: xY)

V whena=2
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® Program Clearing

: .
v € .
- Put the caiw%mm in the %Wmﬁwﬁwmrmm W key B9 through

= Program No. Changing

Any one of program numbers, PO through P9, should always be assigned to a program. No program can
use a same program number in duplicatedly.

Suppose that a program is written in PO. When you want to write another program in PO without clear-
ing the already stored program, you can reassign it to a new program number.

{1} Put the calculator. in the “WRT" @gm zng Press th«e
" gw of élsewg written-in mmm .

Te85 Lo o . .
(3] Press mgg;ﬁ ;z:ggf am ' number %g}
(4) Put ﬂmmfm%aw W N med
Example 1: change Pﬂxgx%mwwm

Let's study some variations of programming to solve a problem for their merits and demerits.

Problem: What are the length, 2, of arc and the Iehgth, a, of chord of a sector whose radius is r and
central angle is 6 ?

= int
a 21'Sln2

rré

& =80
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® Some variations of programming:

OPERATION PROGRAM
STEP | PO MODE 4, HLT,
2 r(g Min 01, X, HLT,
A 3 gg—! Min 02, X, 7 ,+,1,8,0, =, H,
4 @g—a MR 02, =, 2, =,sin, X, 2, X ,MR 01,
- 24 steps plus 1 step
’ (PO)
STEP| 7y PO MOE 4, Min 01, X, HLT,
B 2 > Min 02, X, 7, 1,8,0, =, Hr,
3 B&d—qa MR 02, =, 2, =,sin, X, 2, X,MR 01,
_ 23 steps plus 1 step
=, (PO)
STEP| r ma@)A)
2 4@
C 3 PI—/ | PO MO 4 MR O1, X, 7, X,MR 02, =, 1,
= i 22 steps plus
8, 0, =, HuT, } step
4 m-a MR 02, +, 2, =, sin, X, 2, X, MR 01, =, (PO
STEPI r PO Min 01, | step
2 4 P1 Min 02, MODE 4 , 2 steps
D 3 fP2— 1! |P2 MR 01, X, r, X,MR02, =, 1, 8, O, =, |0Osteps
4 P3—a |P3 MRO2, =, 2, =,sin, X, 2, X, MR 01, |0steps
_ 23 steps plus 4 steps
=, (PO, P1,P2, P3)

o Advantages and disadvantages

A: Standard programming:
e The sequence of operation is simple. After the program number is assigned, B8 is operated
simply or after data input.
e |t is possible to store many programs (up to 10 programs).
e |t requires a small number of steps.
e Since the sequence of operation is fixed, it is impossible to change part of data or to read part of
results.

B: A'svariation
e This is basically the same as A, but the sequence of operation is not so simple.

C: Data input operation is not easy.
® The number of steps is the smallest of all.
® |t is possible to store many programs.
@ Data must be put in the memory before execution. This may be troublesome and induce errors.
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D: User’s function type

e Since a specific function is assigned to each program number, data may be input in any order,
and results can be obtained in any order.

e This is very convenient, if only part of data is desired to be changed and to see the results.

® This requires more steps than the others.

® This may cause the shortage of program numbers, if the number of input data and unknowns
are plentiful.

e This is unsuitable to store two or more programs.

Through the above, the most preferable programming will depend on a particular case.
A-type programming is mainly described in this manual and library book, but some programs are of
the other types.

®m Programming Rules

® The program consists of commands arranged just in the same order as with step-by-step calculation.
(The s;equence of commands is the same as of ordinary mathematical expressions: true algebraic

logic.

e All built-in functions can be used in programs.

® There is no limit on the length of mathematical expressions.

® Any number of constants can be used in a program (each has a mantissa up to 10 digits and an ex-
ponent up to 2 digits). In this case, each of digits, decimal point, +/—, or EXP is counted as one step.

e Calculation involving constants (++, xx, XXV, etc.) can be programmed, and the execution is the
same as in the manual operation.

mDuring a Program Writing (“WRT" mode)

o Immediately upon the “WRT” mode is entered, all of P9 through , WPy through WFY
through Mg (3 and (only for a program with a pass word) will be effective to be used.

@ The number of steps displayed during the “"WRT' mode does not include the first entry of (or
] ), but actually it is also stored in the program (counted as one step). For a program with a
pass word, it is counted as 6 steps.

e Once the program area becomes full, no more command can be written in (but those already written
remain unerased).

e During a program being written, validity check on the input range of functions, over-nested paren-
theses, etc. may not be carried out (but the errors may be detected during execution).

eWhen any one of F@ through , through WP or Mod(A) through MeE3) is pressed
during the “WRT" mode, the writing program is terminated to be ready for entering another pro-
gram or different mode.

e "'HLT" at the end of programming is not always required. (In case of no ""HLT" at the end of a
program, its calculation ends up when the last command is executed and displayed).

mDuring Execution (“RUN’ mode)

e Nothing will occur when a program number key ( ), to which no program is written in, is pressed.

eWhen a program is at a halt before starting the execution or in the middle of execution, any manual
calculation (interrupting calculation) can be carried out during such a halt period.
“To input data of manual calculation results’ or ““to try to calculate, using the results displayed”,
etc. may be permitted. However, if the execution is suspended in the middle of execution or the
displayed numeral value is to be used for the subsequent execution of the program, it will be neces-
sary to restore the previous status at the time of suspension after the interruption calculation is
completed.

e |f E® key is pressed during a program halt, the currently displayed numeral value or command will
be cleared. In this case, however, the process of program execution remains unchanged. |f E& is

pressed during execution of a program (“—’ displayed), the execution of program will terminate.
This allows you to terminate an operation which takes a long time or runs in a loop.
o|f is pressed during execution of programmed operation (*’—'* displayed), execution will come to

a halt after the current command is executed. So will be the same when is pressed in the middle
of PAUSE. This also allows you to debug a program in the middle of execution.
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e Errors ("Error’’ displayed) possibly detected during execution of programmed operation will be
listed as follows.
(1) When calculation results or data stored in the memory is overflowed.
(2) When the input range or results of a function is overflowed.
(3) When no destination of a jump (&™) is found.
(4) When there is no subroutine which is called by .
(5) When an illegal nesting of parentheses or overflow of an L-register is found during execution
(In this case ‘() Error” displayed).
In all above cases, the display will show ""Error’’ and the pertinent step number from where the error is
caused, and execution will come to a halt.
To localize the command whose execution resulted in error, release the error status by pressing & (or
for Item 5 above), and then, keep pressed. '
* This localization will be impossible for a program with a pass word.

12-8. Alphabetical Comment Display Program

e For the purpose of alphabetical comments and the functions of each key in the ALPHA mode,
read ''The ALPHA Mode in Manual Operation’’ on page 22.

® The calculator will be in the ALPHA mode and alphabetical comments can be input by pressing
] after is assigned in the “"WRT'* mode or (g or is keyed in the "PCL" mode, as well
as in the "RUN’" mode.

® The display will show “ALPHA" in the ALPHA mode.

e When the ALPHA mode is placed in the “"WRT" mode, “<¢"" will be displayed. When released,
s will be displayed. All characters between these two signs, “"¢<¢’" and “*»»"’, will be alphabetical
comments, regardless of any numerals or calculating signs, even there, merely remaining displayed
as they are, and nothing being affecting the calculation.

Example:

mERmEE)] x )] = (M e
ALPHA mode starts_____ ]

S\~ 1 ALPHA mode ends
Alpha-comment

HLT
(following the above operation) Mg(1)P9——>

Note: For the purposes of this manual and library book, the key operation of W) will be shown
as W () (when ALPHA mode starts) or g (when ALPHA mode ends).

@ Execution of Alphabetical Comments
e When an alphabetical comment is written in a program, which is then executed, the alphabetical
comment can be displayed as follows.

(1) In case of the alphabetical comment within 11-digit, it will straightly be displayed right after
its execution,

(2) In case of the alphabetical comment above 12-digit, the first 11-digit will initially be displayed
for about 2 seconds, and subsequently, they are moved leftward one by one at about 0.5 second
interval until the whole letters are completely displayed to the end, leaving on the display the
last 11-digit to end up the execution.
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Example:

P3, INV “AL, A,B,C,D,E, . ............. X, Y, Z, INV AL' are written in ("WRT" mode =
@ ) and executed.

: 5--‘ i ALPNA — | (Stay for about 2 seconds)

';' O tinues.

Moves leftward one by one at
about 0.5 second interval.

Alpha-comment completed.

(Reference):

If is pressed in the due course of alphabetical comment stepping leftward one by one, it will
stop. Then, the manual stepping can be made one after another by pressing . Once B9 is pressed,
it will return to the automatic stepping.

e After execution of an alphabetical comment, the program will execute the following commands,
but the display will continue to show the alphabetical characters.

(Reference):
By using this function, a comment (interpretation) can be displayed in the due course of a program
execution which takes a long time, representing the contents, title of calculation, etc.

e Alphabetical comment display will be released or cleared in the following cases.

(1) The execution of a new alphabetical comment will substitute the old one with the new one —
the old one is cleared.

(A continuation may be made between two comments by W GJ )

(2) When a program is suspended by @ or g , the contents (numeral values) of the X-register
then stored will be displayed, unless the immediate prior step to the suspension is an alpha-
betical comment.

(So will be the same when a program ends up with the one other than alphabetical comment.)

(3) When a program stops, showing an alphabetical comment in the display, a manual input of nu-
meric value will clear the alphabetical comment. A numeric value will then be displayed.

(4) When a program stops, showing an alphabetical comment in the dlsplay a pressing of B9 will
cause it to disappear, leaving only the under execution display of '—""

= Applications of Alphabetical Comments (How To Program)

e Displays what should be input, in terms of an alphabetical comment.
Example 1: INPUT A | to bedisplayed (this data to be written into M05).

""" lNV“AL,l,N,P,U,T,INV SPACE,AIINVAL”,HLTIMin 05 , T
1-digit blank

‘41

JJ\/[/\/\/\/\/J\/ L Indicates “"under program execution’’.
Blinks when alpha-comment con-
" - ' -

Example 2: to be displayed, which is written into M0 1; then, to be displayed,

which is written into M0 2.

------ INVAL ,INVX, 2, INV?,INVAL", HLT ,Min O1,INVAL ,INVY | 2,

1

Small letter “'x"* Small letter "'y’

INV? , INVAL", HLT , Min 02 -+

e Displays a resulting data with a unit of measure.
(In this case, use the commands of @ , @) and () effectively.)

) : This command will recall a numerical data in the memory to the display with a unit of mea-
sure. In this case, a numerical data in the display will not be available for a calculation, but only for
a display.

Example 3: To make a numeral data (1 23) in the MF-register displayed in .

""" INV'AL , B, =,INVARFI INVK,INVG,lNVAL",HLT,

Example 4: To display two resulting numerical data in terms of ratio like , simul-

taneously. (M01:123,M02:456)

----- INVAL, INV AR O1,INV , INVARO2, INVAL", HLT =+

* AR command can repeatedly by used in an alphabetical comment and also displayed in being
united into one with an alphabetical letter before or after it.

W @): AR command recalls the whole-digit of a numerical data in the memory to the display with
alphabetical comments. While, if data are required to be rounded off into a specified digit (by & or
) or to be of the same digits, use this command to put a displayed numerical data into alphabetical
commems

Example 5: To make a data in the MF-memory unified into 3-decimal digit number to display

like | A=000.000]

’

------ MRF  INVRNDFIX 3 INV'AL A, =

1-fu ncgion 2-step
INVﬁ, INV#,INVﬁ, INVﬁ INV# INV#, INVﬁ,INVAL", HLT, """

1
7-digit including 1-digit for decimal point.

* 1-digit area of display should be reserved per # command. For a decimal point, negative sign for
mantissa part, exponent sign (E), sign for exponent (minus for negative and 1-digit blank for posi-
tive), signs for degree, minute and second (e » »9), etc. are all counted as one digit.

Example 6: To make a count data in M 0O displayed like .

LBLT,INVISZ ,MR 00, INV'AL , X, INV #,INV 5,
T AN

Program jump, see page 47.

INV PAISE , Golo 1,

Y,INV# INVAL,

P N N N N N N A

T .
Temporary halt command Program jump
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(Reference):

Part having a waved underline can be changed by use of AR command, as follows.
INV AL, X, INVAROQO, INV>s,Y, INVAROO, INV AL",
Even with this, the same program can be resulted.

* In case of an integral number, both AR and # commands do not display the decimal point.

Example 7: To display the value of m up to 10-digit like |7=3.141592654

INV 77, INV'AL INV 77, =, INV#  INVAL", HLT,

*If a displayed value has more digits than the number of # commands, all digits will be displayed,
regardless of the latter. (A maximum setting allows 15 of # commands.)
Further, if an alphabetical comment, which is substituted with a numerical data by # or AR com-

mand, has more than 12-digit, they will all be displayed by moving leftward, as mentioned on
page 41.

Note: If a value of exponent whose mantissa part has more than 7-digit is substituted in an alpha-
betical comment by # or AR commands, this results in more than 12-digit. In this case, some
top digits will not be displayed when the leftward movement ends up.

Example: If 1,23 x 107? is changed into an alphabetical comment, it will result in:
8-digit
M G : To connect two alphabetical comments, insert this command ahead of the latter one.

Example 8: To input year, month and day (each with 2-digit) into MO 1, M02 and M0 3 respec-
tively, and to display like |O00OY OOm OOD|

~HLT ,Min 01 , INV'AL ’ INV#’*, INV ﬁ, Y, INV SPACE , INVAL? , HLT, Min 02 , INV'AL ,
2-digit assignment

INV 3, INV 5, INV#, M INVSPCE, INV AL, HLT, Min O3, INV'AL , INV 5,

NV, 1NV, D INVAL T,

Example 9: To make a resulting data in M0 5 rounded off at the two places of decimals and then
displayed with 7-th index (n-th: M00), like |[X0=00000m|

~*INV'AL , X AROO, = INVAL", MR 05, INVRND FIX 2 , INV'AL , INV ;,
INV #, INVM | INVAL", HLT , oo
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® For the definition and purpose of pass words, refer to the descriptions of @) on page 28.

e Although a separately independent pass word can be assigned to every of this calculator, one
pass word requires the program area of 5 steps (6 steps including Pn step).

e All alphabetical characters applicable in the ALPHA mode can be used for the pass words, but one
pass word should always be consisted of four characters — all with a same character will do.

mWriting a pass word in:

o |f are pressed in the “WRT’' mode, the calculator will be "‘ready for writing a pass word in”
and automatically be in the ALPHA mode (“ALPHA" displayed).
e |f four characters of a pass word is written in under the above conditions, the calculator will return
back to the general “WRT" mode (""ALPHA" disappeared).

(1) In case of writing a program with a pass word in, to begin with:

OPERATION DISPLAY
WRT X
P0123456789 128 The "WRT" mode assignment
WRT ALPHA| Automatic turning into the
POPass____ 127| ALPHA mode
WRT ALPHA
(A ||POpassA___ 127
WRT ALPHA
Pass word example: | (B](€] POpassABC_ 127 Once a 4-digit pass word is entered,
ABCD WRT the ALPHA mode will be released;
@) POpassABCD 122 | the remaining steps will also be
reduced by 6 steps.
WRT
(1) HL T 001
Henceafter, normal WRT
program writing-in | (i & HLT MinF 002

(2) In case of writing a pass word into a program already stored in:

OPERATION DISPLAY
WRT
P01234567__ 075 | P8 & P9 are already written in,

A pass word to be @

written into P9

(WA
Pass word example:
al123
a3
(=)

WRT ALPHA
Pgpass____ 075
ALPHA

Pgpassal__ 075

Pgpassal123 070

P01234567 _x 07o!

o44.

Pass-word write-in
condition

End of pass-word write-in

This shows a pass-word is written
into P9.



(3) Correction and release during pass-word write-in

®In case of first 3-digit of a pass word are already input, the correction or release can still be possible
to be made, as follows.
(1) Press@ . All input characters will be erased. off.

(2) PressE8 . The input pass word will be released and the calculator will be back to the general
“"WRT" mode.

(3) Press Mwg(@) (or Mo @ or @08 (3) ), the input pass word will be released and the calculator will turn
to the keyed mode.

® Once 4-digit of a pass word is written in, no correction or release can be made.

®When can the pass word be called for?
® In the following cases the calculator will display likely ash’ 1pass....2ALPHAlGN] call for the

pass word. (This is called ‘“pass-word input condition’’).
(1) When a program with a pass word is assigned in the “WRT' mode. (When checking, addition,
deletion and correction of a program are made.)
(2) When are pressed for debugging a program with a pass word in the “RUN’" mode.
(3) When the deletion or erase is required for a program with a pass word in the *’‘PCL’* mode.
(4) When the execution of a programmed operation is connected to a cassette tape via the FA-1 and
only the program with a pass word is attempted to be saved on the tape.
® |n these cases, if the right pass word is input, the ““pass-word input condition’’ will be released,
allowing each step to be advanced. If the wrong pass word is input, the calculator will go back to the
""pass-word input condition’, again, calling for the pass word.
*In case of the ""pass.word input condition’’, even though no pass word can be found:

(1) Press B8 . The calculator will return back to the condition just before the mode has been
changed.

(2) Press @8 (@] (or (g @ or oot) (F) ).
Further, if the calculator becomes the "‘pass word input condition” in the “RUN’’ mode, pressing g

can advance the program, but no program check by @) can be made during its halt. (No program
check can also be made with a pass word during its execution.)

mHow to erase a pass word.
® |n case of erasing only the “pass word'’ of a program:
(1) Put the calculator in the ““PCL" mode (#8(3)).
(2) Press Pdwhich has a pass word expected to be erased off.
(3) Input a corresponding pass word.
(4) Press@.
(5) Press g (@D (""RUN" mode) or M@ (""WRT’ mode).

® |n case of a program with a pass word to be erased:
(1) Put the calculator in the ““PCL" mode (Mg 3)).
2) Press B which has a pass word expected to be erased off.
3) Input a corresponding pass word.
4) Pressf®.
5) Press (“"RUN" mode) or Mm@ (“WRT" mode).

(Reference):

If WM are pressed in the "PCL"" mode, all the programs (®9 through 9 ) including a program with a

pass word will be cleared.

* No program number can be changed for any program with a pass word. First, erase off only the pass
word (see above), then, change the program number (see page 37), and finally, assign a new proper
pass word to this program.
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e |t is suggested that you draw a flow chart which represents a sequence of events occurring when a
calculation of interest is executed.
The flow chart will usually be drawn with symbols as follows:

--------- Beginning of a program
---------
No Test a condition
(eg.,x=0,x20,x=F, x2F)

Yes
Calculation | --+c----- Execute arithmetic operations

Subroutine
«—— e Unconditional jump GOTO N
BN L R Destination of a jump LBL N

---------
......... End of a program



There are four kinds of jump commands as follows.
(1) Unconditional jump to a designated destination: GOTO, LBL

(2) Conditional jump which reads and skips the next command, depending on the contents of the X-

register (display): x=0, x20, x=F , x2F

(3) Conditional jump (count jump) which reads and skips the next command, depending on the

contents of the Mn-register (independent memories): DSZ, ISZ

(4) Subroutine unconditionally jumping to the designated destination and returning back: GSB

These commands can be used independently or in combination.

m Use of Unconditional Jump

© GOTO N causes control to jump to LBL N of the program uncondi-
tionally.

o N is adigit of O through 9.

e GOTO N and LBL N can be used anywhere in a program, and 10
pairs of jumps can be used, depending on values of N.

® More than one GOTO N with a same number can be used in a pro-
gram, while LBL N with a same number is limited to only one to
be used in a program,

e In case of no LBL N destined for GOTO N, execution of the pro-
gram results in error.

o|f M ( @ through @) ) are pressed manually,-manual jump is
made. If no LBL N is destined in this case, it results in no command.
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Program

GoTo4

LBL4

GoTo2

Jump

LBL2

GoTo2

GoTo 2

= Use of Conditional Jump

e For the conditional jump, if a comparison between X-register (displayed value) and “‘numeral
0" or ""MF-register value'’ results in ‘“Yes’’, the next command can be read in, while if “No”,
the next command (the whole alpahbetical-comments, if so) can be skipped out.

® There are four commands of this type as follows.
x=0: Test is made if the content of the X-register is zero.
x20: Test is made if the content of the X-register is zero or positive.
x=F: Test is made if the contents of the X- and MF-register are equal.
x2F: Test is made if the content of the X-register is equal to or greater than that of the

MF-register.

e®Basic programming

Example 1: |If data in MO4 is zero, jump to LBL 1:

...... MRO4 ,INVZ=0,GoTo 1,---------LBL T ------
*LBL 1 may be before GOTO 1.
MRO0O4
Y
0 M04=07 >
NO GoTo 1 JIYes
. B NO
LBL1 LBL1
/:\/
Example 2: |f data in MO4 is other than zero, jump to LBL 1:
----- MR 04, INV 2=0 ,GoTo 9 ,GoTo 1 ,LBLOQ ,---------LBL T ,-+-----
*LBL 1 may be before GOTO 1.
=0 —
NO aooo < Yes
NO
GoTo1
: Yes
LBL 1 LBL1
;/_\_/




Example 3: |If data in MOb is zero or positive, execute program A, while if negative, execute program

------ MRO5, INV 120, Goo 9 , [ Program B |GoTo 8, LBL9,| Program A |LBL8 -
N

MRO5
20 1
NO GoTo9 (__j Yes Yes

M05=0?
~

GoTo 8
LBL9 Program B

LBL9
Program A

: LBL8
LBL8

Example 4: |f data in MO5 is positive, display the alphabetical comment, while if zero or negative,

skip it.

~~~~~~ MRO5, INV =0 ,GoTo 9, INV 120, INV ‘AL, 2Phabetical ‘yuy py- 1B g ...

/ comment

MR 05

=0 —
NO GoTo 9 L ves

20—
NO “Alpha.” <—:] Yes

LBL9

*For an alphabetical comment,

the whole commands (INV
“AL—INV AL") is regarded
as one.

NO

Alphabetical
comment

\/\/ LBLO

Example 5: To retrieve the largest value registered among MO 1 through MO3.

..... MR O1,MinF , MR 02 ,INV 22f , MinF ,MR 03 , INV 12f ,MinF ,MRF ,HLT ,---

MR 01 MO1—>MF
MinF
MR 02 @ NO
2F  —
) j Yes
NO MinF <« Yes
_
MR 03
MO2—>MF
x2F —
. tes
NO MinF <« |
MRF NO
HLT
Yes
: MO03—MF
/—:\/

F

A
y

(Reference)
In case of retrieving the smallest value registered among MO1 through MO3:

------ MR 01, % ,MinF,MR 02 , % ,INV 22f ,MinF ,MR 03 , % ,INV 12f ,MinF,
MRF,% ,HLT, .........



Programming examples, using the conditional and unconditional jumps m Conditional Jump (Count Jump)

Example: To obtain the roots of quadratic equation in different ways for real and imaginary roots. e There are 1SZ of positive count and DSZ of negative count in the commands of this type, and both
use M 00-register (Memory No. 00).

@ 1SZ adds ‘“+1" to the content of the M 00-register, while DSZ deducts "—1"” from the content of the
M 00-register. |f the content of the M 0O0-register is not zero, the next command is executed; other-
wise it (the whole alphabetical comments, if so) is skipped.

e |f a same program is repeatingly used (this is called a loop), these commands are very useful.

Coefficients
No. Equation Roots
a b c

(1) 8x*2+ 6x+ 1=0 6 |1 (—0.25, —0.5)

8
. Exampless To run in aloop 7 times.
(2) 2x2+26x+89=0 2 |26 (89 (—6.5 + 1.5i)
2

With DSZ: «-------- 7 .Min00 ,LBL 1 ,--coeeeee INV DSZ, GoTo 1, --------

(3) 2x?-28x+98=0 -28 |98 ( 7 )

: |
e Solution: The roots of ax? +bx +¢c=0 are x = —_b%@ where, D = b% — 4 qac /\/‘
a _ 7 7 — MOO
e Programming ( @83 ) “ Min00 LBL1 |
LBL 1
. . . . : The program in 7 times
PO HLT,Min 01, HLT, MinO2, HLT, Min03, abc input 6t }_—_— this area is _ )
2, X ,MRO1, = ,Min05 24 calculation e imes : executed 7 times 5 6 times
7 1’ ’ ’ ’ DSZ
— (MooO—
MRO2,INV 22, — , 4, X , 1 M00*0 Galo 1 M00=0 MO00=0
Y(b% — 4ac) calculation 2a - MO5 .
MRO1, X ,MR0O3, = ,Min04, J b* — 4ac > MO4 M00=0
INV 120, GoTo 1, To LBL 1 when D20 T
LBL2,MRO2, %, + ,MRO5, = , INVPAISE, o Moazor > TeS
Repeating displays ) . Z- +. Min0OO LBL 1 --- G 1
MRO4 % INVv— = MROS. = of the real and im. With ISZ: ----ve--- 7 ., % ,Min , JETTRRRES INV ISZ , Golo JRTTTPRRS
ro re v aginary  number LBL 2 _—
INV'AL, INV 3 , INV SPACE, INV T, INVAL;, | Parts (with “7" dis- :
, , , , ' | play) of imaginary Real number part 74
roots of imaginary root - -7 .
INV PAUSE , GoTo 2, 7 —>MO0
' Min00
LBL1,MR02, %,+,MRO4,|NV\/-, =, ‘l Display of real LBL 1
J Real root 1 number part - 1 Th )
. = : 'e program in .
+ ,MRQO5, =, HLT, Traginary number 6 times : I—_ thisareais 7 times 6 times
MR02 - MRO4 INVy/ = Poagt‘of imaginary . executed 7 times
! " ' Y lF{eal root 2 MO0 0 1Sz
+ MRO5, =, HIT, J GaTo 1 M00=0
number part .
64 steps :
LBL 1 /\/
e Execution ( fog)(1) ) R
eal root
(I) (2) (3) calculation
8 @ 2 @ 2 @ Display of (Reference) . . . .
6 [0 260 28 @ real root Use of ISZ for programs which requires counting saves steps. In this case, M 00-memory should be
= used for counting. If it makes 1 M+00, “’1°* always remains in the display (X-register). However, dis-
| — —0.25 89(ex— —6. 5and 1.5 98 (g — 7 play remains unchanged with the use of I1SZ, and **1" increases only inside the M 00.
are displayed Real ITOQI
Bg— —0.5 alternatel &g —7 coen e
y at

interval of
about a second.
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Display of
real root
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= Use of Subroutine (GSB)

A program may consist of a main-routine and subroutines. The main-routine composes the central
framework in programming. A subroutine is a self-contained part of the main-routine, which can
be incorporated as many times as necessary. It can also be incorporated anywhere in the main-routine
and even in different ones. In other words, a subroutine performs a certain self-contained part of
job which may be requested many times in the main-routine. Use of subroutines makes programming
easier and reduces the number of steps.

Main-routine Subroutine

P.O /——> P3
GSBP3 — :

GSBP2 ——1> P2
: <«

.

.

GSBP4 —1|
: <«

—> Ff4 /—> P.1 /—> F>'5
ip1 | GSBP5 — :
GSB P1 = : (_\

f

1st level 2nd level 3rd level 4th level

® Once GSB Pn are incorporated in a program, they jump into other Pn programs wherever requiring,
from their assigned locations. After completing the execution of destined program, they return back
to the steps of original program, which are the next to their departure.

o Pn is any one of P1through P4 or INV P5 through INV P9.

® GSB Pn may be located anywhere in a program.

Note: In case of GSB Pn to be located in a pair of parentheses, if a closing parenthesis not being a
pair with an opening parenthesis or equal sign is assigned on a subroutine, the main-routine is
closed with a parenthesis.

e |f program Pn which is referred to by GSB Pn is undefined, execution results in error.

e GOTO N and LBL N used in a subroutine are effective only in that subroutine.
(The destination of jump GOTO in a main-routine cannot be located in a subroutine.)

® To call another subroutine out of a subroutine will be possible up to 9 levels, but above them, GSB
command will be disregarded.
(Subroutine depth (=level) is up to 9th level.)
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Program incorporating subroutines . . .
Example: Let's make the common part of the “‘regular octaheQron and ‘‘regular tetrahedron” pro-
grams (exampled on pages 30 and 33) into the subroutines.

Regular octahedron: PO HLT ,Min F ,2, X ,GSB INVP9 , 3,GSB INV P8  HLT, 8 steps
Regular tetrahedron: P1 HLT ,Min F,GSB INVP9 , 1, 2 ,GSB INVPS8 , HLT, 7 steps
Subroutine:INVPS 3, INVv~, X ,MR F,INVx2, = HLT,2 ,INV v~, <, 10 steps
Subroutine: INVP8 X ,MR F,INVxY, 6 3, =, 5 steps
PO P1
HLT — P9 HLT
MinF 3 \ Min F
2 v — GSB P9
x X — 12
GSBP9 — | _ _/— GSB P8
3 /—» HLT
GSB P8 P8 <«
HIT < x

The total number of steps of the two main programs are 43 steps (21 + 20 + 2 (PO, P1) = 43), ar_wd it
is reduced to 34 steps (8+ 7 + 10 + 5+ 4 (PO, P1, INV P9, INV P8) = 34) by using the subroutines.
Operation remains unchanged as described on pages 32 and 35.
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IND is the command of indirect addressing for designating a register or a destination of jump. Tactful
use of this indirect command function greatly contributes to the efficient programming.

® Indirect Addressing of M -register

® Use IND together with register commands (X< M, Min, MR, M—, M+) to assign the My-register in-
directly.

e INV IND, M+n (n: 2-digit) will address a register indicated by the content of the My-register to
execute M+, (The same effect can be produced even by step-by-step operation.)

e |f another memory command is assigned in place of above M+, each of them can be executed.

Example:
INV IND X<M 08 executes X<>M 05 when 5 is located in M 08.

® 1" isany one of 00 through 79 (maximum) and F, 1F through 7F (maximum).

e |f the My-register contains a number other than 00 through 79, top 2-digit above the decimal point
without minus sign can be registered. However, if such numbers to be registered exceed the memory
capacity, the execution of indirect addressing commands will result in “M Error”’,

Example 1: |f —156 is located in M 08, INV IND MR 08 will execute MR15.

Example 2: |If —2.56 is located in M 08, INV IND MR 08 will execute MR 02.

| |[ndirect Subroutine

e INV IND GSB 0O will call a Py program identical with the content of the memory No. 00 { MQO-
register) as a subroutine.

Example: If 3 is located in M 0O, INV IND GSB 0O will execute GSB P3.
e |f a number other than O through 9 is located in M0OO, “n* of Py can be determined with the top

digit number above the decimal point without minus sign.
® INV IND GSB 0 will be disregarded if no relevant Py program is found.

PO (1f 3 is located
in M 00)

P1

IND
GSBO

2

® |ndirect Jump

e INV IND GOTO 7 is the command of jumping to a LBL # identical with the content of the memory
No. Op (M Op-register).
® ‘N’ isany one of O through 9 (1-digit number).

Example: If 5is located in M 03, INV IND GOTO 3 will execute GOTO 5 to jump to LBL 5.

T
IND
GoT.o3

LB-L3 (If 5 is located in M 03,
GOTO 5 will be executed.)

LBL 4

LBLS
e |f a number other than O through 9 is located in My,” 1" of LBL 7 can be determined with the
top digit number above the decimal point without minus sign.
Example: If 0.1 is located in M 05, INV IND GOTO 5 will assign “0"" to *“n"" and jump to LBL O.
e INV IND GOTO 7 will be disregarded if no relevant LBL 7 is defined.

® [ndirect Count Jump

e INV IND INV ISZ or INV IND INV DSZ will cause ISZ or DSZ to operate on the memory register
designated with the content of the memory No. 00 (M 00-register). According to the resulting con-
tent, judgement will be made whether to execute or skip the next command (the whole alphabetical
comments, if so).

Example 1: |f 5 is located in M 00 and 100 in M 05, INV IND INV DSZ will decrement 100 in M 05
to 99.

Example 2: |f 3 is located in M 0O and —1 in M 03, INV IND INV ISZ will increment —1 in M 03 to
0", skipping the next command.

® For the Mp-register to be assigned when a number other than O through 79 is located in M 00, see
“Indirect addressing of Mp-register”’.

56



[2:?3‘ Elementary Programming e

Example 1: To obtain the sum and difference between the largest and the smallest numbers out of
various input data: (X > F)

® Program ® Flow chart

PO 9,EXP, 9, 9,Min02, ¥, Min 01,
LBL1,MR O1,Min F, AC, HLT,

INV x2F, Min 01, Min F, Initialization
MR 02, INV 12f, MR F,Min 02,GoTo 1, 20 steps 9X [0%->M02
P1 MR 01, +,MRO02,=,INV‘AL, S, -, -9X 10%->MO1
INV ; , INVSPACE, INV 4, INVAL", HLT,
MR 01, —,MR 02, =,INV‘AL, D, -,
INV ; , INVSPACE, INV #, INVAL, HLT, 24 steps MO1— MF
L
e Operation Data— X
Data (exg
Data (exg
Repeat this.
At the end x— MF
Bi)— Sum M02 — x

(ex) —— Difference

x —->MO02

]

* The flow chart of program P1 is omitted.
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Example 2: To input the classification codes (1 to 9) and data, and to summarize data per code:

(IND, DSZ)
e Program ® Flow chart
LBL1, AC,HLT, —, 1, O, =,Min00, AC, HLT,
-INV IND, M+00, GoTo 1, 14 steps

Memory all clear

P1 9,Min00,
LBL1, 1, O, —,MROO, = ,INVAL,INV #,
INV :, INVAL”, INVIND, MROO,
INV'AL,INV ; ,INV # | INVAL, HLT,
INVDSZ, GoTo1, 21 steps

|
|

Code

l

Code 10 -~ M 00

L

Data
e Operation |
Data— M+ n
Code (exg —__l
Data @
At the end
--------- Sum of code 1 data
9—- MO0
(Exg----eeeee Sum of code 2 data
@ ~~~~~~~~~ Sum of code 9 data

Result
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Example 3: To input data into nine (1 through 9) M-registers sequentially and display the data. Example 4: Decimal-hexadecimal conversion

* Program e Flow chart ® Program
PO 9, Min0O, INVP9 Min06, (, 1, 6, Min09, 2, INV 10%, MinO8, GSB INVP8, ), 10steps
LBL1, AC, HLT, INV IND, Min00, P4 Min06, (C, 2, INV10*, Min09, 1, 6, Min08, GSB INVP8, 2,  10steps
INV DSZ, GoTo 1, INVP8 O, Min00, («,

9 M 00 LBL1, INV ISZ, (, (,MRO6, =, MRO9, ), Min06, INV FRAC, X, MROO,
), INV IND, Min0O, MR 06, INV INT, Min 06, INVZ=0, GoTo2, GoTo] ,
LBL2, INV IND, M+00, (, INV IND, MROO, X, MRO8, 0, INV DSZ, GoTo2,

9, MinQ0,

LBL2, INV IND, MROO, INV PAUSE,

|
|

17 steps .
INV DSZ, GoTo 2, Data +,MROS8, ), 38 steps

* The ranges of input and output data will be as follows.
—655359 < Decimal number £ 1048575
Data— My —9FFFF < Hexadecimal number < FFFFF
The key can be used as the decimal-hexadecimal conversion key for arithmetic operations like other

function keys.
® Operation
M00=0 e Operation
Data 1 (09 mM00=0 Decimal 1234 is hexadecimal 4D2.
Data 2 (exg)

8 times ‘

1234 WPg— 4:13i02
: 9 - MO0 Decimal —600000 is hexadecimal —927C0.
DataQ [Exg:----- Data will be displayed oy Y o } ; i !
ata9 [ sequentially at interval 600000 m™es 902i07:12:00
of a second.

Hexadecimal A2B3 is decimal 41651.
10/02/111:03F3— 41651
Hexadecimal 3FC5 + 77ED is hexadecimal B7B2.

3i15/12:05F3€3 7:07:14]13FA@®™EI — 11/07:1 1/ 02

Decimal Hexadecimal Decimal Hexadecimal
0 00 8 08
1 01 9 09
2 02 10 A
3 03 1 B
4 04 12 Cc
5 05 13 D
6 06 14 E
7 07 15 F
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e Flow chart

Decimal to
Hexadecimal

Initialization
16— M09
100—MO08

Subroutine P8

( Hexadecimal ’

Hexadecimal to
Decimal

Initialization
100—MO09
16—MO08

Subroutine P8

( Decim )

Subroutine

=

M 00: Counter

Remainder
calculation

Remainder—Mp

Adjustment for
figure position

Completed?

Correction of
adjustment for
figure position

Conversion of decimal 1500 to
hexadecimal 5DC

1—=MO00 1500 + 16 = 93 Remainder 12 ->M 01

2—-MO00 93+ 16= 5 Remainder 13— MO02
3—MO00 5+ 16 = 0Remainder 5-—>MO03
!
ToLBL?2
5 x 100 2 - M 00
(5x 100+ 13) x 100 1—-MO00

[(5x 100+ 13) x 100+ 12] x 100 0—M 00

4
End of repetition

[(5x 100+ 13) x 100 + 12] x 100
100
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tan

(214 RoundingofData
Arithmetic Functional operation
operation

sin cos tan sin' cos'

t _) ; - sinh cosh tanh sinh' cosh' tanh’
— i log In 10 € v~ Y& x* x!
RP PR

\ . F————————-

itup.
Example:

12-digit of internal operated mantissa part:
If 11th and 12th numbers fall in 92 to 99, round

1.23456789092 — 1.23456789100
If they fall in 01 to 07, cut it off.

Example: 1.23456789106 — 1.23456789100
If they fall in 08 to 91, leave them as they are.

Power: Root

x¥ x

o

]

Results are of

having the
effective digits
more than ten.

decimal numbers

(Integer) Integer!

Rounding up
at the first
decimal place.

Statistical

operation:
Memory
operation 10-digit

\

Display

Rounding off at 11th digit.
(Leaving the inside as it is.)
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Display
10-digit

(inside is also 10-digit)
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The instruction manual of the FA-1 tape recorder adaptor describes how the adaptor operates with
CASIO FX-501P/502P, but the FA-1 operates basically as well with the FX-601P/602P. When you use
FA-1 with these calculators, however, be aware of the following differences. The FX-601P/602P are
improved for easier operation and more recognizable messages.

 Saving, Loading, and Checking

(D Programs and Data can be saved at the same time, and loaded at the same time.

The FX-501P/502P cannot save, nor load programs and data at the same time, but the FX-601P/602P
can.

® To save programs and data at the same time on magnetic tape:

1. Press , 3., , and in this sequence, and input a three-digit file number or a file name
(described later). Note that when (@) is pressed after , the "PCL"’ lights.

2. Start the tape recorder in the recording mode. '

3. Press W , and then @9 .

4. The saving process is completed in about 36 seconds.

® To load programs and data at the same time from a magnetic tape to the calculator:

1. Press moog , @) , W, and @Y in this sequence, and input the file number or file name given at the
time of saving. Note that when (& is pressed, the "PCL"" lights.

2. Start the tape recorder in the playback mode.

3. Press @ , and then @9 .

4. The loading process is completed in about 31 seconds.

* When loading programs and data together, the pressing of Mg (program all clear) is not needed.

As for the FX-602P, you don’t have to assign the number of registers (memories) when loading,
because it is done automatically.

NOTE: When you assign the number of registers (memories) while saving from the FX-602P, avoid
numbers of which the first digit is 4 (ex. #g &) @ beeeee B @, ).
These numbers will cause a memory error (displayed ‘M Error”’) when loading. If this
happens, change the number from 4 to another number.

@ File ID can be an alphanumeric character string of six characters or less, or a three-
digit number.

The FX-501P/502P use a three-digit number to identify a file. The FX-601P/602P accept alpha-
numeric character strings of six characters or léss as well as three-digit numbers.

(Example) To save a program with the file name of “ABC-3"".

@ ﬂ@ Start the tape recorder @
\ J in the record mode.

Alphanumeric character string
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(® The messages to indicate save, load, and the completion of save and load have been
made easier to recognize.

The FX-501P/502P display the file number only in the loading process—not in the saving process; the

completion of saving and loading is indicated with *'0.”

The FX-601P/602P display the file name (number) while both saving and loading. The completion of

saving or loading is indicated by re-displaying the previous reading.

® While saving (or loading) programs, the display reads:
PF_,ABCDEF (File name: ABCDEF)
space
e While saving (or loading) data, the display reads:
DF ., 123. (File number: 123)

e While saving (or loading) programs and data, the display reads.
AF_,_,ABC-4 (File name: ABC-4)

e After saving (or loading) is completed, the reading that was shown before the pressing of (or
™) @8 ) will be displayed once again—i.e.; the reading right after the pressing of ®8 & (or
@).

® The message “OP Error” appears when save or load does not work properly.
While the FX-501P/502P indicate the malfunctioning of save and load by displaying “E.”, the
FX-601P/602P indicate it by displaying ‘“OP Error (option matching error).”

NOTE: If the program being loaded from a tape exceeds the size of the program area (the number
of steps assigned) in the FX-602P, the calculator displays ""OP Error’’ and clears the program
loaded so far.

If the data being loaded from a tape exceeds the number of registers (memories) assigned,
the calculator displays “OP Error,” but does not clear the data loaded so far.

(D Tempo values assigned to the tempo codes have been changed.

For the FX-601P/602P, use the following table for an appropriate tempo code to be put in the F
register.

Tempo code 0 1 2 3 4 5 6 7 8 9
(F register)
Tempo (J %) 40 80 120 160 200 240 280 320 360 400

(2 Dotted notes (ex. J.) are programed as two notes tied together using the @ key.

The FX-501P/502P use periods ( (3 key) to program dotted notes; the FX-601P/602P cannot. Use ties
( 8 key) to program them.

(Example) .D (= Dﬁ) is programed as (i GG .

N—

NOTICE:

The music section of the program library may not include the above change. If so, please use the above
information.
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The programs developed by the FX-501P/502P can be loaded on the FX-601P/602P as long as the
program size is equal to or less than the program area of the memory.

However, be careful of the difference in memory address—F X-602P has a two-digit addressing
system.

The following chart shows which calculator can load programs saved from which calculator.

501P 501P O 601P O 601P

502P 502pP 602P 602P

The symbols used in the chart indicate the following:

) Can load with no special care.

Can load programs of 128 steps or less, and data for 11 registers (memories) or less.

The program area of the FX-602P must be 128 steps or greater.

Can load programs of 128 steps or less, and data for 11 registers (memories) —if the data exceeds
that point, the message “OP Error’" appears.

QLI

D' Secure MOO through M67 for registers, and 128 steps for program. (The instruction is (g (-] (€)
2
&) Can load programs of 128 steps or less, and data for 11 registers (memories)—if the data exceeds
that point, the message ""OP Error’’ appears.
Can also load programs and data at the same time, if the programs and data have been saved with
~ the instruction OB . However, the loading process ends with the message "'OP Error.”
B Assign 256 steps for program, and 20 registers (memories) or more for data.

G If you are loading programs and data separately, set the number of registers and the number of
steps for the program to the values with which the programs and data are loaded.

NOTE: No “path” other than specified in the chart is allowed.
For instance, data (or program) transfer through the path of FX-502Pfape” tape [ X- 602PTpe*
FX-502P cannot be done because the second arrow is prohibited.
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m Basic Features

Basic operations: Arithmetic operations (addition, subtraction, multiplication and division with capa-
bility of judging priority of operation), negative numbers, exponents, 33 parentheses at 11 levels
and constants.

Built-in functions: Trigonometric and inverse trigonometric functions (with angle in degrees, radians
or gradients), hyperbolic and inverse hyperbolic functions, logarithmic and exponential functions,
inverse, factorial, square root, square, raising to power of high orders, extracting roots of high
orders, decimal < sexagecimal conversion, coordinate transformation (rectangular to polar and vice
versa), absolute value, removing integer part, removing fraction part, percentages, random number,
.

Statistical functions: Standard deviation (2 kinds), mean, sum, square sum, number of data.

Memory: 5-key independent memory, 22 ~ 88 (maximum) registers (nonvolatile).

Range of number: +1 x 107°° to £9.999999999 x 10%° and O, internal operations use 12-digit man-
tissa.

Decimal Point: Full floating with underflow (possible display of engineering floating decimals).

® Programming Features

Number of steps: 32 ~ 512 (maximum) steps (nonvolatile).

Jump: Unconditional jump (GOTO) up to 10 pairs, conditional jump (Xx=0, X20,x=F, Xx 2 F),
count jump (1SZ, DSZ), subroutine (GSB), up to 9 subroutines, up to 9 depths (levels).

Number of programs storable: Up to 10 (PO to P9)

Checking and editing functions: Check, debug, deletion, addition, etc.

Indirect addressing: For M-register, destination of jump, calling subroutine.

Miscellaneous functions: Manual jump (GOTQ), temporary suspension of execution (PAUSE), com-
mand c7de and step number displayed during check, FA-1 adaptor (option) for cassette tape re-
corder /0.

e Capacity: Input range Output accuracy
Entry/basic calculations: 10-digit mantissa, or 10-digit mantissa plus 2-digit exponent up to 10*°°.

Scientific calculations:

sinX, cosX, tanX | x| < 1440° (8 7 rad, 1600 gra) +1 in the 10th digit
sin™'X, cos™'x Ix1£1 — =
tan™'x - —
logXx, InXx x>0 —
10* X <100 - —
e x £230 _ =
sinh X, cosh X Ix1 <230 S —
tanh X — =
sinh~'x x| £10%° — =
cosh™'x 1<x<10% - =
tanh™'Xx Ix1<1 — =
NE3 x20 -
x¥ X< 0-Y: integer o
xy X < 0-y: odd number - =
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x? x| < 10%° - —

1/x xX#0 —
x! 0 < x £ 69 (x: natural number) - =
R—->P x2+y2 < 10!00 o
P-R 161 < 1440° (8 7 rad, 1600 gra) - —

Decimal to sexagesimal Within £277777 — -

e Display: 10-digit mantissa (including negative sign), 2-digit exponent, liquid crystal, possible sex-
agesimal representation, INV, hyp, K, HLT, RUN,WRT, PCL, DEG, RAD and GRA modes displayed.
Character display: Maximum 11-digit display of program command, comment, etc.

Applicable character: Alphabet, capital or small, numerals, signs, special characters; 86 in total.

® Error check function: Overflow (10'°® or more) and fatal error for execution detected (“‘Error’”
displayed).

® Power consumption: 0.0018 W (Calculator alone)
0.0024 W (With FA-1 adaptor)

® Power source: 2 lithium batteries (CR-2032).

The calculator gives approximately 660 hours (500 hours with FA-1 adaptor) continuous operation
on type CR-2032.

® Auto power-off: Automatic cut-off of power supply in about 6 minutes after end of operation.
e Ambient temperature range: 0°C — 40°C (32°F — 104°F)

® Dimensions: 9.6mmH x 71TmmW x 141.2mmD (3/8"'H x 2-3/4"W x 5-1/2"'D)

® Weight: 100 g (3.5 0z) including batteries.
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GUIDELINES LAID DOWN BY FCC RULES FOR USE OF THE UNIT IN THE U.S.A.
(not applicable to other areas).

A.

This equipment generates and uses radio frequency energy and if not installed and used properly, that

is, in strict accordance with the manufacturer’s instructions, may cause interference to radio and

television reception. It has been type tested and found to comply with the limits for a Class B

computing device in accordance with the specifications in Subpart J of Part 15 of FCC Rules, which

are designed to provide reasonable protection against such. interference in a residential installation.

However, there is no guarantee that interference will not occur in a particular installation. If this

equipment does cause interference to radio or television reception, which can be determined by

turning the equipment off and on, the user is encouraged to try to correct the interference by one or

more of the following measures:

. ... reorient the receiving antenna

.. .. relocate the computer with respect to the receiver

. ... move the computer away from the receiver

....plug the computer into a different outlet so that computer and receiver are on different branch
circuits.

If necessary, the user should consult the dealer or an experienced radio/television technician for

additional suggestions. The user may find the following booklet prepared by the Federal

Communications Commission helpful: ‘““How to Identify and Resolve Radio-TV Interference

Problems’. This booklet is available from the US Government Printing Office, Washington, D.C.,

20402, Stock No. 004-000-00345-4.

B. When connected with the mini-printer FP-10 (on sale in the near future).

WARNING — This equipment generates uses, and can radiate radio frequency energy and if not
installed and used in accordance with the instruction manual, may cause interference to radio
communications. As temporarily permitted by regulation it has not been tested for compliance with
the limits for a Class A computing device pursuant to Subpart J of Part 15 of FCC Rules, which are
designed to provide reasonable protection against such interference.

Operation of this equipment in a residential area is likely to cause interference in which cause the user
at his own expense will required to take whatever measures may be required to correct the interference.
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Felicitaciones por haber comprado esta calculadora cientifica programable.

La extradelgada calculadora electronica de bolsillo con presentacion alfanumérica esta
capacitada para efectuar céalculos comunes paso a paso y programados, y valores de
computo de 50 funciones diferentes. Esta unidad posee una gama variable de capacidad
de entrada, desde 32 pasos de programa con 88 memorias independientes hasta 512 pasos
con 22 memorias. Estas combinaciones pueden seleccionarse opcionalmente para ejecutar
una programacion eficaz.

El adaptador FA-1, accesorio opcional, permite la conexion de una grabadora de casete a
la calculadora para almacenar programas y contenidos de las memorias en cintas
magnetofonicas con el fin de recargarlos posteriormente.

. Debe temrse mucho w;dado m méezatm o 6@%&43 amdad«mmﬁe podrfa
~_romperse. No la lleve, por eyeﬁpfo; en fos”bosfﬁos’zmﬂms det pam:atén. . .
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Antes de usar la calculadora

La calculadora ha sido sometida a un control e inspeccidén de calidad muy rigurosos. Rogamos tener en
cuenta los puntos siguientes para asegurar un servicio prolongado libre de fallas.

mPrecauciones

® Nunca desarmar la calculadora debido a que estd compuesta por piezas electronicas delicadas. No
exponerla a golpes ni cambios bruscos de temperatura. Evitar dejarla o almacenarla en lugares
calientes, himedos o polvorientos. Cuando se la utilice bajo temperatura muy fria, la pantalla puede
funcionar lentamente o permanecer oscura. Sin embargo, se recuperard tan pronto como la
temperatura ambiente retorne a la normalidad.

® No enchufar ningan dispositivo en el enchufe del adaptador excepto el indicado.

® Cuando la calculadora presente el signo “—"' en el medio de una operacién, significa que todas las
teclas han quedado inefectivas excepto un nimero menor de ellas. Por consiguiente, hacer una regla
de la verificacion visual de la pantalla antes de presionar una tecla.

® Habituarse a cambiar las pilas anualmente aunque la calculadora haya estado en desuso. Nunca dejar,
bajo ninguna circunstancia, pilas descargadas en la calculadora porque pueden provocar pérdidas y
dafar la unidad.

® Para limpiar la calculadora, frotarla con un pafio suave y seco o con un trozo de tela embebida en
detergente liviano y luego estrujada.

® Para el servicio de reparacién pongase en contacto con el minorista o concesionario mas cercano.

sMantenimiento de las pilas
La calculadora es alimentada por dos pilas de litio (Tipo CR-2032).
Cuando las pilas se desgastan, las cifras de la pantalla se oscurecen. En tal caso, cambiar las pilas por

nuevas como se ilustra a la derecha. Siempre proceder al recambio anualmente aunque la calculadora
pueda estar funcionando correctamente.

®Cambio de las pilas

(1) Desactivar el conmutador de alimentacion. Extraer la tapa

del compartimiento de las pilas, ubicado en la parte

posterior de la unidad, aflojando el tornillo con un destornil-

lador (¥).

Extraer las dos pilas descargadas.

(Las mismas se pueden quitar facilmente orientando el

compartimiento hacia abajo y golpeando ligeramente la caja L

de la calculadora.)

Frotar las pilas nuevas con un pafio seco ya que la

contaminacién de las mismas por suciedad o substancias en

polvo pueden provocar un contacto eléctrico deficiente.

Instalarlas con los electrodos positivos mirando hacia arriba.

(4) Volver a poner la tapa del compartimiento deslizando q q
mientras se la presiona contra las pilas. Atorniilar cuidadosa-

mente. @

* Mantenga las pilas alejadas de los nifios. Si se las tragan consulte
a un médico inmediatamente.
Nota: Después de cambiar las pilas, verificar siempre el estado de
la memoria y contenidos de programas.

(2

o4

(3

= Adaptador FA-1 (Accesorio opcional)

Los datos de programa y memoria se pueden almacenar en una cinta magnetofonica y recargar
posteriormente en la calculadora cuando sean necesarios.

Para este propdsito, preparar el adaptador FA-1 (accesorio opcional) y una grabadora de casete. Casi
todas las grabadoras actualmente disponibles serviran al propdsito si cuentan con enchufes MIC
(Micréfono) y EAR (Audifono) o MONITOR, los cuales se hallan normalmente en este tipo de
unidades. Con este sistema Vd. podra entrar notas musicales y su duracion en la radiograbadora y
escuchar musica sintetizada y grabada por la calculadora.

Para mayores detalles, remitirse al manual de instrucciones del adaptador FA-1.
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La 12 Parte describe exclusivamente los calculos paso a paso. (Remitirse a la 22 Parte para los calculos
programados.)

- ]
o e 3
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Conmutador de m]]]

- - POWER
alimentacion

Pantalla

-

— Tecla de modo

Teclasde borrado total de
4 |la memoria/borrado de
desviacion standard

Tecla de funcidén inversa—f

Teclas de funciones

Tecla de entrada de datos__|
de desviacion standard

| Teclas de memorias/
funciones

— Teclas de borrado

Teclas numéricas/mando

| I Teclas de operaciones
aritméticas/funciones
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® Estructura de registro

Registro L,,

Registro X (Pantalla)

Registro M 00

Registro M 20

Registro M 30

® Se utiliza para operaciones aritméticas y calculos funcionales. (Los
simbolos y caracteres alfanuméricos son efectivos sélo en el registro
X.

® Se utiliza para cédlculos en cadena de expresiones entre paréntesis,
con prioridad automética de multiplicacion/divisién sobre suma/
resta.

Registro M 70

® Memorias independientes

Minimo: 22 memorias; maximo: 88 memorias (M 00 a M 79, MF, M1F

a M7F) (M 07 MO8 y M09 también se emplean para acumular los na-
meros de £x?, x y n en los calculos de desviacion standard.)

*En el caso (_je este manual de instrucciones, las memorias independientes se designaran generalmente
como *'Registro M,,"".
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<ON

power Conmutador de alimentacion

Deslizar este conmutador a la izquierda para encender la unidad. La informacion acumulada en los
registros M queda a salvo aun cuando se apague la calculadora.

Pantalla
Modos Unidades de dngulo  Modo alfabético
/ \/ \/ \
INV hyp K HLT RUN WRT PCL DEG RAD GRA ALPHA
Pantalla 'E “:- "::l T ..::E - 99
e B i e T

\ /\_/

Mantisa Exponente de 10

La pantalla muestra los datos de entrada, resultados intermedios y resultados de operaciones. La
seccion de la mantisa, que emplea matriz de punto, presenta hasta 10 digitos (9 para los nimeros
negativos). El digito O se presenta como '* &', La seccion del exponente presenta hasta +99, y queda
en blanco cuando la cifra del exponente no es necesana También, la seccidon de la mantisa presentara
hasta 11 caracteres de datos sexagesimales, caracteres alfabéticos y simbolos tal como se ilustra a
continuacion.

® Presentacion de datos sexagesimales:

(1) .

'E .-u= ™ n:u K] :=
H Ul 1) )
H 0 s saemn
. . .. .

[LUE T T () .

® Presentacion de caracteres alfabéticos en mayusculas:

g g g ot 1t

H HO)
e i T T H
ser® Sua® deees § T T Y

® Presentacion de caracteres alfabéticos en minasculas:

. . . . -
w2 sl ese 1" wees s m s 8
B o B N O
o S SR LTI B B I e

® Presentacion de datos simbolicos:

T S
oo sones L e 12 P Poa 4
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W) : Tecla de funcion inversa

Para ejecutar un mando de funcién o una funcién marcada por un simbolo marrén en el teclado, o
para presentar los caracteres alfabéticos en minusculas o los simbolos enmarcados por una marca
marrén LJ", presionar W y la tecla de funcidn respectiva.

Cuando se presiona la tecla W) en la pantalla se lee ““INV''.Presionar la nuevamente para borrar la
funcion inversa (el signo "INV’ desaparece). Luego, el modo previo se repone automaticamente.

: Tecla de modo/selecciéon del modo alfa
® Emplear la tecla M08 junto con una tecla numérica de (Ja By la tecla (-] para seleccionar un modo
especifico de operacion o una unidad de angulo.
La pantalla indica “RUN’". La calculadora estd lista para la operacidbn paso a paso y
programada.
M08 (@) La pantalla indica “WRT"". La calculadora estd lista para escritura y verificacion de programa.
Mog (3) La pantalla indica “PCL"". La calculadora esta lista para borrar programas.
* Remitirse a la 22 Parte para los modos WRT y PCL.
Moog) @) La pantalla indica “DEG". Las unidades de &ngulos se dan en grados.
M8 (5) La pantalla indica “RAD". Las unidades de angulos se dan en radianes.
M08 (E) La pantalla indica “GRA". Las unidades de dngulos se dan en gradientes.
(Nota: 90 grados = /2 radianes = 100 gradientes)
* Cuando se activa el conmutador de alimentacion, la calculadora se hallard automdticamente en los
modos RUN y DEG. Una unidad de dngulo se puede seleccionar nicamente en el modo RUN.
oM (=) () : Para seleccionar memorias disponibles para el uso.
Valores numéricos de 20 a 80 (No funcionaran si se emplean otros valores numéricos.)

Por ejemplo, si se presiona WB(H@E , se presentard [MOO—24,F—IF472 |, haciendo
posible el uso de las memorias M0O0aM24y MFyM1F, o un total de 27 memorias. (472
indica los pasos de programa disponibles en este caso. Remitirse a la 228 Parte para los
detalles.)

oMmg () (1) Presionar estas teclas para encontrar el nUmero de memorias disponibles. El nimero se

presentara en pantalla.

® W @od - La pantalla presentarda “ALPHA" indicando que la calculadora estd en dicho modo (para la
entrada de caracteres alfabéticos). Este modo puede emplearse para presentar nimeros y los
cuatro coédigos de mando de las operaciones aritméticas, como asi también, los caracteres
alfabéticos y simbolos indicados en verde debajo de las teclas respectivas. (No es posible
calcular.) Si se presionan las teclas W) mientras la calculadora estd en el modo ALPHA,

se borrard la palabra “ALPHA" de la pantalla, volviendo la unidad al modo de operaciéon
normal.

M a®@),@),(=]): Teclas numéricas y de punto decimal
® Entrar los nimeros presionando las teclas correspondientes, del mismo modo que si se los escribiera
(comenzando desde el digito mas significativo). El punto decimal debe introducirse si es parte del
nuamero.
* Debido a que la mantisa tiene una capacidad méaxima de 10 digitos visibles (9 digitos en el caso de
nimeros negativos), la pantalla no presentarad ningun digito que rebase esta capacidad.
® W)R(): Para redondeo de un nimero
E— Valores numéricosde 1a 9 y O (O-se emplea para redondeo hasta 10 lugares).
Ajustar la calculadora para presentar el nimero de lugares deseados y el digito adicional
sera automdaticamente redondeado. Por ejemplo, si se presiona W9 (& [@ . el quinto digito
serd redondeado, dejando un nimero redondeado de cuatro lugares.
o) B (D : Redondeo de digitos de decimales seleccionados
™ __Valores numéricosde 1 a9 y 0 (No hay digito decimal para 0).
Ajustar la calculadora para presentar el nimero de digitos decimales deseados y el mismo
seré redondeado automaticamente segin la especificacion. Por ejemplo, si se presiona
M) EY@). la cifra serd redondeada a los dos lugares decimales.

em®y : Para generar un nimero aleatorio
Se generara un nimero aleatorio entre 0.000 y 0.999.

e, : Para calcular el valor medio (X).
. . 2 o

9 : Para calcular la suma dglcuadrado (Zx?). Se emplean para computar las desviacio-
e @& : Para calcular la desviacion standard (On). nes standard de diferentes valores. Remi-
e W@ & : Para calcular la suma (Zx). tirse a ‘’Célculos de desviacion standard”’
e @& : Para calcular la desviacion standard (Gn.1). | Para més detalles.

e MO : Para obtener el nimero de datos (n).
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©3: Tecla de exponente/entrada de pi

® Después de entrar los datos numéricos deseados en la mantisa, presionar seguida por las teclas de
nameros para especificar el exponente de 10.
Ejemplo: 2,56 x 103~ 2 (-] 56 B9 34
* La pantalla mostrarad un exponente de 10 de dos digitos hasta +99. Si se entra un nimero mayor

que un exponente de dos digitos de 10, se presentaran unicamente los dos ultimos digitos.

e Presionar la tecla para la ejecucion de esa funciéon. Si se presiona siguiendo W después de haber
entrado un namero, el calculo de pi se presentara en pantalla.

. Presionar esta tecla después de una tecla de memoria (=M, Mg, #), ®J o M9 ) para designar el

registro MF.

Ejemplo 1: Agregar 25 a los contenidos del registro M F: 25
Ejemplo 2: Para presentar los contenidos del registro M 1F: (/) (1

OB EA : Teclas de operaciones aritméticas/igual
® Emplear estas teclas para efectuar operaciones matemadticas. La secuencia de las mismas es
exactamente igual que las expresiones matemdticas comunes. Presionar la tecla B para obtener el
resultado final. Si se presiona una de estas teclas dos veces sucesivamente, el nGmero precedente
guedard memorizado momentaneamente como una constante. (Ver pagina 79.)
® Wgy : Mando para elevar nimeros a potencias.
Emplear estas teclas para elevar x (cualguier nimero) a la potencia de y (cualquier nimero).
e & : Mando para extraer raices.
Emplear estas teclas para extraer la y ava potencia de x.
® Weg3 : Mando para transformar coordenadas
Emplear estas teclas para ejecutar conversiones de rectangulares a polares.
® Mes : Mando para transformar coordenadas
5 Emplear estas teclas para ejecutar conversiones de polares a rectangulares.
e Mgy : Mando de porcentaje.
Emplear estas teclas para encontrar el porcentaje de un nimero, monto neto de suba o baja,
diferencia de porcentaje entre dos nimeros (relacidon de suba o baja) y porcentaje de un
total.

¢a: Tecla de borrado total

® Con excepcion de los registros Mn (memorias independientes), emplear esta tecla para borrar todos
los registros (incluyendo los registros X e Y, registros L para expresiones entre paréntesis, y para
borrar el modo ALPHA.)

® Cuando se presenta la palabra ‘‘Error’’, presionar esta tecla para borrar el mensaje de error de la
pantalla. (Ver pagina 76.) .

® Presionar esta tecla para reasumir la alimentacion automaticamente cortada por la funcion de
autodesconexién. (Ver pagina 76.)

[@: Tecla de borrado

Presionar esta tecla para corregir un valor incorrecto (incluyendo exponentes o unidades de dngulo) o
un caracter que se haya manipulado inadvertidamente, o para borrar los resultados de funciones en
cédlculos mixtos o los resultados en los cédlculos con paréntesis, inmediatamente después de haber
presionado la tecla errénea. Borra solamente los datos presentados (en el registro X), manteniéndose
los resultados intermedios. Si se presiona esta tecla cuando la calculadora presenta ‘‘( ) Error”
(rebosamiento del registro L para resolver expresiones entre paréntesis y calculos mixtos), el nGmero
que estaba en pantalla antes de la verificacién de error vuelve a presentarse, permitiendo reasumir los
célculos.

: Tecla de cambio de signo/valor absoluto

® Presionar esta tecla para cambiar en pantalla el signo de un nimero negativo o positivo distinto de
cero. Reserva el signo del exponente cuando se la presiona después de B9 .

® Presionar en secuencia (W) y esta tecla para obtener el valor absoluto de un nimero presentado.
(En el caso de este manual; se presentara como W & . De aqui en adelante, otras teclas de multiples
funciones se presentaran de la misma manera.)

INT e -
@J: Tecla de paréntesis/entero

® Presionar esta tecla para abrir el paréntesis (establecimiento de hasta 33 paréntesis en once niveles).
® Presionar en secuencia y para redondear los decimales del nimero presentado.
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FRAC
(9): Tecla de paréntesis/fraccion

® Presionar esta tecla para cerrar el paréntesis (establecimiento de hasta 33 paréntesis en once niveles).
® Presionar en secuencia (W y para extraer el decimal de un nimero presentado.

Xe¥

=) : Tecla de intercambio de datos de registro

® Presionar esta teclay una numérica o la tecla para intercambiar los contenidos del registro X
(NUmero presentado) y un registro Mn (memoria independiente).

® Presionar en secuencia W y para intercambiar los registros X e Y (niimero en el registro activo).

-

mq : Tecla de entrada a memoria/raiz cuadrada

® Presionar esta tecla y una numérica o la tecla para almacenar un nimero en el registro Mn. Los
datos almacenados previamente seran reemplazados por los nuevos.

® Presionar en secuencia W) y para obtener la raiz cuadrada del nimero presentado.

x?

MR): Tecla de llamada de memoria/cuadrado

® Presionar esta tecla y una nimerica para presentar el registro Mn. Este mando no cambia los
contenidos del registro.

® Presionar \ para obtener el cuadrado del nimero presentado.

Vx . . .

Mm9): Tecla de memoria negativa/reciproco

® Presionar esta tecla y una numeérica para restar el nimero presentado de los contenidos del registro
Mn. (Esta tecla no tiene la funcién de 8).

® Presionar en secuencia Yy para obtener el reciproco del nimero presentado.

x!

my: Tecla de memoria positiva/factorial

® Presionar esta tecla y una numérica para sumar el nimero presentado a los contenidos del registro
Mn. (Esta tecla no tiene la funcion de B).

® Presionar en secuencia y &) para obtener el factorial del nimero presentado.

DEL
(xJ: Tecla de entrada de datos de desviacion standard/anulacion
® Presionar esta tecla para entrar los datos de desviacion standard.

® Presionar en secuencia W) y para anular un dato que haya sido entrado durante los cdlculos de
desviaciéon standard.

IR

sin tan .. . P - P .

% : Teclas de la funcion trigonométrica y trigonométrica inversa

® Presionar una de estas teclas para obtener el valor de la funcién trigonométrica correspondiente
tomando al nimero presentado como argumento.

® Presionar en secuencia W) y una de estas teclas para obtener el valor de {a funcién trigonométrica
inversa correspondiente.

M8 : Tecla de funcion hiperbolica

® Presionar en secuencia M8 y la tecla @@, & o @ para obtener el valor de la funcién hiperbolica
correspondiente tomando al nimero presentado como argumento.

® Presionar en secuencia W, @) v k&, o @, (W y @, por ejemplo, para obtener el valor de sinh™!
tomando el nUmero presentado como argumento.

.77

@9: Tecla de ingenieria

Esta tecla se emplea para convertir todos los nimeros a ser mostrados con exponentes de 10 que son
multiplos de tres (10% = K (kilo), 10 =M (mega), 10° = G (giga), 107> = m (mili), 107® = u (micro),
10™° = n (nano), 10™ = p (pico)).

Ejemplo12.3456 12.3456 12.3456 12.3456

Ta. @ 1.23456 01 Ta. W& 1.23456 01

2a. ®| 12.3456 00 2a. W& 0.0123456 03

3a. ®| 12345.6-03 3a. W& | 0.000012345 O(;

4a. @] 12345600-06 4a. W& | 0.000000012 09

5a. 8| 12345600-06 | (Sin cambio) 5a. W& | 0.000000012 09| (Sin cambio)
9| 0.000012345 06
23 0.0123456 03

Tal como se ilustra afriba, cuando se presiona primero @ o W) @& , el nimero presentado se convertird a
su representacion de punto flotante basico (es decir, normalizado a 10). La presion subsecuente de (G
o de la secuencia de y hace disminuir o aumentar el exponente en mdltiplos de 3.

: Tecla sexagesimal (De conversion decimal a sexagesimal)

® Presionar esta tecla para entrar los valores sexagesimales tales como dngulos y tiempo.
Ejemplo: 78°45'12" — 78 45 12 )

® Presionar en secuencia y para convertir la representacion decimal de &ngulo o tiempo en
representacion sexagesimal.

X

}'@ : Tecla de logaritmo coman/potencia de 10 :

® Presionar esta tecla para obtener el logaritmo comuin del nimero presentado.

e Presionar en secuencia y [ para obtener el valor de 10 elevado en potencia por el nimero
presentado (por ej., logaritmo comudn inverso).

ﬁ : Tecla de logaritmo natural/potencia de €

® Presionar esta tecla para obtener el logaritmo natural del nGmero presentado.

® Presionar en secuencia W y para elevar ‘e (= 2,7182818. . .)"" a la potencia determinada por el
niimero presentado (por e€j., logaritmo natural inverso).

m -

: Tecla de retroceso de paso/borrado total de memoria

® Remitirse a la 22 Parte para (7. ) o _

® Presionar en secuencia y @3 para borrar todos los registros Mn (memorias independientes).

Srg : Tecla de avance de paso/borrado total del cilculo de desviacion standard

® Remitirse a la 228 Parte para 5.

® Presionar en secuencia [y y para borrar los registros M07, M08 y MQ9 (usados para acumular
datos estadisticos) antes de iniciar los calculos de desviacion standard. )

* Remitirse a la 22 Parte para las otras teclas no mencionas todavia. Las mismas no son necesarias
para los calculos paso a paso.
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(2. Comienzo de as s

7 7

Activar el conmutador de alimentacién antes de iniciar los calculos.
Poner la calculadora en el modo RUN ( @).

La .unidad de angulo presentada no tiene relacién con los calculos a menos que comprenda argumentos
angulares.

® Prioridad de calculo y niveles de paréntesis

® La calculadora determina automaticamente la prioridad de calculo y procede en el orden as{ deter-
minado. El orden de la ejecucidn ha sido ajustado como sigue:

(1)  Funciones T ) ;
2) xV.x 1y En casos donde las prioridades sean de igual valor, los célculos pro-
3) x M cederdn en orden de ejecuciéon. En expresiones que comprenden parén-
() +' : tesis, esas partes de las expresiones entre paréntesis tendran prioridad.

® | os registros L, a L, se pueden usar para almacenar hasta 11 niveles de paréntesis o datos de baja
prioridad.

o En un nivel se pueden establecer hasta tres aberturas de paréntesis. En los célculos con paréntesis
se pueden establecer hasta 33.

e Ejemplo: 2X (((3+4X((54+4)+3))+5)+9)=

Operacion 2B(JUW3E4B(UO5634M@30)0E5090)8

1 nivel 1 nivel 1 nivel 1 nivel L

Datos almacenados en el registro L hasta el punto A. x 4
L «us+
L. 4 X
Ly «u«w3+
L 2 X
Ls
Le

m Correccion

e | os datos de entrada se pueden borrar sblo antes de presionar una tecla de mando. Presionar para
borrar el dato erréneo y entrar el correcto.

® De modo similar se pueden corregir resultados intermedios (por ej., el valor de una operacién u
operacion con paréntesis establecido). Presionar para borrar el resultado erréneo y reasumir los
célculos. :

o Es posible corregir las entradas de 3, B3, B3, B, W € e W & si se presionan inadvertidamente.
Presionar la tecla correcta inmediatamente después de haber presionado la errénea. Observar que
la prioridad de operacién permanece intacta.

.79

m Rebosamiento o error

Si la calculadora detecta un error durante la operacién, aparecerd en pantalla la palabra ““Error’” o

() Error” suspendiéndose la ejecucion.

El error sera detectado en los casos siguientes:

(1) Cuando un resultado o resultado intermedio (de operaciéon aritmética, funcional o de desvia-
cién standard) o los contenidos del registro My han excedido el margen de +9,999999999 x
10%°. (Los datos almacenados en el registro My, antes de la verificacion de error se mantendran.)

(2) Cuando el argumento de una funcion ha excedido su margen predeterminado. (Ver pagina 129.)

(3) Cuando se intenta una operacion inapropiada en los célculos de desviacion standard.

(Ej., intento de célculo de X o 0y cuando n =0.)

La palabra “Error’” se presentara en estos casos. Presionar E® para borrar el estado de error e

iniciar los calculos desde el principio.

(4) Cuando el nimero de niveles de la operaciéon de inclusion (con paréntesis, multiplicacion, divi-
sion, XY y x /Y) excede 11, o cuando la tecla de abertura de paréntesis se presiona mas de 33

*

veces.
(Ej., Cuando la tecla (@ se presiona 31 veces sucesivamente y seguida por la presion de 2E33 8 )
* En este caso aparecera ‘() Error” en pantalla. Si se presiona @, el nimero que estaba en

pantalla antes de la verificaciobn de error vuelve nuevamente alli, posibilitando reasumir los
célculos dentro del margen prescripto. Presionar para borrar el error y retornar al primer paso.
El subvalor (un valor menor que +1 x 10~°?) no se considera como error sino como 0.

® Funcion de autodesconexion

Una de las cualidades mas convenientes de esta calculadora es la funcibn de autodesconexiéon que
procede automéaticamente a la desconexidon unos 6 minutos después de haber presionado la Gltima
tecla (excepto durante los célculos programados). Asi se evitarad derroche de energia. Para reestablecer
la alimentacién, presionar la tecla o activar otra vez el conmutador correspondiente. (Los con-
tenidos del registro My, y los programas se mantendran adn sin alimentacion.)
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}1-.3 Célculos basicos ‘ ... m Calculos con paréntesis _
- - e Es posible calcular hasta 11 niveles o 33 establecimientos de expresiones entre paréntesis. (Ver
pégina 75 y 4 i Presi do (M se pre
inlicacid ivisid e Cuando se presiona (@0 se presentaran un nimero entre paréntesis y cero. Presionan -
" Suma, resta, multiplicacién y division sentaré el resultado intermedio de ese nivel.

® L a secuencia de operacion es la misma que la de las expresiones mateméticas corrientes.

» EJEMPLO OPERACION PRESENTACION
EJEMPLO OPERACION PRESENTACION
—(2+3)x4=80 100826330 5.
23+4.5—53 =-255 23@34-58538 _255 100—(2+3) X4:
(Subsecuentemente) E34 83 80.
56 % (-12) +(-2.5) = 268.8 56R12Z@2-5Z8a 2688
v i i (2+3) X (4+5) =45 2838458 45,
* Para entrar un nimero negativo, presionar la tecla numérica correspondiente y luego 4. |
| * E| primer (@ vy el 03) precedente a B pueden omitirse aunque se hallen establecidos.
123697532 X74103=
12369837532
6.903680613 10"

741038 | 6.903680613 12

(=6903680613000) 10—12+7X(3+6) | =-55 10802078 3Mm68 - 55,
1.23--90+ 45.6 = 2997076023 X 10™* | 1(2+3)x4—(5+6)X3Ix2=| 2@33R4E
(ooo0esr0r602sy | 23E90E45-68 | 2.997076023-04 _2 @5E6HR3NN28 - 26.
* El resultado se ;_Jr;esentaré en la representacion de punto flotante si es mayor que 10'° (10 billones) ‘
© menor que 107 (0,01). B3 xan+s=2 2083040858 2.
(45X10™)X (-2.3x10°™*) =-0.01035| 4-5% 75 E32- 3017 8083 -0.01035 E _ _
. , ! * En el ejemplo anterior puede usarse B en lugar de () .
=108 10" eIt arer© @ - 1.035-02
*El resultado se presentara en la re taciéon d to fijo si estd entre 1072 y 10'°. Presi 2,8 1,_ ) 0.2
2] p;ja E::onverti?IroSa la r:prer;entacig;ezinpiﬂ?gfloetap:tg.o(vlé? Sla'gisnz gr:ll)' Y restonar 3 ( 10 2 )=02 2a380aioaiazns
Tale] x [ + [6] x o] - |
(1X10%) +7=14285.71429 IGEESY - A = 14285.71429 _SX6+6X8 _
T5x4+12x3 ~ 08125 @15@4E3128308 0.8125
(1X10°) +7—-14285=0.7142857  (Subsecuente gy 47851y 0.7142857 =(5X6+6X8)=(15X4+12X3)
‘ -z . - . . . .
*La calculadora computa siempre internamente usando cada nimero como una mantisa de 12 digi- ! * La expresion fraccional debe convertirse a la expresion primaria usando paréntesis.
tos. Mientras que en pantalla aparecerdn nimeros redondeados a once lugares, los del registro tienen
una mantisa de 12 digitos. (Para detalles ver pagina 128.) !
: : L (12%10%)— | (25X109) 1-2@19@@2 5@ 208
® En las operaciones mixtas, la multiplicacion y division tienen prioridad sobre la suma vy resta. 1 % %} —45%10" 3@100me3 45 18
EJEMPLO OPERACION PRESENTACION
3+5X6=33 3@5868 33. 4)6(5 =0.3 48586 WE 03
I1X8-4X5=36 ‘asa4ms8 36. * |_a secuencia de operacion anterior es equivalentea6 B ([@M4 B5MWé6c @4 @5 8.
1+2—3X4=-5+6=6.6 @28e3\4acaca 6.6
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m Calculos constantes

El nidmero presentado quedard entonces ajustado como constante, indicado por K’ en pantalla.

I

e Presionar una tecla de operacion aritmética dos veces (o un niimero par de veces) sucesivamente. t
|

|

No es necesario presionarlo cada vez en los calculos sucesivos.

EJEMPLO OPERACION PRESENTACION
124+23=135 2383128 35.
45+23=068 4589 68.
(-78)+23=-55 8% -55.
7-56=14 5.cEmE78 1.4
29—56=-27 2-983 -2.7
(8.5%10%) —5.6 =8494.4 8-5m38 8494 4
23X12=276 1283832-38 27.6
(-456) X 12=-54.72 4-56#8 -54.72
3 X12=15 wsEsme 7.5
78-9.6=8.125 9-6E3E837880 8.125 |
(1.2X10"%)+9.6=1.25x10" 1-291583 1.25 14 |
45-9.6=4.6875 458 4.6875
3X6X9=162 o] x o] < [ x Je =] 162.
3X6X8=144 s 144,
3X6X(5+6)=198 @l + [0y =] 198.
(3a.
1(1.1%)%12=3.138428377 1- 1838388 rotencia) 1,331
Sse0a | 3.138428377
17+174+17+17 =68 A+ =]1=1=] 68.
8+8+8+11+11+11=5 | sOCESN0RVWUEaaa 57. ;
50—3.6—3.6—3.6—3.6=2356 301 - | - kRO = = = = 35.6 |
o 3-rE@Es5ooBEan)
‘1%=2.8 4183028030828 (Divisor) 20.
568 2.8
*@8 8 v 8 8 sonequivalentes a ) =9 .
| i
1
.83

® Calculos con memoria

® La calculadora tiene una capacidad de 22 a 88 registros de almacenamiento de datos, los cuales se
hallan disponibles para selecciéon por adelantado. (Para detalles, ver pagina 71.)

® Estos registros se obtienen presionando las teclas &4 , g , , My .

e Cuando se presiona la tecla de memoria, la pantalla mostrara sus caracteres alfabéticos y el signo
de direccion de la memoria (indica un valor numérico de 2 digitos a entrar). La pantalla revertira
a la presentacion anterior cuando se complete la direccién de la memoria. No obstante, la direccion
de la memoria F se completard presionando sélo la tecla en lugar del valor numérico de 2 digitos.

e La direccién de la memoria no podra hacerse si se entra otro No. de memoria diferente al especifi-
cado. En este caso, reiniciar la operaciéon presionando la tecla de memoria.

® Como los valores numéricos se almacenan en el registro Mn en forma de mantisa de 10 digitos, la
pantalla mostrard una mantisa de 10 digitos durante los célculos con el registro Mn.

® L os contenidos de los registros se mantienen aun sin alimentacion. Presionar W) y @9 para borrar

todos los registros Mn.

EJEMPLO OPERACION PRESENTACION
23+9=32 2389380 32.
53—6 =47 53@6801] 47.
—) 45X2=90 45828~0M 90.
99-+-3=33 99@38mOl] 33.
TotalT CD](@][&H] 22.

* Presionar @4 para almacenar datos en el registro Mn. Esto borrard automéaticamente los datos pre-
viamente almacenados. (El registro no necesita borrarse por adelantado.)
y 03 no tienen la funcibn de B .

7T+7+7+(2X3)+(2%3)
+(2X3)—(2x3)=33

7+8+9=24
4+5+6=15
3+6+9=18

(Total) 14 19 24 57

7X4X12.3=344.4
-12.3X (8+5) =-159.9
(12.3+6) X9=164.7

12X (2.3+3.4)—5=634
30X (2.3+3.4+4.5)—15%
45=238.5

700 P PP 2 B 3@ P
) ) R

Rl + BmE)E] + i e))] = o))
2l + BeE)] + )] - i)y
K e)l] + [NDEE] + Bl = De)eE)
(D @)k
(D @)F=)
(D))
(D) /&Y

78483123008
MOMAXRWsasHa
/D& + [SDN] % fe] =]

128(U2-36033-40)M@58

4-5m P PER30E 15800

33.

24,
15.
18.
14,
19.
24,
57.

344 4
-159.9
164.7

63.4
238.5

Para intercambiar la presentaciéon de 4,5 con los contenidos del

registro MF.
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|1-4. Calculos de funciones

.
-

® Para obtener el valor de una funcién, entrar un argumento y luego presionar la tecla de funcion.
e Los calculos de funciones se pueden mezclar con operaciones aritméticas comunes establecidas

entre paréntesis.

e Remitirse a las especificaciones dadas en pagina 129 para la exactitud y argumentos de las funciones.

1 -1

= Funciones trigonométricas (sen, cos, tan) y trigonométricas inversas (sen™ ", cos ™,

tan~!)

o EJEMPLO OPERACION PRESENTACION
14°25'36" = 14.42666667° 14925693667 14.42666667
12.3456° = 12°20'44.1" 12-3456mE= | 12°20'44.1”
SIN 63°52'41" =(.897859012 w)@) 6369526941696 | 0.897859012

o
Cos(%rad) =05 (=JS) 38 05
"RAD”
tan(-35gra) =-0.61280078 & 35| -0.61280078
R
2-SIN45° X COS 65° = “DEG” 2804563
0.597672477 658 | 0.597672477
sin'0.5=30° “DEG” ()5 W) 30.
(Resolver la ecuacion sinx = 0,5)
cos' 2 = 0.785398163rad "RAD"  2WE28™e) | 0.785398163
= 7 (g a:a 0.25
tan '0.741 = 36.53844577° “DEG” (741w | 36.53844577
=36°32'18.4 wE | 36°32° 184
25X (sin'0.8—cos'0.9) = ‘DEG” 2-5B() 8k
68°13'13.5" B8 IW=IDBmWE | 68° 1371357
.85 .

® Funciones logaritmicas (log, In) y exponenciales (10, ¢*, x”, x ¥)

) _EJEBIIPLO J OPERACION PRESENTACION
|
log 1.23(=10go l.23)=0.089905]ll 1-230g | 0.089905111
In
90( =10g.90) = 4.49980967 90(n) 4.49980967
log 456=1n 456 = 0.434294481 ‘ 456 M2 @MP(nE | 0.434294481
(logx/Inx = constante fija) '
|
10" = 16.98243652 1-23Mw) | 16.98243652
(Para obtener el antilogaritmo del log. 1,23)
e*°=90.0171313 45 90.0171313
(Para obtener el antilogaritmo de In 4,5)
10°- e™*+1.2-10%%= 1674 B34 4™ ()ED
422.5878667 1-2832-3mwE | 422.5878667

5.6%3=5258143837 5-6Mmi2-3683
1237 (=1T23) = 1988647795 123m57E

4°=32 2-5mima4E
0.1625=0.01024 D16m

*xYyxy se pueden registrar como constante igual que +/—/x/—.

(78—23)7'=1.305111829 %107 (©78@230W™S51208

2+3X645—4=10 2633064m& 3848

*xYyx 1/ se calcularan previamente a la multiplicacion y division.

22433+ 44 =287 2288336448

52.58143837

1.988647795

32.

0.01024.
243,

1.305111829-21

10.

287.
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|05.}+95,I+e5.I=
199615.7294

5 - 1w, 1 0EHe
IBW P 1 OB W

(Una operacién equivalentees 5(] 1WIE@9MeG 5D 1850 1wWE8 )

2 X 3.4¢%D =3306232.001

log sin40° +|og cos 35'=
-0.27856798
El antilogaritmo. . . . 0.526540784

(Célculo del log de sen 40° x cos 35°)

283-4™MS056- 7008

[%] 40(in) (o9 35 (g D
“DEG” (Continuar) (w03

199615.7294

3306232.001

-0.27856798
0.526540784

® Funciones hiperbélicas (senh, cosh, tanh) e hiperbdlicas inversas (senh™!, cosh™!,

tanh™!)

EJEMPLO OPERACION PRESENTACION
Sinh 3.6 =18.28545536 3-6MIsn) | 18.28545536
tanh 2.5=10.986614298 2-5Mn) | 0986614298

cosh 1.5—sinh 1.5=10.22313016

=15

(Prueba de cosh x tsinh x = e%X)

sinh '30 = 4.094622224

cosfi’' (23) =0.795365461

¢Qué es x cuando tanh 4x = 0,88?

—1
x =-1an 088 _ 3439419

sinh'2Xcosh™' 1.5 =
1.389388923

1 - 5 Wi 2 (i) [oos) BB
R bl sin) 3
(Continuar) (n)

30™)Fy)fs)

208 158k

(-] 88m)hwalfuer)
14 248

2 (w)fwe)ce) €3
1- 5wkl

2.352409615
0.22313016
-1.5

4.094622224

0.795365461

0.343941914

1.389388923
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® Funciones varias (\/ ,x 2, 1/x,x/, RAN #, ABS, INT, FRAC)

EJEMPLO OPERACION PRESENTACION
/2 + /5 =3.65028154 2mOE5mE| 3.65028154
22+32+42+5°=54 2WIER3WIER4 W ()ER5 W (I8 54,
R 3WHEA4 W EEW 12.
32
8! (=1X2X3X-X7X8)=40320 8 W)z 40320.
Generar un namero al azar entre 0,000 y 0,999. (s (ej.) 0.570

|
J137=524+ [37+ 42 =17 13WE)E@5 W EIDIWJIED
[O3WEE4WHDWOE 17.

/1 —sin?40° = 0.766044443

— cosar’ @) 1 @406 DB
“DEG” (Continuar) (n)(cos)

(Prueba de cos 0 =+/1 — sen?6)

/2" +1/8! +1/6! +1/8! =
0.543080357

PACTE%C0 03] + EACTIER(TTIZ + |
6 W x) (2 8WIWAE

WPe =772y = 5040 10WDEW 1084 D

12WIE[O5WEIES
@12astwzmnea

12!
12Cs = 5!(:22—5)! =792

El valor absoluto del log coman % es:

llog 51=0.124938736 3@48EmwE

Obtener el entero de 7330 ....... 81 780083 96 B w)(w)
|

Obtener la fraccién de 7880 ....... 025  7800E396B)™ms

2512549139+ 2141 2512549139(21413

(Continuar) (w)fug

0.766044443
40.

0.543080357

5040.

792.

0.124938736

81.

0.25

1173540.
0. 99953
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., . ® Relacion d to o disminucion.
® Transformacion de coordenadas (Conversiones de coordenadas rectangulares y polares) elacton de aumento o dismindct
1) éCudl es el porcentaje del total respecto de
e Coordenadas rectangulares x, y e Coordenadas polares 7, 6 (magnitud y angulo). 500g a los cuales se les han agregado 300g?
. Y 3004500 x 100=160 -(%) 300E3500™)% 160.
------------------ * R—P P(r.6)
! _— 2) ¢Cual es el porcentaje de aumento cuando
' T la temperatura sube de 40°C a 46°C?
i 4640 100=15(%) 46840 15.
' D ! 40
' P -R \6 3) ¢éCudl es el porcentaje de disminucidon
— - X cuando el volumen de una solucién dis-
T x— X 0 minuye de 500cm? a 400cm? ?
400 —500 _ % -
El argumento 6 de las coordenadas polares inter- 500 X100=-20(%) 4008500 20.
secta las desigualdades siguientes cualquiera sea
la unidad de angulo que se emplee . . . e Calculos de porcentaje que incluyen constantes.
—180° < 6 £ 180° ! 1) éCualesel 15% de 15007 . . .. .. ... 225 15008363 15 W) & 225
¢Cusl es el 23% de 15002 . . . . .. ... 345 Qe @0@ '
E_EMPLO OPERACION | PRESENTACION iCullesel 25% de 1500? . ... .. ... 375 (Continuar) ZB@é 345 .
! (Continuar) 25w % 375.
Transformar (14, 20,7) a Q) 14 E&320-78| 24.98979792 (») | 2) ¢Qué porcentaje es 30 respecto de 1927 . . . . M
coordenadas polares con el L L e e e e 15,625% %
argumento en grados. DEG (Continuar) (WEdm[=) | 55°5542.27 () i ¢Qué porcentaje es 156 respecto de 1927 . . . 192@830m % 15.625
L e e e e e e e 81,25% 156 % 81.25
i i 3) Se han sumado 600 gramos a 1200 gramos.
Transformar (7,5, —10) a 5 A éCual es el porcentaje del total respecto %
coordenadas palures con el eSS 7-5me510028 12.5() del peso inicial de 1200g? . . . . . . . . 150% | 1200E3EA600M™) % 150.
argumento en radianes. "RAD’ (Continuar) (W9 | - 0.9272952 1(ra0) Se han sumado 500 gramos a 1200 gramos. %
g ) h ¢Cual es el porcentaje del total respecto 51 O@@ 142‘5
del peso inicial de 1200g? . . . . . .. 142,5% 150mEm 138M% 8
o . B 4) Cuando 150 se reduce a 138, écudl es el por- - - Q.
I(:Z:;L?‘r:c}g; sgcst’ai?;u)laares “DEG 25m)eE568| 13.97982259(x) centaje de disminucién? . .8% de disminucion 156 % 4
: . Y cuando 150 sube a 156?. . .4% de aumento .
(Continuar) W6 | 20.72593931(y) i >
2. N " f m Redondeo de un nimero, presentacion de punto fijo, presentacion de notacion de
Transformar (4,5, 5 RAD’ 4-5W5(02@30L0E -2.25(x) At 0 punto fho. b
radianes) a coordenadas ingenieria (RND, FIX, ENG)
rectangulares. (Continuar) W9 | 3.897114317(y)
EJEMPLO OPERACION PRESENTACION
= Porcentaje 100+ 6 =16.66666666 1008368 | 16.66666667
i (Especificar el redondeo de cuatro digitos mas alla del punto
EJEMPLO ] OPERACION PRESENTACION : decimal.) [l EY 1.667 01
e Porcentaje de un namero. ] | (Especificar que 5 es el nimero de lugares a ser mostrados (v 83 FIX(5) 16.66667
éCuéantoes 17% respecto de 1500cm?? | después del punto decimal.)
1500 X—55 100 =255 (cc) 15008317 mZ 255, } *Cuando se especifica el digito aplicable, la calculadora presentara el Gltimo digito aplicable re-
e Base mas monto de porcentaje. dondeaidc:j Sin embargo, ||nternamente el nchJrlnero mafr?tlene su valor orlgma| Cuando se redondea,
¢Cuanto son 620g aumentados en un 15%2 el resultado se presenta en la representacion del punto flotante.
(Monto netoa) 2007 X14=400 2008 78 W& 23 28571
= %
620+620 X g5 =713 620815 % 713. ‘ (Continuar) E314 8 399.994

® Base menos monto de porcentaje. | *gj 4 i 5 ifi 4
! i los calculos se contindan después de especificar el redondeo, la calculadora procederd computan-
{Cuantoes 7 53V rebajado en un 4%? 1

do con el nimero en pantalla redondeado.
(Monto neto é &) p

753—17.53 X145 =7.2288 (V) 7-53@4m% 7.2288 123m X 436~ 25088 m 123|4568 556?822' 03
® Relacion de porcentaje (Porcentaje de un = 96.088km :
qfémglro re'specto de otro). , 7.8¢+-96=0.08125¢ 7-88968 0.08125
éCual es el porcentaje de 7,8 respecto de 9,67 | =81.25mg EElES 81.25-03

<% x100=81.25(%) 7-889-6mZ 81.25 90~
-89-
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1 1-6. Caleulos de desviacion standard

e Antes de iniciar los calculos de desviacion standard, borrar los registros M 07, M08 y M Q9 presio-
nando W) &Y .

e Durante los célculos de desviacion standard se pueden realizar otras operaciones (incluyendo las
programadas) a menos que se usen los registros M 07, M 08 y M 09.

m Operacion de entrada de datos y formulas de calculos

e Para entrar un dato, presionar siguiendo su valor. Para entrar el mismo valor, presionar xJ tantas
veces como sea el nimero del dato.

e Cuando el dato incluye frecuencia, entrar el valor, presionar B3, entrar la frecuencia y presionar
(xJ. El valor de la frecuencia no tiene que ser necesariamente un entero. (Distribucién de proba-
bilidad y analisis grafico)

e Formulas de desviacion standard.

n
On :/igl(x‘ —1)2 —
n

n
— 2__ 2
On-1 :/,El(x’ xf :/Zx (zx)/n Para estimar la desviacion standard de una poblacién

2 _ 2
ix (32)/n Para obtener la desviacion standard de la poblacion

n finita usando todos los datos de la misma.

n—1 n—1 usando los datos de muestra de la poblacion.
e Media
n
2 sx
- _ _i=1 _
=" n
EJEMPLO OPERACION ] PRESENTACION
[
Datos: 55, 54, 51, 55, DwEe55E354 @05 1 @55 @0
53,53, 54, 52
5335452 Xy 52.

1.316956719
1.407885953

(Desviaci6n standard de ay,) (W) &5

Desviacion standard de On—1) (w2

(Media %) (W) & 53.375

* Los resultados se pueden (Namero de datos n) MR[Q)S) 8.
obtener presionando las "

teclas en cualquier orden. (Suma £x) WO 427.

(Cuadrado de la suma =x?) M8 ([Q)(7) 22805.

1.982142857 {Variacion

¢Cuadl es la variacion insesgada y la di-

(Continuar) () &5w)(x?)

ferencia entre cada dato y la media en _ insesgada)
el ejemplo anterior? ~mI-EE558 1.625 (s5—%)
5483 0.625 (s4—x)
58 -2.37561-2
<91-

¢Cudéles son los valores correspondientes aXx y

On-1 de los datos a continuacion? e 11083 10
No. Valor Frecuencia 1308331y
1 110 10
1508324y
2 130 31
3 150 24 170&xs
4 170 2 190kl
5 190 3 mOE)
Total 70 -
w5
(e

110.

130.

150.

170.

190.

70.
137.7142857
18.42898069

* Anulacion o correccion de datos erroneos (I)
Cuando la operacion correcta es 51 .
(1) Operacién errénea: 50 .
Presionar ) y entrar los datos correctos.
(2) Entrada en pasos previos de 49 .
Presionar 49 W) y entrar los datos correctos.
(3) Operaciéon errénea: 51 8 .

Presionar 1y subsecuentemente o B8 y entrar los datos correctos.

* Anulacioén o correccién de datos erroneos (I1)
Cuando la operacion correcta es 130 B3 31 .
(1) Operacién errénea: 1208 .
Presionar E® y entrar los datos correctos.
(2) Operacion errénea: 120 B3 31.
Presionar @@ y entrar los datos correctos.
(3) Operacién errénea: 120 B3 30 &3 .
Siguiendo 120 B3 30 W) [ , entrar los datos correctos.
(4) Operacion errénea pasos previos: 120 B3 30 & .
Siguiendo 120 B3 30 W@, entrar los datos correctos.
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e Con la calculadora en el modo ““RUN"" (#m8 (3 ), presionar ) y “ALPHA" aparecerd en panta-
lla indicando que la unidad esta lista para operar en ese modo (Funcion de entrada de los caracteres
alfabéticos).

e La diferencia entre los modos ALPHA y NORMAL (el modo “RUN" sin presentacion alguna de
“ALPHA") consiste en que los calculos generales se efectian en el modo NORMAL, mientras que
el modo ALPHA se emplea simplemente para la indicacion de datos tal como los comentarios (nota-
ciones) que utilizan letras del alfabeto, o la indicacién de unidades y otros datos con referencia a
los resultados obtenidos mediante los mandos "AR", “"#', "' ; "', etc.

e En el modo ALPHA, todas las teclas (excepto , , @, ™, @, B yE3d) representardn
caracteres alfabéticos o simbolos. (Los caracteres o simbolos aplicables estdn indicados en verde
en el teclado.)

e Los caracteres o simbolos presentados en el modo ALPHA son considerados como "*caracteres
alfabéticos'’.

m Funciones de varias teclas en el modo ALPHA

hasta ® (Excluyendo @, &), ) e (W ):
La presion de estas teclas resultarad en la presentacion del alfabeto en mayusculas. Presionédndolas
después de resultara en la presentacion del alfabeto en mindsculas.
@Mhasta®,0,0,0,8,8,8 :
La presiébn de estas teclas resultard en la presentaciéon de nimeros o simbolos. Presionandolas
después de ) resultara en la presentacion de los signos indicados debajo de las teclas respectivas.
:
La presion de esta tecla presentard el signo "E'" de exponente. Presionandola después de W) pre-
sentara el simbolo “'n'"".
8:
La presion de esta tecla presentara el signo “'="'
W €.
La presién de esta tecla generaré un espacio en la presentacion.
@, @y 3:
La presién de estas teclas pondra a la calculadora en los modos “RUN", “WRT" y "“PCL".
(E! cambio de la unidad de angulo, ejecucién de 0 @, etc., no es posible.)
@, By (69
Igual funcion que en el modo NORMAL.
:
Borra el modo ALPHA.
® .

Mando para presentacién continua de datos. El carécter alfabético siguiente a ' ;" estard ligado
al caracter alfabético inmediatamente anterior.
® P
Mando para sustitucidon de memoria. Sustituye los contenidos de una memoria especifica por
datos de caracteres y los presenta como datos de caracteres alfabéticos.
.
Mando de sustitucién de presentaciéon. Sustituye el (los) ndmero(s) en pantalla por datos de
caracteres alfabéticos y los presenta como tales.
:
Borra los datos presentados. (No borra el modo ALPHA.)
[aCH
Borra la presentacion y el modo ALPHA.

.03

® Ejemplos deusode ** ; ", “#"y “AR"
e Para presentar ‘'/ABC’’ y “abc’’ en sucesién (con realizacion intermedia de datos).

Wi R REWE 148438 &6
Wi W W EI WD WM —> | ABC abc |

e Cuando se tiene el resultado de 23 x 5’ presentado con asignacion de unidad “'x = OOOkm"".

23085005 ARNT PP WS — | = 115km |

e Cuando se tienen los contenidos del registro MF (ya entrados en el primer ejemplo anterior) pre-
sentado como “'FX-O00O0OP".

ALPHA

sty D [ FX—602P |
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La 28 parte describe la operacion programada de la calculadora. La eficacia de los célculos
programados depende de la programacion. Todos los programas estan basados en ciertos algoritmos. Se
recomienda cerciorarse adecuadamente sobre los fundamentos de programacion.

[2-1. Indice de funciones y teclas para los calculos programados

* |as descripciones de teclas y explicaciones dadas en la 12 parte no se repetiran en esta 28 parte.
Se recomienda leer nuevamente las paginas 71 a 74 y 89 a 90.

— Conector para el FA-1

§ )
< ON

—— Guia de soporte

INV HLT RUN DEG ALPHA
"
o

2 | 3 | a 5 | 6 |

L MODE » % WRT PCL DEG RAD GRA DEF-M
I 1

P5 P6 —+—P7 P8 —‘— P9 “ALPHA"]
Teclas de mando |
A B—4—C D—— E

PAUSE 1~ IND —~ SAVE - LOAD - MAC— [Sacl—
L GsB)
F G

ex
= |69 | @9 69| g |
ABS INT in~!

63 | €63 | 6 |63 |
I'B%TJ XY v x? z x/
SlEIEIEEE
X G [OnlZz]l  [gmllml

Z) B 5) @ 63

o

0

N
E

b

I

[0}
&

®

i

m
E

S

i

hl
3

v

*
[N

i
L

RND—FIX RANS T %

s @ Tecla de ejecucion

] L Ledim [ | lseacel
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Teclas de programacion

PS5 P9 . . .

- : Teclas de nGmeros de programas (Simbolo representativo: £ )

Presionar una tecla, independientemente o después de W9, entre PO y P9 para seleccionar un nimero de
programa. No es posible iniciar la operacién programada sin presionar una tecla de numero de
programa.

ALPHA

: Tecla de modo/modo alfa

L] : “RUN"” (Modo RUN)
Este es el modo de las operaciones programadas y paso a paso.

® i@ : “WRT"” (Modo WRITE)
Poner la calculadora en este modo para ‘‘escribir’” programas, ‘‘verificarlos’ y  hacer
""agregados’’, “‘anulaciones’” y “‘correcciones’’.
Nota: ‘‘Escribir’” (WRITE) significa almacenar programas en la calculadora.

e (g (3) : “PCL” (Modo PROGRAM CLEAR)
Este es el modo para anular todos o algunos programas especificos almacenados en la
calculadora.

e wog(u): “DEG”

® (Woog) (5) : “RAD"} Para seleccionar una unidad de dngulo especifica, respectivamente.

e @@ : “GRA”

o8 (-J(J(): Para asignar un namero deseado de memorias y su namero incidente de pasos de
programa.
(Seleccionar un nimero desde 20 hasta 80.)

* Relacion entre el nimero de memorias y los pasos de programa

ggi;ﬂgn de Namero de memorias Namero de pasos de programa
([N F=) ()] 22 (MO0 —M19,MF,M1F) 512
€] (®@)] 33 (M00 —-M29, MF,M1F, M 2F) 432
@0 44 (M00 — M 39, MF, M 1F — M 3F) 352
w70 77 (MO0 — M 69, MF, M 1F — M 6F) 112
w80 88 (MO0 — M 79, MF,M1F — M 7F) 32

*1 memoria es equivalente a 8 pasos de programa. Aunqgue se puede asignar un nimero intermedio de
memorias (por ej., Mg (] 3 ), el nimero de memorias F sera igual que el nimero de memoria
asignado cuyo primer digito sea ‘0" (en este caso, g (-] & @) ).

Luego, si un namero substancial de pasos de programa se halla ya en uso, no es posible asignar
arbitrariamente un nidmero de memorias a fin de mantener los programas ya escritos. En tal caso, la
calculadora asignarad automaticamente el nimero de memorias aplicables y lo presentara.

ot )(): Emplear este mando para confirmar el nimero asignado de memorias y pasos de programa.

Ejemplo: GB—>| MEEA

SI,FI4FE%J

M0O0—M51 MF, M1F—MA4F

-]

Memoria: 57 Paso: 256

e Mooy : Asignacion/liberacion del modo ALPHA
Emplear este mando para entrar caracteres alfabéticos. Presionando nuevamente los mismos
se liberard el modo ALPHA. (Ver pagina 89.)
La pantalla presentara la palabra “ALPHA’ cuando la calculadora esté en el modo alfa.
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fi) : Tecla de parada/pausa
Parada
Durante el modo “WRT’’: Emplear este mando para detener un programa en ejecucion a fin de
entrar datos o presentar resultados. La presentaciébn mostrard ""HLT"".
Durante el modo ““RUN’": El programa actualmente en ejecucion se detiene después de haber sido
ejecutada la instruccion correspondiente. Esto es muy Gtil para inter-
ceptar la ejecucion de un programa que toma mucho tiempo.
o (W) (us): Parada temporaria
Durante el modo “WRT’’: Emplear este mando para detener temporariamente un programa en
ejecucion. El mismo se reiniciard automdticamente en aproximadamente
un segundo.

IND
) : Tecla de rotulo/indirecta
o) : Destinacion del salto
Durante el modo “WRT’’: Emplear este mando para escribir la destinacion del salto incondicional.
o[ : Direccion indirecta
Durante el modo “WRT’’: Esto indica direccidon indirecta de una ubicacibn de memoria o la
destinaciéon de un salto incondicional o una subrutina.
Durante el modo “RUN’’: Esto indica direcciéon indirecta de una ubicacibn de memoria o la
destinacion de un “‘salto manual’’ (no programado).

SAVE

(%) : Tecla de Goto/transferencia
® el : Salto incondicional

Durante el modo “WRT’’: Escribir un mando de salto incondicional con esta tecla.

Durante el modo “RUN’’: Presionar esta tecla para permitir que el control salte ocasionalmente
cuando la ejecucién de un programa se halle detenida (“HLT" en
pantalla).

o (iv) : Transferencia de datos de la calculadora a una cinta magnetofonica
(s6lo cuando el FA-1 estd conectado)

Durante el modo “WRT’’: Emplear para cargar un mando a fin de que los contenidos del registro Mn
sean transferidos a una cinta magnetofénica a través del FA-1.

Durante el modo “RUN"": Emplear este comando para transferir manualmente los contenidos del
registro Mn a una cinta magnetofonica.

Durante el modo “PCL"": Para transferir los programas almacenados en la calculadora a una cinta
magnetofonica.

: Tecla de llamada de subrutina/carga
o s : Tecla de subrutina
Durante el modo “WRT’: Emplear para ‘‘escribir’” un comando a fin de llamar un programa de
subrutina.
Durante el modo “RUN": Emplear para depurar programas. (Ver pagina 101).
o ) (w): Transferencia de datos de la calculadora a una cinta magnetofonica
(sdlo cuando el FA-1 estd conectado)
Durante el modo “WRT’: Emplear para ‘‘escribir’’ un mando a fin de cargar datos desde una cinta
magnetofdnica al registro Mn a través del FA-1.
Durante el modo “RUN’’: Para cargar datos manualmente desde una cinta magnetofonica al registro
Mn.
Durante el modo “‘PCL"": Para cargar en la calculadora los programas almacenados en una cinta
magnetofdnica.

MAC
: Tecla de retroceso de paso/borrado total de memoria
. : Retroceso de paso de programa
Durante el modo “WRT": Emplear este mando para comprobar el programa, el cual esta siendo
escrito o verificado, regresivamente paso a paso. Mantener la tecla
presionada por mas de un segundo para retroceder rapidamente.
Durante el modo “RUN’": Durante la depuracion, el mando que ha sido recién ejecutado se
presentara por el tiempo que se mantenga presionada esta tecla.
o W) J: Borrado total de memoria
Durante el modo “WRT’: Emplear para ‘‘escribir’* un mando que borre todos los registros Mn.
Durante el modo ““RUN’’: Emplear para borrar todos los registros Mn.
Durante el modo “PCL’": Emplear para borrar todos los programas almacenados.
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: Tecla de avance de paso/borrado total de desviacion standard
o : Avance de programa de paso
Durante el modo “WRT’: Emplear este mando para ejecutar un programa paso a paso durante la
verificacion. Mantener la tecla presionada por mas de un segundo para
avanzar rapidamente.
Durante el modo ““RUN’: Emplear este mando para ejecutar un programa paso a paso durante la
depuracion.
o (W) &): Borrado de los registros M07, M08 y M09
Durante el modo “WRT’": Emplear para ‘‘escribir’’ un mando a fin de borrar los registros M07, M08
y M09 utilizados para calculos de desviacion standard.
Durante el modo “RUN’’: Emplear este mando para borrar los registros M07, M08 y M09.

g : Tecla de ejecucion
Durante el modo “WRT’: Emplear para “‘escribir’” un mando a fin de iniciar la transferencia de
datos entre la calculadora y la cinta magnetofénica a través del FA-1.
Durante el modo “RUN": Durante la operacidn programada, presionar esta tecla para reiniciar la
: ejecucion de un programa que se halla detenido (con “HLT" en pantalla).

: Tecla de borrado
Durante el modo “WRT’: Presionar esta tecla para borrar la Gltima presentacion de una programa
almacenado en la calculadora.
Durante el modo “RUN": Los datos presentados pueden borrarse para corregir.

: Tecla de borrado total

Durante el modo “WRT’: Emplear para “‘escribir” un mando a fin de borrar todos los registros
excepto los registros Mn.

Durante el modo “RUN"": Es posible borrar todos los registros excepto los registros Mn. Si se
presiona esta tecla durante la operacion programada se borrara el modo
correspondiente (con ““—'' en pantalla).

Durante el modo ““PCL": Se borrara s6lo un modo designado.

DSZ ISz X=0 X20 X=F XZF

(@) (B): Teclas numéricas/prueba de condicion

Emplear estas teclas para entrar los valores numéricos durante el modo “WRT" o “RUN"".

Emplear una tecla de mando respectiva fuera de estas teclas de prueba de condicién después de

durante el modo “WRT".

o) : Decremento y salto sobre cero
Los contenidos del registro MOO decrecen vy, si el resultado es cero, se salta el proximo
mando; de lo contrario, el proximo mando se ejecuta.

oM (7 : Incremento y salto sobre cero
Los contenidos del registro M OO crecen vy, si el resultado es cero, se salta el proximo mando;
de lo contrario, el préximo mando se ejecuta.

e (X9 : Sj |os contenidos del registro X (registro presentado) dan cero, se ejecuta el proximo mando;
de lo contrario, se salta el proximo mando.

o) (=9 : Sj |os contenidos del registro X dan positivo o cero, se ejecuta el préximo mando; de lo
contrario, se salta el préximo mando.

o) (X7 : Sj los contenidos del registro X y de la memoria F son idénticos, se ejecuta el proximo
mando; de lo contrario; se salta el préximo.mando.

® W) (29 : Sj los contenidos del registro X son mayores o iguales que los de la memoria F, se ejecuta el
proximo mando; de lo contrario, se salta el proximo mando.

mp : Tecla de hiperbdlica/designacion de santo y sefia
e Durante los modos “WRT” y “RUN’’: Emplear esta tecla de mando para una funcién de hiperbélica
o hiperbdlica inversa.

e Durante el modo “WRT’: Si se presiona una tecla (tecla de nimero de programa) después de
f®, el programa presente puede quedar designado con un ‘“‘santo y
sefia’’.

* Santo y sefia: Es posible el uso de un simbolo secreto de 4 digitos para el cual son aplicables todas
las letras y signos del modo alfa.
Almacenar los programas con santo y sefia si se desea mantenerlos en confidencia.
Esto permitird asegurarlos respecto de otras personas que desconocen el santo y
sefia. (Se puede usar el calculo de programa con santo y sefia aun sin conocerlo.)
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e Esta unidad posee una gama variable de capacidad de entrada, desde 32 pasos hasta 512 pasos (ver
pagina 92), y esta capacitada para escribir (almacenar) 10 programas (PO hasta P9) como maximo.
De estos 10 programas se puede confirmar cual nimero de programa ( ) esta en uso y la cantidad
de pasos remanentes, del siguiente modo.

(Moo) @) 6 (o0g) (3) : o4 T S
mEOEE | p_ 1434 _&T#
A

o3 |
J

¥n]

——

—— NUmero de pasos remanentes

P,, ya escritos (* indica el programa con santo y sefia)

e Durante la escritura o verificacion de un programa, los mandos ya escritos se presentaran en

caracteres dentro de 11 digitos, y también sucederd otro tanto con el nUmero de pasos del mando del
extremo derecho.

WinF sin =80

A e o
NuUmero de pasos para el extremo derecho "X

' Deja un espacio entre cada paso
(excepto para el valor numérico y presentacion alfa)

Deja en blanco si un mando no se puede
presentar en esta zona.

® Si se confirma un mando durante la depuracién, se presentaran en el extremo izquierdo el nimero de
programa mds un espacio en blanco, dejando asi disponible un méximo de 8 digitos para la
presentacion.

Cuando se confirma un mando del ejemplo anterior durante la depuracion, se presentard como sigue.

i ]

=v'..§. i?"} ::'::3 "

T “A__ Este es un espacio de 2 digitos donde no es posible
presentar "Min F'', de manera que queda en blanco.
Deja un espacio para dividir Pn y el mando.

No. de programa

® En principio, un paso ejecuta una funcion. Sin embargo, también hay una funcion con dos pasos.
Mandos que tienen una funcion con un paso:
a) Mandos de 1 tecla/1 paso:
Ndamero de +/—, +, —, x, =, =,[(,)] , sen, log, HLT, PO, letras mayusculas, etc.
b) Mandos de 2 teclas/1 paso:
Min F, GOTO 3, LBL 5, hip sen, INV ALPHA, sen™!, ABS, \/_,x=0, xY, P7, letras minusculas,
etc.
c) Mandos de 3 teclas/ 1 paso:
INV hip sen™, GSB INV P6, INV RND 4, M+0 0, XM 18, Min 1 F, etc.
d) Mandos de 4 teclas/1 paso:
INV AROS5,INV AR 1 F, etc.
* Desde 00 hasta 19, F y 1F, después de las teclas de memoria (Min, MR, M+, M—, X < M) e INV AR,
son todos de un paso.
Mandos que tienen una funcién con dos pasos:
a) Mandos de 3 teclas/2 pasos:
Min 20, MR 35, M+ 2 F, etc.
b) Mandos de 4 teclas/2 pasos:
INV RND FIX 3, INV AR 21,INV AR 3 F, etc.
* Desde 20 hasta 79 y desde 2F hasta 7F, después de las teclas de memoria e INV AR, son todos de
dos pasos.
Nota: La designacién de un nimero de programa se cuenta como 1 paso, y un nimero de programa
con santo y sefia (incluyendo 4 caracteres) como 6 pasos. Pero no se incluyen en la presentacion
del nimero de paso.
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El procedimiento bdsico para llevar a cabo cédlculos programados es el siguiente.

Ejemplo:
¢Cudl es el area de superficie y el volumen de octaedros cuyas aristas son de 10, 7 y 15cm

respectivamente?

Arista (a) Area de superficie (S) Volumen (V)
10 cm ( )cm? ( )em?
7 ( ) ()
a 15 ( ) )

(1) Analisis

Suponiendo que S representa el drea de superficie, V el volumen y a la longitud de la arista de un
octaedro regular dado, entonces, Sy V se expresardn como sigue:

o ¥a
s=2.)3 @ V="r—¢

(2) Programacion
Para realizar el cdlculo anterior manualmente, operar la calculadora de la siguiente manera.

28308 Valor de a WEB — S
2@ B30 Valor dea gy 38 > Vv

Se recomienda por su conveniencia, poner el valor @ en la memoria F antes del uso. En este caso,
operar del siguiente modo:

Valor dea WP 2 A3 WO BWRPmEE - S
2WOEs BmNPmeg 38—V

La secuencia de operacion anterior se puede programar tal cual es. La ejecucion del programa no se
detiene una vez que comienza, a menos que se opere el mando HLT. Para entrar datos y presentar
resultados es necesario detener momentaneamente la ejecucion mediante el mando HLT.

La secuencia de operacion siguiente almacenara el programa anterior en PO.

PO HLT, MinF, 2, x, 3, INVA/, x, MR F, INV x2, =, HLT, 2, INVy/, +, 3, x, MRF,
T ~ T Presionar éste para entrar datos. Para leer el resultado.
No. de programa (siempre necesario)
INV x¥, 3, =, HLT, ... .(21 pasos)
Para leer los resultados.
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(3) Escritura de programa

OPERACION PRESENTACION
PO123. _67_9 116 oo 116y 1 indican
PO WRT 115 Zlarr;ul:nS:rrj de pasos todavia disponibles
& WRT: HLT 001 De aqui en adelante se omite.
) 5 HLT MinF 002
=) HLT MinF 2 003
B | HLT MinF 2 X004
MinF 2 X 3005
WS | IMinF 2 X 3 v 006
[x] 2 X 3 v X007
WP | |x 3 v X MRF 008
W)z v~ X MRF x 2009
a X MRF x2 =010
(w1 x2 = HLTOMN
x2 = HLT 2012
L[] = HLT 2 013
8||= HLT 2 v +014
@ | |HLT 2 v + 3015
a 2 v + 3 X016
% | |lv = 3 X MRFO017
INV & 3 X MRF xYo018
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3 X MRF xY%Y 3019
a MRF xY% 3 =020
xY 3 = HLTO2

Ahora, el programa se encuentra escrito en la calculadora.

*Cuando se presionan las teclas en el modo WRT, los mandos correspondientes se

"*escriben””

(almacenan en memoria) en la calculadora como parte del programa. El mando escrito se presenta
junto con el nimero de paso.
Ademés, debido a que el programa culmina automaticamente, no es siempre necesario presionar HLT

al final.

(4) Ejecucion

(3} Entrar fos da

b

(2} Presionar ls tecls del numwade progs
1tos (o 1%“&%%@% gm
(4} Para ejecutar el or

. programa.,
(5} Para detener la o
bo

y ma?fo%
%ﬁx

® &ﬁb@ @a@ @%’M
o la pantalla présente “HLT*

:‘;‘i mt
% {i@ mmmmém de "HLT se

f@,w

En el caso del ejemplo anterior, el area de superficie S y el volumen V de un octaedro regular con

aristas (a), son desconocidos.

Arista (a) Area de superficie (S) Volumen (S)
10 cm (346.4101615)cm? (471.4045208)cm?

7 (169.7409791) (161.6917506)

15 (779.4228634) (1590.990258)

OPERACION PRESENTACION
RUN (Innecesario si “"RUN" ya
(Dgsignacién de HLT RUN 0—.-—- ‘(3[5;: :qrisiegr:a:doél)ante se omite)
brograma) 0.
@10 3464101615 (S cuando 2 = 10)
(Nuevamente) [&xg 4714045208 (V cuando 2 = 10)
(Para clecutarpg | | 471.4045208
(@) 79 1697409791 (S cuandoa = 7)
(Nuevamente) (exg) 1616917506 (V cuandoa = 7)
1616917506
(@)1 5 &g 7794228634 (S cuando @ 15)

(Nuevamente) [Exg)
(Para finalizar la
operacion
programada)

1590990258

(V cuando a 15)

RUN

0.

L_"HLT" se borra.
* La ejecucion procede en la operacion programada y se presenta un resultado siempre después de la
presion de B8, después de entrar datos o leer un resultado.
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|2-4. Verificaciondeprograma .. = . ; -

mVerificacion, adicion, anulacion y correccion

Ejemplo:

¢Cuél es el area de superficie y volumen de tetraedros regulares cuyas aristas son.de 10,7,5y 20 cm
respectivamente?

\ Arista Area de superficie Volumen
a (a) (S) (V)
10 cm (173.2050808) cm? (117.8511302) cm*
7.5 (97.42785793) (49.71844555)
20 (692.820323) (942.8090416)

(1) Analisis
Suponiendo que S representa el area de superficie, V el volumen y @ la longitud de la arista de un
tetraedro regular, entonces, Sy V se expresardn como sigue:

S=J/3a? V= al

(2) Programacion
Suponiendo que los valores de a se almacenan en la memoria F y P1 es el niumero de programa,
entonces, el programa serd como sigue:

P1HLT, MinF, 3, INVY/ |, X, MRF, INVX?, =, HLT, 2, INVY/ , =, 1,2, X, MRF, INVXY, 3,

= HLT, o (20 pasos)

Este programa se puede escribir directamente en la calculadora. Sin embargo, como resulta muy similar
al ""octaedro regular’”’ ejemplificado en pagina 96, se recomienda aprender a “‘verificar”, hacer una
“anulacion’’, “"adicién’’, modificando el programa del octaedro regular.

(3) Verificacion y modificacion de programa

Verificar un programa significa confirmar los contenidos del mismo escritos en memoria, llamandolos a
pantalla.

Poner la calculadora en el modo “WRT’ ([Mmg & ), asignar el nimero de programa y operar 0BT .
Entonces se presentaran el nimero de pasos y los contenidos del programa igual gue si se los escribiera.
Para hacer una adicion y anulacidn, seguir basicamente el mismo procedimiento.

1. Cambiar el nimero de programa de PO a P1.

2. Anular 2"y X",

3. Reemplazar "3 en "+, 3, x" por "1, 2".

Esta es la modificacion a hacerse para obtener el programa deseado.

OPERACION PRESENTACION
WRT
=2 P_123__67_909% (De aqui en adelante se omite)
PO YR 094 | (Llamada de programa PO)
Cambio del nGimero { P 094
de programa
(Verificacién de =) P1 094
programa)
(Verificacion de (& HLT 001
programa) ‘
(de aqui en mas se ts1 HLT MinF 002
omite)
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(&
(Anulacién de “2")
=1
(Anulacién de “X")
(&
sy

G

FST|

(Anulacién de “3")
(Adicion) (1)
(Adicién) (2

FST|

Presionar sucesivamente

s

(Para avanzar el
programa)

(Igual al anterior) [s7)

(Igual al anterior) (Fs1)

(Para retroceder el
programa)

(Igual al anterior) fisy)
(lgual al anterior) ss7)
(Igual al anterior){sy

HLT MinF 2 003

HLT MinF 002

(El mando previo vuelve después de
anular '2"".)

HLT MinF X 003

HLT Min2 002

HLT MinF 3003

HLT MinF 3 v 004

Presionar sucesivamente hasta alcanzar el paso 2~/ +"".
excede el paso deseado, presionar 7 .)

( puede mantenerse presionada. Si se

h

(Paso 20: HLT)

(Después de retornar al comienzo se
presentara el nGmero de pasos dis-

ponibles.)

(lgual al anterior)

(La verificacion de programa pro-
cede desde el Gltimo paso)

= HLT 2 v+~ +012
HLT 2 v <+ 3013
= HLT 2 +»~ +012
HLT 2 v <+ 1013
2 v + 12014
2 v + 12 X015
asta alcanzar el pasg "3 = HLT".
xy 3 = HLTO20
P1 095
HL T oo1
HLT MinF 002
HL T o001
P1 095
xy 3 = HLTO20
MRF xvy 3 =019
0.

(Mg (1) no se escribe en este paso.)

Ahora, el programa ha sido completamente modificado.




(2} Paras anular ¢ s
(3) Pare corregirio, Wm
Paso a paso..

'secummanze, entrar um'
ponibles hayan sido cor
escri

ibiendo.)
* Lo adicibn y am%amén pw&é

hacerse pg r Jf vézﬂfecmmumd«eettas
se reajustardn m’t«némmm%% nGmeros o %’

‘m%pmaes.

(4) Ejecucion

OPERACION PRESENTACION

(Innecesario si RUN ya estd pre-

" 0. sentado.)

HLT RUN —G———(De aqui en adelante se omite.)

1009 1732050808
(exg 1178511302

(Asignacion del No. =
de programa)

(S cuandoa = 10)

(V cuandoa = 10)

Repetir estos tres pasos para otros valores dea.

® Depuracion
La depuracion de programa significa encontrar errores entrando datos de una prueba simple, eje-
cutandolo paso a paso y examinando su debido curso.
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Ejemplo:
Depurar el programa del “‘tetraedro regular’’ previamente mencionado.

OPERACION PRESENTACION
RUN (Innecesario si RUN vya estd pre-
(1) 0. sentado.)
(Comienza la PUN - (De aqui en mas se omite)
depuracion) P1
HLT
fFsT] 0. (Paso 1: HLT)
HLT
(Datos) 2 2. iiEnr]\;:t):la de los datos de la prueba
& 2. (Paso 2: Min F)
3. (Paso 3: Namero 3)
FsT 1. 732050808 (Paso 4: /)
(Mando de (Mantener .
verificaci()n)@ presionada) P MinF 3 v 004
sy 1. 732050808 (Paso 5: x)
fFs7) 2. (Paso 6: MR F)
& 4. (Paso 7: x?)
FsT 6. 92820323 (Paso 8: =)
HLT P .
|| 6. 92820323 {Paso & HLT)
2. (Paso 10: Numero 2)
&) 1. 414213562 (Paso 11: </ )
FST 1. 414213562 (Paso 12: <)
(Mando de (Mantener .
verificacion) st presionada) P1 2 v + 012
FsT 1. (Paso 13: Numero 1)
Fst 12. (Paso 14: Ndmero 2)
FST 0. 11785113 (Paso 15: x)
(Mando de (Mantener .
verificacién)@ presionada) P1T v =+ 12 x015
fFs7) 2. (Paso 16: MR F)
(Mando de (Mantener
veriﬁcacic’m)@ presionada) P1 12 X MRFO016
sy 2. (Paso 17: x¥)
(Mando de (Mantener
verificacién) presionada) P1 X MRF x9¥ 017
(La ejecucion Vi _
procedenormalmente)@ 0. 942809041 V cuandoa = 2
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|255. Borrado de programa_

= Borrado de programa

- m m un ‘a2 especi .

Poner la calculadora en el modo “PCL? Presionar la tecla del r;umam de programa per-
_ tinente de B8 a 6 (o de#8 s B3 después de B ) v E3
* Para borrar un programa r:on un santo / sefia, ver pégma 111

I e .

® Cambio de No. de programa

Cualquiera de los numeros de programa, de PO a P9, debe asignarse siempre a un programa. Ningan
programa puede usar el mismo nimero repetidamente.

Suponiendo que un programa esta escrito en PO y se quiere escribir otro, también en PO, sin borrar
el que va esta almacenado, sera suficlente con reasignar un nuevo namero.

(2) Presionar@. - C o o .
(3} Presionar pmm:ae@mm«éempmmﬁr%%na&. {Si se usa este nomero de
programa, la operacion serd inefectiva.) ;

{4) Ponerila yraen el modo "RUN" @ﬁ}} o "WRT” {@@ﬁ%ﬁ-
Ejemplo 1: Paracammar P(}a»?s»~~ . .
EER@EeE® cooc ShTE L E
Slemplo2  Enmees @@@& '
* Para cambiar un Woommte M&, ver pégma 1 rf )
. . r ffi:'f%:,, .

e Algunas variaciones de programacion:

o
i M«W L A; -
- .

Estddiese algunas variaciones de programacion para resolver un problema con el objeto de observar
ventajas y desventajas.

Problema: ¢Cudl es la longitud 2 de un arco y la longitud a de una cuerda de un sector cuyo radio
esr y el angulo central 67

_rmé_ —2,sind
A = 180 a 21’Slr\2
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OPERACION PROGRAMA
PASOI PO MODE 4, HLT,
2 r(g Min 01, X, HLT,
A 3 ! Min 02, X, 7 ,=,1,8,0, =, HT,
4 B@g—a MR 02, =, 2, =,sin, X, 2, X, MR 01,
= 24 pasos mas 1 paso
! (PO)
PASOl r P9 PO MODE 4, Min 01, X, HLT,
B 2 6g— ] Min 02, X, 7, , 8,0, =, HT,
3 @xg—a MR 02, =, 2, =,sin, X, 2, X, MR 01,
— 23 pasos mas 1 paso
. (PO)
PASOl r W@)(1)
2 4@
C 3 PI—/ | PO MO 4 MROI, X, T, X, MRO02, =, 1,
— 22 pasos mas
8, 0, =, HT, 1 0856
4 ([d—gq MR 02, =, 2, =, sin, X, 2, X, MR 01, =, (PO)
PASOl 7 PO Min 01, 1 paso
2 9P P1 Min 02, MOXE 4 , 2 pasos
D 3 P2—[/ |P2MRO1, X, T, X,MR02, =, 1,8, 0, =, 10pasos
4 P3—a |P3MRO2, =, 2, =,sin, X, 2, X, MR 01, 10 pasos
- 23 pasos mas 4 pasos
= (PO, P1, P2, P3)

®Ventajas y desventajas

A: Programacion de norma
e La secuencia de operacién es simple. Después de asignar el nimero de programa se opera simple-
mente B9 luego de entrar datos.
® Es posible almacenar muchos programas (hasta 10).
® Se requiere de un pequefio nimero de pasos.

e Debido a que la secuencia de operacion es fija, no es posible cambiar parte de los datos o leer
parte de los resultados.

B: Variacion de A

® B es basicamente igual que A pero la secuencia de operacidon no es tan simple.

C: La operacion de entrada de datos no es facil.

e El nimero de pasos es el menor de todos.
® Es posible almacenar muchos programas.

e Los datos deben ponerse en memoria antes de la ejecucion. Esto puede resultar molesto y dar
lugar a errores.
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D: Tipo funcidn del usuario

e Como se asigna una funcion especifica a cada nimero de programa, los datos pueden entrarse
en cualquier orden vy los resultados pueden obtenerse en cualquier orden también.

e Esto es muy conveniente si se desea cambiar sélo parte de los datos y ver los resultados.

® Requiere mas pasos que las otras programaciones.

e Puede causar escasez de los nimeros de programas si la cantidad de datos de entrada e incognitas
son abundantes.

@ No es adecuado para almacenar dos 0 mas programas.

De acuerdo a lo anterior, la programacién mas conveniente dependera de los casos particulares.
En este manual y programoteca se describe principalmente la programacion tipo A, pero algunos
de los programas corresponden a los otros tipos.

® Reglas de programacion

e El programa consiste de mandos distribuidos en el mismo orden de los célculos paso a paso. (La
secuencia de los mandos es la misma de las expresiones mateméaticas comunes: logica algebraica
verdadera.)

® Todas las funciones incorporadas pueden utilizarse en los programas.

e No hay limite de longitud para las expresiones matematicas.

e Cualquier nimero de constantes se puede emplear en un programa (cada una tiene una mantisa de
hasta 10 digitos y un exponente de hasta de 2 digitos). En este caso, cada digito, punto decimal,
+/— 6 EXP se cuenta como un paso.

® Los célculos con constantes (++, xx, x¥xY., etc.) pueden programarse y la ejecucion es igual que en
la operacion manual.

mDurante la escritura de un programa (Modo “WRT"’)

e Inmediatamente sobre la entrada del modo “WRT", todos los mandos de?da @a, W) B9 a W) (g,
(Moo (D a Be (sblo para un programa con santo y sefia), se encuentran listos para ser usados.

® El nimero de pasos presentados durante el modo “WRT" no incluye la primera entrada de (6
@ ), pero en realidad se almacena también en el programa (contada como un paso). En el caso de
un programa con santo y sefia se cuentan 6 pasos.

e Una vez completo el programa no es posible escribir mas mandos (pero aquellos ya escritos per-
manecen imborrables).

e Durante la escritura de un programa, la verificacion del margen de entrada de funciones, exceso
de establecimiento de paréntesis, etc., podria no ser posible (pero los errores pueden detectarse
durante la ejecucion).

e Cuando se presiona cualquiera de los mandosFdaFa , 75 a W) F3) meg(Dake (3 durante el modo
"WRT", el programa en escritura concluye y la unidad queda preparada para entrar otro programa
o modo diferente.

® "HLT" no es siempre requerido al final de la programacién. (En caso de no haber “H LT" cuando
concluye un programa, su célculo finaliza cuando se ejecuta y presenta el G4ltimo mando.)

®Durante la ejecucion (Modo ““RUN"’)

e No habra efecto alguno cuando se presione una tecla de nimero de programa (®J) que no consta
de programa.

e Cuando un programa se halla detenido antes del inicio de la ejecucion o durante el curso de ésta,
es posible cualquier calculo manual (célculo de interrupcién) dentro de tal periodo de pausa.
Est4 permitida la entrada de datos de resultados de cdlculos manuales o los célculos:-con los re-
sultados presentados, etc. No obstante, si el programa se suspende en el medio de la ejecucidn
o el valor numeral presentado ha de usarse en la ejecucion subsecuente del programa, sera necesario
restaurar el estado previo al momento de la suspension después de completar los célculos de
interrupcion.

® Si se presiona la tecla @8 durante la detencion de un programa, se borrara el valor numeral o mando
presentado. Sin embargo, en este caso, el proceso de ejecuciéon del programa permanece inalterable.
Si  se presiona la tecla E@durante la ejecucién de un programa (con presentacion de "), éste
concluird. Tal procedimiento permite terminar una operaciéon que toma mucho tiempo o que marcha
en circuito circular.
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e Si se presiona M durante la ejecucidon de un operacién programada (con presentacion de “‘—"), la
ejecucion se detendra después de operar el mando corriente. Lo mismo sucederd cuando se presione
durante una pausa (PAUSE). Esto también permite depurar un programa a mitad de ejecucion.

e Los posibles errores (con presentacion de “Error’’) que se detecten durante la ejecucién de una
operacién programada se manifestaran por lo siguiente:

(1) Cuando se produzca rebosamiento de los resultados de célculos o de los datos almacenados
en memoria.

(2) Cuando se produzca rebosamiento del margen de entrada o de los resultados de un funcion.

(3) Cuando no se encuentra destinacion de un salto ( ).

(4) Cuando no hay subrutina llamada mediante 6 .

(5) Cuando se encuentra durante la ejecucidn un establecimiento incorrecto de paréntesis o
rebosamiento de un registro L (en este caso, con presentacion de ‘() Error”).

En todos los casos anteriores, la pantalla mostrara la palabra “"Error’” y el nimero de paso pertinente

desde donde se originé el error, pasando a detenerse la ejecucion.

‘Para localizar el mando cuya ejecucion indujo a error, liberar el estado de error presionando B3 (o

para el caso (5) anterior), y entonces, mantener presionada la tecla .

* Esta localizacion es imposible para un programa con santo y sefia.

[ 2-8. Programa de presentacion de comentarios alfabéticos =~

e Para detalles sobre comentarios alfabéticos y funciones de cada tecla en el modo alfa, leer ““El modo
ALPHA en la operacion manual’’, pagina 89.

e Cuando la calculadora estd en el modo alfa se pueden entrar comentarios alfabéticos presionando
) gis) después de asignar el B en el modo "WRT" o de presionar (4 o @ en el modo "“PCL"", como
asi también en el modo “RUN"".

e La pantalla presentaré la palabra "ALPHA’" en el modo alfa.

e Cuando el modo alfa se pone en el modo ""WRT" aparece ** « '’ en pantalla, y al liberarlo se presenta

» " Todos los caracteres entre estos dos signos, "« 'y " » "' serdn comentarios alfabéticos,

independientemente de los numerales o signos, incluso alli, permaneciendo presentados tal cual son
sin que nada afecte los calculos.

Ejemplo:

2P 2 BB B WM —

) S —
Comienza el modo alfa . s Fin del modo alfa
Comentario alfabético

HLT
(después de la operacion anterior) Wg(1)POY—>

Nota: En este manual y programoteca, la operacion de las teclas @ g se indicard como®) (@ (cuando
comienza el modo alfa), o ® BJ(cuando termina el modo alfa).

= Ejecucion de comentarios alfabéticos

e Cuando se escribe un comentario alfabético en un programa, el cual es luego ejecutado, tal comen-
tario puede presentarse como sigue:

(1) En el caso de un comentario alfabético dentro de 11 digitos, se presentard inmediatamente
después de su ejecucion.

(2) En el caso de un comentario alfabético de méas de 12 digitos, los primeros 11 se presentaran
inicialmente por unos 2 segundos, y seguidamente se moveran hacia la izquierda uno a uno con
intervalos aproximados de 0,5 segundo hasta que todas las letras se presenten completamente
hasta el final, dejando en pantalla los Gltimos 11 digitos para finalizar la ejecucion.
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Ejemplo:

P3, INV “AL,A,B,C,D,E,..... X,Y,Z,INV AL" pasan a escribirse (Modo "WRT" = @y
ejecutarse.

@E : | i ; "1 i (Permanece por unos 2 segundos)

N
\

\

S~

N Li

i
=~
S|y

Parpadea cuando contindan los
comentarios alfabéticos.

- A
\/ l/ L Indica que el programa estéa en ejecucion.
T

i1
e
1
M

S i
~
s~
S~

l'::'l
T
Y

: Se mueven a la izquierda uno a uno
: en interva)os de 0,5 seg.

' e HE L B I B §
F-' i I-r' = T ;_j i} H oA Comentario alfabético terminado.

(Referencia):

Si se presiona durante el curso de la progresion por pasos a la izquierda de los comentarios alfa-
béticos, tal progresiéon se verad detenida. En tal caso es posible la progresion manual paso a paso pre-
sionando B . Presionando 8, la calculadora retorna a la progresion automatica.

® Después de la ejecucion de un comentario alfabético, el programa ejecutara las 6rdenes siguientes,
pero la pantalla continuara mostrando los caracteres alfabéticos.

(Referencia):
Empleando esta funmon se puede presentar un comentario (interpretacion) durante el curso de una
ejecucion de programa que toma largo tiempo, a fin de representar los contenidos, titulo de los
célculos, etc.

e La presentacion de los comentarios alfabéticos se liberard o borrard en los casos siguientes.

(1) La ejecucion de un comentario alfabético nuevo sustituird al previo borrandolo.

(Una continuaciéon entre dos comentarios puede hacerse presionando W) &) )

(2) Cuando se suspende un programa mediante o M) @S, los contenidos (valores numéricos)
entonces almacenados del registro X se presentaran, a menos que el paso inmediatamente
anterior a la suspension sea un comentario alfabético.

(Sucedera lo mismo cuando un programa finalice con un paso que no sea un comentario alfa-
bético.)

(3) Cuando un programa se detiene mostrando un comentario alfabético en pantalla, una entrada
manual de un valor numérico borrara dicho comentario, y entonces se presentara tal valor.

(4) Cuando un programa se detiene mostrando un comentario alfabético en pantalla, el mismo
desaparecera presionando B8, dejando so6lo el signo '~ indicador de ejecucion.

m Aplicaciones de comentarios alfabéticos (Como programar)
® Presentaciéon de una entrada en términos de comentario alfabético.

Ejemplo 1: | INPUT A | apresentarse (datos a escribirse en M05).

""" INV“AL,l ,NIP,U,T,INV SPACE,A,INVAL", HLT, Min 05 ,
espacio de 1 digito
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Ejemplo 2: a presentarse, yaescrito en M0O1; luego, a presentarse, ya escrito en M02.

------ INV'AL ,INVX, 2 INV 2, INVAL", HLT,Min O1,INVAL ,INVY , 2,
1

“X" minUscula "Y' minuscula

INV?, INVAL®, HLT , Min 02 -

® Presentacion de datos de resultado con una unidad de medida.
(En este caso, emplear eficazmente los mandos @, @ vy (). )

) (A8 : Este mando sirve para llevar a pantalla datos numéricos almacenados en memoria con una unidad

de medida. En este caso, tales datos no estaran disponibles para calculos sino solamente para presenta-
cion.

Ejemplo 3: Presentacion en de datos numéricos (123) del registro M F.

------ INV'AL B, = INVARF,INVK  INVG , INVAL" HIT, -+

Ejemplo 4: Presentacion simultadnea de dos datos numéricos resultantes en términos de relacion, asi:
,(MO1: 123,M02: 456)

------ INVAL, INVAROT,INV : INVARO2, INVAL" HLT, -

* El mando AR puede usarse repetidamente en un comentario alfabético y también presentarse unido
con una letra alfabética antes o después de la misma.

MW@): El mando AR Ilama a todos los digitos de datos numéricos almacenados en memoria trayéndolos
a pantalla con comentarios alfabéticos. En tanto que si se requiere redondear datos segiin un digito
especifico (med:ante@ 0(8), o dejarlos con los mismos digitos, emplear este mando para poner un
dato numérico presentado en la forma de comentario alfabético.

Ejemplo 5: Unificacion de un dato de la memoria M F en un nimero de 3 digitos con 3 decimales a fin

de presentarlo asi:| A=000. DDD]

------ MRF  INVRNDFIX 3, INVAL A, =

n
1 funcién y 2 pasos

INV# INVH INV INVSE NV INVEE IV INVAL HLT oo

7
7 digitos incluyendo 1 para punto decimal.

* E[ espacio de 1 digito debe reservarse para el mando #. Los signos siguientes se cuentan como un
digito: Punto decimal, signo negativo para la mantisa, signo de exponente (E), signo para exponente
(signo menos para negativos y espacio de un digito para positivos), signos para grado, minuto y
segundo (o » »), etc.

Ejemplo 6: Presentacion dedatosde conteo deM 00 como | X O, Y O |.

LBL1,INVISZ ,MR 00, INV'AL , X, INV# INVs Y INV3 INVAL",
T

Salto de programa, ver pagina 113.

INV PAISE | Golo 1,

S N )

Salto de programa
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(Referencia):

La parte subrayada con Iinea ondulante puede cambiarse mediante el uso del mando AR del siguiente
modo:

INV “AL, X, INV AR 00, INV>, Y, INV AR 00, INV AL",

Aun con esto puede obtener como resultado el mismo programa.

* £n caso de un namero entero los mandos AR y # no presentan el punto decimal.

Ejemplo 7: Presentacion del valor de T hasta el 10mo. digito, asf:[n =3.14159265 ﬂ

INV 77, INV'AL | INV 77, ==, IV INV AL HIT,

* Sj un valor presentado tiene mas digitos que el namero de mandos #, se presentaran todos los digitos
independientemente de tal limitacion. (El ajuste méaximo de mandos # es de 15.)
Ademas, si un comentario alfabético, el cual se sustitute por datos numeéricos mediante el mando # o
AR, tiene mas de 12 digitos, éstos se presentaran moviéndose hacia la izquierda, tal como se menciona
en pagina 107.

Nota: Si el valor de un exponente cuya mantisa tiene mas de 7 digitos se sustituye en un comentario

alfabético mediante los mandos # o AR, esto resultard en mas de 12 digitos. En tal caso, algunos
digitos superiores no se presentaran cuando finalice el movimiento hacia la izquierda.

Ejemplo: Si 1,23 x 1073 se cambia por un comentario alfabético, resultaraen:{1.23 E-03
8 digitos

M@ (3): Para leer dos comentarios alfabéticos, insertar este mando por adelantado.

Ejemplo 8: Entrada del afio, mes, y dia (2 digitos por c/u) en M0O1, M02 y M 03 respectivamente, y
presentaciéon como rDD vy OOm OO DJ .

~HLT  Min O1 , INV'AL , INV # INV#, Y INV SACE, INVAL" HLT, Min 02, INV'AL,

|
asignacién de 2 digitos

INV 3, INV#, INV#, M, INVSIE, INV AL", HLT, Min O3, INVAL  INV 5,

'NV#,_@V_”,D,INVAL‘"HLT, .........

Ejemplo 9: Redondeo de datos de resultados de la memoria M05 en el segundo decimal, y posterior
presentacion con el indice de n1-ava (11-ava: M0O), asi: l?[] =00 DDDnﬂ

~“INV'AL /X, AR0O, =, INVAL MR 05, INVRND FIX 2, INV'AL  INV 5,
INV#, INVM | INVAL  HLT oo
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12-9. Santo y seiia

® Para la definiciéon y propoésito del santo y sefia, remitirse a las descripciones de W8 en pagina 94.

® Aunque es posible asignar separadamente un santo y sefia independiente por cada P de esta cal-
culadora, un santo vy sefia requiere de 5 pasos de programacion (6 incluyendo el paso Pp).

® Todos los caracteres alfabéticos aplicables en el modo alfa pueden usarse para santo y sefia, pero
cada uno de éstos debe consistir siempre de cuatro caracteres, los cuéles pueden ser uno y el mismo.

® Almacenamiento de un santo y sefia:

® Si se presionan y Bden el modo “WRT", la calculadora pasara automéaticamente al modo alfa (con
p_resentacién de "ALPHA") y se hallara lista para almacenar un santo y sefia.

® Si se almacenan cuatro caracteres de un santo y sefia bajo las condiciones arriba mencionadas, la
calculadora retornara al modo “WRT"' (desapareciendo ""ALPHA").

(1) En caso de escribir un programa con santo y sefia, proceder como sigue:

OPERACION PRESENTACION

WRT

P0123456 789 128 Asignacion del modo “WRT"
WRT ALPHA

POpass_ _ _ _ 127 Cambio automatico al modo alfa
WRT ALPHA

@ || POpassA___ 127

WRT ALPHA

Ejemplo de santo y
sefia: ABCD (el

De aqui en mas, (u)
escritura normal de
rograma [GD)]

prog 7

POpassABC_ 127

POpa SWRSTABCD 122

Una vez entrado un santo y sefia
de 4 digitos se liberara el modo
alfa, y los pasos remanentes se

WRT

HL T 001

reduciran en 6.

WRT
HLT MinF 002

(2) En caso de escribir un santo y sefia en un programa ya almacenado:

OPERACION PRESENTACION
' WRT
(2] P0123456 7 _ _ 075 P8yP9 yaestan escritos
Santo v sef WRT ALPHA -, .
escribiu\'/seeena ;9 IR P9pass_ _ _ _ 075 Condicién de escritura del santo

Ejemplo de santo @E
y sefia: a123
w(2)

y sefia

ALPHA

Pogpassail__ 075

P9passa123 070

Fin de la escritura del santo y sefia

P01234567 _x 070

| Esto indica que hay un santo y
| sefia escrito en P9.
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(3) Correccion y liberacion durante la escritura de santo y sefia
® En caso de haber entrado ya 3 digitos de un santo y sefa, la correcciéon o liberaciéon es todavia
posible procediendo como sigue:
(1) Presionar @ . Se borraran todos los caracteres entrados.
(2) Presionar B, Se liberara el santo y sefia entrado y la calculadora retornara al modo “WRT".
(3) Presionar @ @ o @), se liberara el santo y sefia entrado y la calculadora
retornara al modo activado.
e Una vez escrito un santo y sefia de 4 digitos no es posible hacer correcciones o liberaciones.

= {Cuéndo puede ser llamado el santo y sefia?
® En los casos siguientes la calculadora presentara aproximadamente (P 1 pass---- ?ALPHA|

llamara al santo vy sefia. (Esto se denomina “‘condicion de entrada del santo y sefa.”’)
(1) Cuando se asigna un programa con santo y sefia en el modo “WRT" (Cuando se procede con
verificacion, adicién, anulacion y correccion de un programa.)
(2) Cuando se presionan para depurar un programa con santo y sefia en el modo "RUN".
(3) Cuando se requiere anular o borrar en un programa con santo y sefia en el modo ““PCL"".
(4) Cuando la ejecucion de una operacion programada estd conectada a una cinta magnetofonica a
través del FA-1 y solo el programa con santo y sefia intenta guardarse en dicha cinta.
® En estos casos, si se entra el santo y sefia correcto, se liberard la "condicién de entrada del santo y
sefia”’ permitiendo el avance de cada paso. Pero si se entra un santo y sefia erroneo, la calculadora
retornara a la condicién mencionada nuevamente, llamando por el santo y sefa.
* En caso de no encontrarse santo y sefia en la condicion correspondiente:
(1) Presionar B8 . La calculadora retornara a la condicion previa al cambio de modo.
(2) Presionar (B8 (@ (6 f0g & 6 0 &) ).
A su vez, si la calculadora pasa a la ‘“condicion de entrada de santo y sefia’’ en el modo “RUN",
presionando B8 se puede avanzar el programa, pero no se puede hacer verificacion del mismo mediante
@) durante su detencion. (Tampoco puede hacerse verificacion con un santo y sefia durante la ejecu-
cion.)

m Como borrar un santo y sefia.

@ En caso de borrar sélo el santo y sefia de un programa:
(1) Poner la calculadora en el modo “PCL" ( #8 (3) ).
(2) Presionar el correspondiente al santo y sefia que desea borrarse.
(3) Entrar el santo y sefia.
(4) Presionar@ .
(5) Presionar @ (Modo “RUN") 6 @ (Modo “WRT")

e En caso de borrar un programa con santo y sefia:
(1) Poner la calculadora en el modo ""PCL"" ( @).
(2) Presionar el No. de programa (@) con santo y sefia que desea borrarse.
(3) Entrar el santo y sefa.
(4) Presionar B3.
(5) Presionar @ (Modo “RUN") 6 @ (Modo “WRT").

(Referencia):

Si se presionan W @ en el modo “PCL", se borrardn todos los programas (dePdaPd), incluyendo un

programa con santo y sefia.

* Ningln nimero de programa puede cambiarse por un programa con santo y sefa. Primero, borrar
s6lo el santo y sefia (remitirse al procedimiento anterior correspondiente), luego, cambiar el nGmero
de programa (ver pagina 103), y finalmente, asignar un nuevo santo y sefia apropiado al programa.
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e Se re‘comlendal dibu‘j’ar un d,iagrama de operaciones que represente una secuencia de procedimientos
propios de la ejecucion de céalculos de interés.

Dicho diagrama se dibujara usualmente con simbolos del siguiente modo:

'''''''' Comienzo de un programa
--------- Entrada de datos
No
Prueba >— ...... Prueba de una condicién
. (ej: x=0,x=0,x=F,x=2F)
Si
Calculos | =+vc--e-- Ejecucion de operaciones aritméticas
Subrutina

""""" Salto incondicional GOTO N

""""" Destino de un salto LBL N

|
l
Presentacion ) --------- Presentacion de resultados

"""""" Fin de un programa
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Ei Sanaspopme.. . 0 a0

Hay cuatro tipos de mandos de saltos:

(1) -Salto incondicional a una destinaci6n designada: GOTO, LBL

(2) Salto condicional que lee y salta el mando siguiente, dependiendo de los contenidos del registro X
(pantalla): x=0, X=0, x=F, x=F

(3) Salto condicional (salto de conteo) que lee y salta el mando siguiente, dependiendo de los con-
tenidos del registro Mp (memorias independientes): DSz, ISZ

(4) Salto incondicional de subrutina a la destinacion designada y retorno: GSB

Estos mandos pueden usarse independientemente o en combinacion.

m Uso del salto incondicional

e GOTO N produce un salto incondicional del programa a LBL N.

o N es un digito entre O y 9.

e GOTO N y LBL N pueden usarse en cualquier parte en un programa, y es posible utilizar 10 pares de
saltos, dependiendo de los valores de N.

e Mas de un GOTO N con el mismo nimero puede usarse en un programa, mientras que LBL N con el
mismo nimero esta limitado a un solo uso en un programa.

e En caso de no haber LBL N destinado a GOTO N, la ejecucién del programa resultara en error.

e Si se presionan ® (@ a@), se produce un salto manual. Si no se destina LBL N en este caso, no
habrd mando.

Programa

GoTo4 —

Salto

m Uso del salto condicional

e Para el salto condicional, si una comparacién entre el registro X (valor presentado) y "‘nimero 0" o
“valor del registro M F** resulta en ‘'Yes” (Si), el mando siguiente puede leerse, mientras que si resulta
en ""No”’, el mando siguiente (si fuera el caso de todos los comentarios alfabéticos) puede omitirse.

e Hay cuatro mandos de este tipo:

X=0: Sehace una prueba si el contenido del registro X es cero.

X20: Se hace una prueba si el contenido del registro X es cero o positivo.

X=F : Sehace una prueba si los contenidos de los registros X y M F son iguales.

X=F : Se hace una prueba si el contenido del registro X es igual o mayor que el del registro M F.

® Programacion basica

Ejemplo 1: Si los datos de M04 dan cero, saltar a LBL 1:

...... MRO4 I|vi-OIG°T° 1 ,""""'LBL1 e
* LBL 1 puede darse antes que GOTO 1.
/_\_/
MRO4
— =0 — MO04
NO Glo1 IS
LBL1 LBL1

Ejemplo 2: Si los datos de M 04 no dan cero, saltar a LBL 1:

------ MR 04, INV 2=0 ,GoTo 9 , GoTo 1 , LBLQ ,-+++++--LBL T ,-oevev

MR 04

* LBL 1 puede darse antes que GOTO 1.
=0 — ,
NO GoTo9 <—:]S'

GoTo 1 M04=0"?

NO

Si

LBL 1 LBL1

L
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Ejemplo 3: Si los datos de M Q5 dan cero o positivo, ejecutar el programa A, mientras que si dan negda-
tivo, ejecutar el programa B.

x20 1

NO GoTo 9 <—:' Si Si
: LBL9

NO Programa A

: >
GoTo 8
LBL9 Programa B
[A]
: LBL8
LBL8
/:\/

Ejemplo 4: Si los datos de M05 dan positivo, presentar el comentario alfabético, mientras que si dan
cero o negativo, omitir.

comentario

------ MRO5, INV -0 ,Golo 9, INV 220 , INV ‘AL, oirovdtico . o INV ALY, LBLO -

* Para un comentario alfabético,

/\/\ todos los mandos (INV “AL-
. INV AL") son considerados
: como uno.

MRO5
NO
x=0 -—js, M05>07?
NO| —— Golo9 <« !

120 ) _ Si

NO ““Alpha.”
LBL9 Comentario
. alfabético

/\/ LBL 9l
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Ejemplo 5: Para recuperar el valor mayor registrado entre MO1 y M 03.

...... MR O1 ,MinF , MR 02 ,INV z2f ,MinF ,MR O3 , INV 12f ,MinF ,MRF HLT,--

/\_/ ’
MR 01 MO1—>MF
MinF
o o
>
MR 03
w2F — MO02—>MF
“ si
NO MinF <« PR
MRF NO
HLT
: Si '
MO03—>MF
\/\:/

A

D

(Referencia)
En caso de recuperar el valor menor registrado entre M01 y M03.

------ MR 01, % ,MinF,MR 02, % ,INV 12f ,MinF ,MR 03 , *£ ,INV 12f MinF ,
MRF’% ,HLT, .........
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Ejemplos de programacion empleando saltos condicionales e incondicionales

Ejemplo: Para obtener en diferentes formas raices cuadradas reales o
cuadraticas.

imaginarias de ecuaciones

Coeficientes
No. Ecuacion Raices

a b c
(1) 8x?+ 6Xx+ 1=0 8 6 1 (—0.25, —0.5)
(2) 2X%*+26x+89=0 2 | 26|89 (—6.5+ 1.51)
(3) 2x? -28x+98=0 2 (=28]98 | ( 7 )

® Solucién: Las raicesde ax? + bx + ¢ =0son X = >
a

® Programacion (g &) )

PO HLT,Min 01, HLT, Min02, HLT, Min03, Entrada de ab¢

"

") de las raices

M donde, D = b? — 4 ac

Entrada de abc

Numero real de
raiz imaginaria

2, X ,MRO1, = ,Min05, Célculo de 2a
MRO2,INV 22, — , 4, X, l
i Célculo (b* — 4ac) , 8~ MOs
MRO1, X ,MRO3, = ,Min04, j ~ 4ac = MOa
INV 120, GoTo 1, Para LBL cuando D 2 0
LBL2,MRO2, ¥, = ,MRO5, = ,INVPAISE, | Repeticion de las MO420?
presentaciones de
MRO4, ¥~ ,INNv—, - MRO5, = los nimeros reales
. o imaginarios (con —— > LBL2
INVAL,INV # | INV SPACE, INVI, INVAL, ‘ presentacion  de

INV PAUSE , GoTo 2,
LBL1,MRO2, %, + ,MRO4,INVv", =,
=+ ,MRO5, =, HLT,

|magmar|as.

|
l Raiz real 1

MRO2, %, — ,MRO4,INVv~, =, |
+ ,MRO5, = HLT }‘Ral’z real 2
64 pasos
e Ejecucion ( @)
(1) 2) a
= 2 0 2 @@
6 &g 269 28568
| x— —0.25 89(xg——-6.5y 1.5se 98(exg— 7
[xg§— —0.5 presentan alter- B 7

nadamente a in-
tervalos aproxi-
mados de un segundo

-121-

Presentacion del
namero real

Numero imaginario
o raiz imaginaria

Presentacion del
QUMero imaginario,
LBL1

Calculo de raiz real

Presentacion de
raiz real

Calculo de raiz real

Presentacion de
raiz real

= Salto condicional (salto de cuenta)

e Hay ISZ de conteo positivo y DSZ de conteo negativo en los mandos de este tipo, y ambos emplean

el registro MOO (l\/lemorla No. 00).
al contenido del registro M0O, mientras que DSZ resta

® ISZ suma

Y1

‘—1"" del contenido del

registro M0O. Si el contenido de dicho registro no es cero se ejecuta el mando siguiente; de lo
contrario (si fuera el caso de todos los comentarios alfabéticos), se omite.
e Estos mandos son muy Utiles si se emplea repetidamente el mismo programa (esto se denomina cir-

cuito).

Ejemplos:

6 veces

MO00=0

6 veces

MO0O=0

(Referencia)

With DSZ:

| -
| =

Ejecucioén en circuito 7 veces.

| _El programa en esta

area se ejecuta 7 veces

MO00=0
L‘\_’/
With ISZ: «----eee- 7,% ,Min00 ,LBL 1, ----
7~
Min00
LBL 1
]___EI programa en esta
J area se ejecuta 7 veces__—é
1S
GoTo 1 M00=0

I
7 — MO0
LBL1

7 veces

6 veces

- 7—>MO00

€<

7 veces

6 veces

Cuando se usa ISZ para programas que requieren pasos de conteo, emplear la memoria MOO. Si procede
1 M+00, "1 permanece snempre en pantalla (registro X). Sin embargo, la presentacion permanece sin
cambiar con el uso de ISZ, y ""1"
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u Uso de subrutina (GSB)

Un programa puede consistir de una rutina principal y subrutinas. La primera comprende la estructura
central de la programacién. La subrutina es parte autoconjugada de la rutina principal y puede incor-
porarse tantas veces como sea necesario y en cualquier parte de la misma, e incluso en diferentes
rutinas. En otras palabras, una subrutina realiza cierta parte autoconjugada de trabajo que puede
requerirse muchas veces en la rutina principal. El empleo de subrutinas facilita la programacion y re-
duce el nUmero de pasos.

Rutina principal Subrutina

P_O /—> P3
GSBP3 —

GBP2 ——1 P2
RS :

: ip1 | GSBP5 —
GSBP4 — GSB P1 g
P4 — :

UL N S s N

ler. nivel 2do. nivel 3er. nivel 4to. nivel

— P4 —  P1 /—> P5

e Una vez que GSB y Py se incorporan en un programa, saltan hacia otros Pn de programas siempre
que sean requeridos, desde sus ubicaciones asignadas. Después de completar la ejecucion del pro-
grama destinado, retornan a los pasos del programa original que son los siguientes a la partida.

® Py, puede ser cualquiera entre P1y P4 6 INV P5 e INV PO,

® GSB Py puede ubicarse en cualquier parte en un programa.

Nota: En caso de ubicar GSB Py entre un par de paréntesis, si el de cierre no coincide con el de
abertura o si se asigna el signo igual a una subrutina, la rutina principal se cierra con un
paréntesis.

® La ejecucion resultara errénea si el Pp de programa referido por GSB Py es indefinido.

e GOTO N y LBL N empleados en una subrutina son efectivos s6lo en esa subrutina.
(La destinacion del salto GOTO en una rutina principal no puede ubicarse en una subrutina.)

e E| llamado de otra subrutina de una subrutina sera posible hasta 9 niveles, pero sobre ello, el mando
GSB sera desatendido.
(La profundidad de subrutina (= nivel) es posible hasta el 9no. nivel.)
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Programas que incluyen subrutinas
Ejemplo: Poner la parte com(n de los programas del octaedro regular y tetraedro regular (ejemplifi-
cados en las paginas 96y 99) en las subrutinas.

Octacdro regular: PO HLT ,Min F ,2, X ,GSB INVP9 , 3, GSB INV P8 , HIT, 8 pasos
Tetraedro regular: P1 HLT ,Min F ,GSB INVP9 , 1, 2,GSB INV P8 , HLT 7 pasos
Subrutina: INVP9 3,INVv~, X ,MR F ,INVx2, =, HIT,2,INV v~, <, 10 pasos
Subrutina: INVP8 X ,MR F |INVZ' 3, =, 5 pasos
PO P1
HLT — P9 T HLT
Min F 3 \ Min F
2 v L 6sB P9
x X 12
L GsB P8
> HLT

P8

NS

N

! |
| [N
T

El nimero total de pasos de los dos programas es 43 (21 + 20 + 2 (PO, P1) = 43), y se reduce a 34
pasos (8+7+10+5+4(P0O,P1,INV P9, INV P8) = 34) mediante el empleo de subrutinas. La opera-
cibn permanece sin cambios tal como se describe en las paginas 98 y 101,
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12-12. Uso de la direccidn indirecta ...

IND es el mando de direcciéon indirecta para designar un registro o la destinacion de un salto. El
empleo prudente de esta funcidon de mando indirecto contribuye enormemente a una programacion
eficaz.

m Direccion indirecta del registro My

e Usar IND junto con los mandos de registro (X <M, Min, MR, M—, M+) para asignar el registro Mpn
indirectamente.
e INV IND, M+n (n: 2 digitos) procederan a la direccion de un registro indicado por el contenido del

registro My para ejecutar M+. (El mismo efecto se puede producir incluso en la operacion paso a
paso.)

@ Si se asigna otro mando de memoria en lugar del anterior M+, cada uno de ellos puede ejecutarse.

Ejemplo:
INV IND X < M 08 ejecuta X < M05 cuando 5 se ubica en M08.

® "' 1’ puede ser cualquiera entre 00 y 79 (méaximo) y F entre 1F y 7F (méximo).

® Si el registro My contiene un nimero fuera del margen entre 00 y 79, se pueden registrar 2 digitos
superiores sobre el punto decimal sin signo menos. Si embargo, si tales nimeros a registrarse exceden
la capacidad de la memoria, la ejecucion de los mandos de direccion indirecta resultaran en “'M Error”.

Ejemplo 1: Si — 156 se ubica en M08, INV IND MR 08 ejecutarda MR 15.

Ejemplo 2: Si — 2.56 se ubicaen M08, INV IND MR 08 ejecutard MR 02.

® Subrutina indirecta

e INV IND GSB 0 llamara un programa idéntico con el contenido de la memoria No. 00 (Registro
MO0O0) como subrutina.
Ejemplo: Si 3 esta ubicado en M 0O, INV IND GSB 0 ejecutara GSB P3.

® Si se ubica en M0O un nimero que esta fuera del margen entre 0 y 9, " 1"’ de Py puede determinarse
con el nimero del digito superior sobre el punto decimal sin signo menos.
e INV IND GSB 0 no se considerara si no se encuentra programa Py pertinente.

PO (Si 3 esta ubicado en M00)
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m Salto indirecto

e INV IND GOTO 7 es el mando de salto 4 un LBL 7 idéntico al contenido del No. de memoria Oy
(Registro M Op).

® "N’ escualquiera entre 0 y 9 (nGmero de 1 digito).

Ejemplo: Si 5 estd ubicado en M03, INV IND GOTO 3 ejecutara GOTO 5 para saltar a LBL 5.

/_\__/\
IND
GoTo 3

LB.L3 (Si 5 estad ubicado en M 03,
: se ejecutara GOTO 5.)

LBL4

LBL5
/X/

e Si se ubica en My un nimero que esta fuera del margen entre O y 9, “n’ de LBL n se puede
determinar con el nGmero del digito superior sobre el punto decimal sin signo menos.

Ejemplo: Si 0 1 estd ubicado en M05, INV IND GOTO 5 asignard 0" a ""n' y saltard a LBL O.

o INV IND GOTO 7 no se considerara si no se define el LBL 1 pertinente.

= Salto de cuenta indirecto

e INV IND INV ISZ o INV IND INV DSZ activara ISZ o DSZ para operar en el registro de memoria
designado con el contenido de la memoria No. 00 (Registro M0O). De acuerdo al contenido resultan-
te, se juzgarad sobre la ejecucién o salto del mando siguiente (todos los comentarios alfabéticos si
fuera el caso).
Ejemplo 1: Si5estdubicadoen MO0 y 100 en M05, INV IND INV DSZ disminuira 100 a 99 en M05.

Ejemplo 2: Si 3 est4 ubicado en MO0 y —1 en M 03, INV IND INV ISZ aumentara —1 a "0’ en M03,
saltando el mando siguiente.

® Para el registro My a asignarse cuando se ubica en M0OO un nimero que excede el margen entre O y
79, ver ""Direccion indirecta del registro Mp."”
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Ejemplo 2: Entrada de los codigos de clasificacion (1 a 9) y datos, y resumen de datos por codigo:
(IND, DS2)

Ejemplo 1:

Obtener la suma y diferencia entre los nimeros mayor y menor de los diferentes datos e Programa e Diagrama de operacion
entrados: (x> F)

® Programa

e Diagrama de operacion )
LBL1,AC,HLT, —, 1, O, =,Min00, AC, HLT,
PO 9,EXP, 9, 9,Min02, *, Min 01,

“ INV IND, M+00, Goo1 , 14 pasos
LBL1,MR O1,Min F , AC, HLT,

Borrado de toda
P1 9,Min00, la memoria
INV 22F, Min O1,Min F, Inicio LBL1, 1, O, —,MROO, =, INVAL, INV #
MR 02, INV z2f, MR F,Min 02,GoTo 1, 20 pasos 9% 10%>M02 INV : ,INVAL”, INVIND, MROO, "’—(;d.
6digo
P1 MRO1, + MRO2, =,INVAL, S, -, -9X10%->MO1 INVAL, INV ; ,INV # , INVAL HLT, I
INV ; , INVSPACE, INV #  INV AL, HLT, 21 pasos
’ INVDSZ, Golo 1, Cédigo 10 — M0O
MR 01, — ,MR 02, =,INV‘AL, D, -,

INV ; , INVSMCE, INV #, INVAL", HIT, 24 pasos MO1—MF S

l

Datos
I B e Operacion
® Operacion Datos = X l

Datos [exg)
Datos @

Datos - M + n

Codigo (X9

Datos @

) Repetir esto
Repetir esto. °

i ]
x— MF
P1)—— Suma (|

mo2—»z« | | B Suma de los datos del cédigo 1

9—- MO0
[ex) —— Diferencia

(Exg--eeeeeee Suma de los datos del codigo 2
(exg--eeeneee Suma de los datos del codigo 9 Resultado
|
\
x —-MO02
* Se ha omitido el diagrama de
operacién del programa P1.
. 127 . . 128 .




Ejemplo 3: Entrada de datos en nueve registros M (1 a 9) secuencialmente y presentacion de los

mismos.

® Programa
PO 9, Min00,
LBL1, AC, HLT, INV IND, MinOO,
INV DSZ, GoTo 1,
9, Min 00,
LBL 2, INV IND, MROO, INV PAUSE,

INV DSZ, GoTo 2, 17 pasos
e Operacion
Datos 1 (exg
Datos 2 (exg)
Datos O [exg------ Los datos se presentaran

secuencialmente a intervalos

de un segundo.
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e Diagrama de operacion

9 - MO00
Iy
Datos
8 veces 1
Datos —~ Mp
MQ0=0
M00=0
9 - MO00

Ejemplo 4: Conversion decimal-hexadecimal

e Programa

INVPS Min06, (, 1, 6, Min09, 2, INV 10*, Min08, GSB INVP8, ), 10 pasos
P4 Min06, ((, 2, INV10", Min09, 1, 6, Min0O8, GSB INVP8, ), 10 pasos
INVP8 O, Min00,
LBL1, INV ISZ, ((, (( ,MRO6, =, MR(Q9, 2, Min06, INV FRAC, X, MRO9,
), IANV IND, Min00, MR 06, INV INT, Min06, INVZ=0, GoTo2, Golo1,
LBL2, INV IND, M+00, (€, INVIND, MROO, X, MRO8, 1, INV DSZ, GoTo2,
+,MROS8, 2, 38 pasos
* Los margenes de entrada y salida de datos seran como sigue:

—655359 < Numero decimal £ 1048575
—9FFFF < NUmero hexadecimal £ FFFFF

La tecla P4 puede usarse como la tecla de conversion decimal-hexadecimal para operaciones aritméticas

como las otras teclas de funciones.

e Operacion

El decimal 1234 es hexadecimal 4D2.
1234 mPg— 4 13:02

El decimal —600000 es hexadecimal —927CO0.
600000 mP3— -9.02 07 12:00

El hexadecimal A2B3 es decimal 41651.
1002 11.03F3— 41651

El hexadecimal 3FC 5 + 77ED es hexadecimal B7B2. _
3151205P9€87 07 14 13PIBAM™PI — 11:07 11: 02

Decimal Hexadecimal Decimal Hexadecimal
0 00 8 08
1 01 9 09
2 02 10 A
3 03 11 B
4 04 12 C
5 05 13 D
6 06 14 E
7 07 15 F
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e Diagrama de operacion

Decimal a
hexadecimal

Inicio
16— M09
100—MO08

|

Subrutina P8

Hexadecimal

@

Hexadecimal a
decimal

Inicio
100—MO09
16—M08

|

Subrutina P8

Decimal

[

Subrutina

Cm D

MO00O: Contador

Calculo de resto
Resto > Mp

Ajuste para la
posicion de la
cifra

{Completo?

Correccion de
ajuste para
posicion de cifra

Fin

Conversion del decimal 1500 a
hexadecimal 5DC

1—-MO00 1500 + 16 = 93 Resto 12— M 01

2—-MO00 93+ 16= 5 Resto 13— MO02
3-M00 5+16- 0Resto 5—MO03
1
A LBL 2
5x 100 2—-MO00
(5x 100+ 13) x 100 1—-MO00

[(5x 100+ 13) x 100+ 12] x 100 0~- MO0
1
Fin de la repeticion

[(5x 100+ 13) x 100+ 12] x 100
100
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Operacion Operacion funcional
aritmética

sin cos tan sin' cos' tan
i- _) ; - sinh cosh tanh sinh' cosh' tanh'
- ’ log In 10° e* v~ Y& x* x!

RP PR

—

Potencia: Raiz

Los resultados son Entero
de numeros deci-
males que tienen
maés de diez digitos

efectivos.

(Entero)

Parte de 12 digitos de la mantisa interna operada:
Si los nmeros 11ro. y 12do, caen entre 92 y
99, redondearlos.

Ejemplo: 1.23456789092 — 1.23456789100
Si caen entre 01 y 07, recortarlos.

Ejemplo: 1.23456789106 — 1.23456789100
Si caen entre 08 y 91, dejarlos tal cual.

Operacién esta-
distica: Operacidn
de memoria con 10
digitos

Resumiendo
en el primer
lugar decimal

\

Presentacion

Redondeo en el 11er.
digito (Dejando el interior
como es.)
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Presentacion de 10 digitos
(En el interior hay también
10 digitos)




A los compradores del adaptador FA-1
para magnetofono:

Este manual de instrucciones del adaptador FA-1 describe la operacion del mismo con los modelos
CASIO FX-501P/502P, tal operacion es basicamente la misma para con los mode\o; FX-601P/602P.
Sin embargo, cuando se emplee el FA-1 con estas calculadoras, tener en cuenta las siguientes dlferer)-
cias. Los modelos FX-601P/602P han sido mejorados para facilitar su funcionamiento y hacer mas

reconocibles los mensajes.

Coleccion, carga y verificacion

(D Los programas e informaciéon pueden ser coleccionados al mismo tiempo, y cargados
simultaneamente.

La FX-501P/502P no puede coleccionar ni cargar programas e informacion al mismo tiempo, perec la
FX-601P/602P si puede hacerlo.

® Como coleccionar programas e informacion al mismo tiempo en una cinta magnetica:

1. Presionar (Moog , , Y en esta secuencia, y entrar un mjmero o nombrg de alrlchwgy(descnpto
posteriormente). Observar que cuando se presiona de,spues de , se enciende "PCL".

Poner en marcha el magnetdfono en el modo de grabacion.

Presionar W y luego B .

El proceso de coleccidén se completa en unos 36 segundos.

Bwn

®m Como cargar programas e informacién simultineamente desde una cinta magnética a la
calculadora: A
1. Presjonar .3, y [0 en esta secuencia, y entrar el nimero o nombre de archn//o dado en el
momento del pasaje a la cinta. Observar que cuando se presiona , se enciende “"PCL"".
2. Poner en marcha el magnetdéfono en el modo de reproduccion.
3. Presionar W y luego .
4. El proceso de carga se completa en unos 31 segundos. .
* Cuando se procede a cargar programas e informacién simultaneamente, no es rjecesario presionar
(borrado total de programa). En cuanto a la FX-602P, no es requerido asignar et nimero de
registros (memorias) al cargar porque procede automaticamente.

i y i i je desde la FX-602P,
NOTA: Cuando se asigna el numero de registros (memorias) d_urante el pasaje
evitar aquéllos nimeros cuyo primer digito sea 4 (por ej., mog () @ .. B,
).

Estos nUmeros provocardn un error de memoria (presentacion de "M Error’’) durante la
carga. Si esto sucede, cambiar el nimero 4 por otro.

2 La identificacion de archivo puede ser una secuencia de seis caracteres alfanumeéricos o
menos, o un nimero de tres digitos.

La FX-B01P/502P emplea un nUumero de tres digitos para ideppiflcar un programa archivado.”!_a
FX-601P/602P acepta una secuencia de seis caracteres alfanuméricos o menos, como asi también,
numeros de tres digitos.

(Ejemplo) Para coleccionar un programa con el nombre de archivo "ABC-3"":

) (3) ) 500) [ ey 2 50 2 R (B ) iy

Poner en marcha el
magnetofono en el (EXE)
modo de grabacion.

Secuencia de caracteres alfanuméricos
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® Los mensajes para indicar coleccion, carga y la culminacion de ambos resultan ahora de
mas facil reconocimiento

La FX-501P/502P presenta el nimero de archivo sélo en el proc

coleccion; la culminacién de ambos procesos esta indicada por “'0."".

La FX-601P/602P presenta el nombre (nGmero) de archivo durante ambos procesos. La culminaciéon

de coleccion o carga es indicada por la re-presentacién de la lectura previa.

eso de carga y no en el proceso de

® Durante la coleccion (o carga) de programas, la lectura es:

PF\_,ABCDEF (Nombre de archivo: ABCDEF)
espacio

® Durante la coleccidn {o carga) de informacion, la lectura es:

DF\_, - 123. (Nimero de archivo: 123)

® Durante la coleccidn (o carga) de programas e informacién, la lectura es:
AF\_'\_, ABC—-4 (Nombre de archivo: ABC-4)

® Después de la operacion de coleccion (o carga), la lectura que se presentd antes de presionar
(o waY ) se presentard una vez mas; es decir, la lectura posterior a la presiéon de (o

@ El mensaje ‘“OP Error” aparece cuando la coleccion o carga no trabaja correctamente
Mientras que la FX-501P/502P indica un mal funcionamiento del proceso de coleccion o carga presen-
tando la letra ""E.” la FX-601P/602P lo hace presentando ‘OP Error (error de encuentro de opcidn)’’.

NOTA: Si el programa que se estd cargando desde una cinta excede el tamafio del rea de pro-

gramacion (el nimero de pasos asignados) en la FX-602P, la calculadora presenta ""‘OP
Error” v borra la parte del programa cargada hasta el momento. Si la informacién que se
esta cargando excede el nimero de registros (memorias) asignados, la calculadora presenta
""OP Error”, pero no borra los datos cargados hasta el momento.

' Funcién musical

(D Los valores asignados a los codigos de compas han sido cambiados

En el caso de la FX-601P/602P, emplear el cuadro si

| guiente para entrar en el registro F un cédigo de
compas apropiado.

Cédigo de compas
(registro F) 0 1 2 3 4 5 6 7 8 9
Compds ( J %) 40 80 120 | 160 | 200 | 240 | 280 | 320 | 360 | 400

@ Las notas con puntillos (ej., ) .) se programan como dos notas ligadas empleando la
tecla B .

La FX-501P/602P utiliza puntos (tecla (1) ) para programar notas con puntillos; en tanto que la
FX-601P/602P no procede con dicha tecla. Para ligar notas con este modelo y programarlas, emplear la
tecla @ .

(Ejemplo) ﬁ (= j) ﬁ ) se programa asi : b G (<)
S—

| Aviso: |

La seccion musical de la programoteca puede no incluir el cambio sefialado. En tal caso, utilizar la
informacién anteriormente dada.
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E Compatibilidad entre la FX-501P/502P y la FX-601P/602P

Los programas elaborados con la FX-501P/502P pueden cargarse en la FX-601P/602P, en tanto que el
tamafio del programa sea igual 0 menor que el drea de programa de la memoria. Sin embargo, tener
cuidado de la diferencia de direccion de memoria; la FX-602P tiene un sistema de direccion de dos
digitos.

El cuadro siguiente indica cual de las calculadoras puede cargar programas coleccionados por la otra.

501P O 501P Q 601P O 601P

502P 502pP 602P 602P

Los simbolos empleados en el cuadro indican lo siguiente:

(, Se puede cargar sin cuidado especial.

(A Se pueden cargar programas de 128 pasos 0 menos, e informacion para 11 registros (memorias) o

menos.

El area de programa de la FX-602P debe ser de 128 pasos o mayor.

Se pueden cargar programas de 128 pasos o menos, e informacion para 11 registros (memorias); si

los datos exceden ese punto, aparece el mensaje "OP Error’.

Asegurar de MOO a M67 para los registros, y 128 pasos para programacion. (La instruccion es

BIGIEN]

Se pueden cargar programas de 128 pasos o menos, e informacion para 11 registros (memorias); si

los datos exceden ese punto, aparece el mensaje “OP Error’’.

También puede cargar programas e informacién al mismo tiempo, si ambos han sido coleccionados

con la instruccion O ® . Sin embargo, el proceso de carga culmina con el mensaje "OP

Error”.

F Asignar 256 pasos de programacion y 20 registros (memorias) o mas para informacién.

G Si se estan cargando programas e informacion separadamente, ajustar el nUmero de registros y el
numero de pasos del programa a los valores con los que han de ser cargados los programas vy la
informacion.

m o oOw

NOTA: No se permite otra ‘‘trayectoria’’ que la especificada en el cuadro. Por ejemplo, la informa-
cién (o programa) transferido a través de la trayectoria de FX-502P Ginta® FX-602PCinta
FX-502P, no puede efectuarse porque la segunda flecha no estd permitida.
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Especificaciones

m Caracteristicas basicas

Operaciones basicas: Operaciones aritméticas (suma, resta, multiplicacion y divisiébn con capacidad de
juicio de prioridad de operacion), nimeros negativos, exponentes, 33 paréntesis en 11 niveles y
constantes.

Funciones incluidas: Funciones trigonométricas y trigonométricas inversas (con angulos en grados,
radianes o gradientes), hiperbolicas e hiperbdlicas inversas, logaritmicas y exponenciales, inversa,
factorial, raiz cuadrada, cuadrados, elevacion a potencias de altos drdenes, extraccion de raices de
altos oOrdenes, conversion decimal < sexagesimal, transformacion de coordenadas (rectangular a
polar y viceversa), valor absoluto, eliminacion de entero, eliminacion de fraccion, porcentajes,
numero aleatorio, pi (7).

Funciones estadisticas: Desviacion standard (2 tipos), media, suma, suma de cuadrado, nimero de
datos.

Memoria: Memoria independiente de 5 teclas, 22 a 88 (maximo) registros (involatil).

Margen de niamero: =1 x 107°? a £9.999999999 x 10°° y 0, operaciones internas usan una mantisa de
12 digitos.

Punto decimal: Totalmente flotante con subvalor (presentacion posible de decimales flotantes para
ingenieria).

m Caracteristicas de programacion

Namero de pasos: 32 a 512 (maximo) pasos (involatil).

Salto: Salto incondicional (GOTO) hasta 10 pares, salto condicional (x =0, X=20, x=F, x=2F),
salto de cuenta (I1SZ, DSZ), subrutina (GSB), hasta 9 subrutinas, hasta 9 profundidades (niveles).

Namero de programas almacenables: Hasta 10 (PO a P9) '

Funciones de verificacion y correccion: Verificacion, depuracion, anulacion, adicion, etc.

Direccion indirecta: Para el registro M, destinacion de salto, llamada de subrutina.

Funciones varias: Salto manual (GOTO), suspension momentanea de la ejecucion (PAUSE), codigo de
mando y numero de paso presentados durante la verificacion, adaptador FA-1 (opcion) para
entrada y salida con grabador magnetofonico.

e Capacidad: Margen de entrada Exactitud de salida

Entrada/céalculos basicos: Mantisa de 10 digitos, o mantisa de 10 digitos mas 2 digitos de exponente
hasta 10*°°.

Calculos cientificos:

senX, cosX, tanx x| < 1440° (8 7 rad, 1600 gra) +1 en el 10mo. digito
sen”'Xx, cos™'Xx Ix1£1 — =
tan”'X — =
logXx, Inx x>0 — =
10%¥ X <100 —
eX x £230 — =
senhX, cosh X Ix1 <230 -
tanh X — =
senh™'Xx Ix1£10% —
cosh™'x 1<x£10% I
tanh™'Xx 1x1 <1 o
Vx x>0 I
xY X< 0—y:entero - =
xVy X< 0—Yy: nGdmero impar — =
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x? | x] < 10%° .

1/x X#0 — o —
x! 0 < x £ 69 (X: nitmero natural) —
R—P JXT+y?T <10t e
P—R 161 < 1440° (8 7 rad, 1600 gra) —
Decimal a sexagesimal Dentro de £277777 — _

® Presentacion: Mantisa de 10 digitos (incluyendo un signo menos, exponente de 2 digitos, cristal
liquido, posible representacion sexagesimal, modos INV, hyp, K, HLT, RUN, WRT, PCL, DEG,
RAD y GRA.

Presentacion de caracteres: Maximo de 11 digitos de mandos programados, comentarios, etc.
Caracteres aplicables: Alfabeto, mayUsculas o minusculas, numerales, signos, caracteres especiales;
86 en total.

® Funcion de verificacion de error: Rebosamiento (10'°° 6 maés) vy error irreparable para ejecucion
detectada (presentacion de “"Error’’).

® Consumo: 0,0018 W (S6lo la calculadora)
0,0024 W (Con adaptador FA-1)

® Alimentacion: 2 pilas de litio (CR-2032).

La calculadora funciona aproximadamente 660 horas (500 horas con el adaptador FA-1) continuas
con tipo CR-2032.

® Autodesconexion: Corte automatico de laalimentacién 6 minutos después de finalizada la operacion.
® Margen de temperatura ambiente: 0°C — 40°C
e Dimensiones: 9,6 mm Al x 71 mm An x 141,2 mm F

® Peso: 100 g incluyendo las pilas.
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